THREE PHASE & SINGLE PHASE

INDUSTRIAL
MOTORS










Table of Contents 4
Production Site 6
TECHNICAL DOCUMENTATION

Certifications and Declarations 7
International Standards 8
Insulation Classification 9
Degree of Protection 9

Vibration/Balancing 18 THREE PHASE ALUMINIUM MOTORS

Environmental Conditions
Electrical Characteristics IE4

Electrical Connections 11
Dimensions IE4 25
Voltage & Frequency 11 . L.
Electrical Characteristics IE3 30
Tolerances 12 . .
. Dimensions IE3 32
Mounting Arrangements 13 . o .
. Electrical Characteristics IE3 N Series 40
Bearings 13 . . .
o Dimensions IE3 N Series 41
Lubrication 14 . o
oo Electrical Characteristics IE2 46
Painting 14 . .
Dimensions IE2 49
Feet 14
Terminal box 14
Drain/Cond Hol 14 THREE PHASE CAST IRON MOTORS
rain/Condensation Holes
iy dentification Svmbol is Electrical Characteristics IE3
otor Identification Symbols
o ) 4 Dimensions IE3 61
Permissible Radial Loads 16
Permissible Axial Loads 17

Duty-Type 18
Induction Motors Fed by Inverter 19
Efficiency 20

SMOKE EXTRACTION MOTORS

Electrical Characteristics IE3

Dimensions IE3 69
Electrical Characteristics IE2 70
Dimensions IE2 73
Dimensions F300 Pad Mount 75

| WAT | IM en 221



BRAKE MOTORS
Technical Documentation
Electrical Characteristics
Dimensions

Brake Kit

Brake Kit Nomenclature
Brake Kit Dimensions

Technical Documentation

Dimensions Q3D

78
79
80
84
85
88

92
93

Technical Documentation
Electrical Characteristics
Dimensions

Electrical Characteristics
Dimensions

5 | WAT I M en 221

100
101
102
103
104




PRODUCTION SITE

WAT Motor Sanayi ve Ticaret A.S. performs manufacturing operations at its factory in Cerkezkoy,
Tekirdag. WAT Motor Sanayi ve Ticaret A.S. manufactures various kinds of three phase and single
phase motors with up to date technology in a closed area of 20.000m?.

With a team of engineers. expert on electrical mators. the plant provides the users with necessary
technical consultancy services. and offers a product range including three-phase asynchronous mo-
tors in 20.000 different versions and single-phase asynchronous motors in 500 different versions.

With the purpose of launching products beyond customer expectations, new technologies are
closely followed and adapted in the plant. To convey product design into the production lines more
quickly computer assisted production technology and concurrent engineering methods are being
used.

WAT Motor Sanayi ve Ticaret A.S.. exporting more than half of its production and whose products
are preferred abroad. expand its customer portfolio via constant and competitive quality policies.
Continuous follow-up customer demands and complaints is considered main instrument for product
development and customer satisfaction. Thanks to the advantage of long term relationships with
customers-producers and dealers. the plant increases competitive power for both itself and the
customers.

6 | WAT M en 221



TECHNICAL DOCUMENTATION

ENSTITUSU TORICST
T T ey
LUK BELGES|
S INSTITUTION TR e
TURKISH STANDARD N, i
CERTIFICATE OF CONFORMITY T0 TURKISH ST TIFICATE OF CONFORMITY 10 TyRk1ss :;lﬂmlnmnm

“ﬂ-@p e EE el Ehrj-::

DELGE MyMAR g
FIMATAS o IE 2041 - - T gy
[at=] ez
Lirwwﬂ'::;' FrTE L] mmﬁ.h..“r.t?-g_fm i
w-n’-ﬂ’#ﬁxﬂ l““‘:m i -qqqlh.'“'.:;l:ﬂm“ -
gy .-u.::rm'w W TR AT e H.%mu Lt s o
x5 ALl TR TR P T .
w'"'u-r—:m-o- i - ARG WAH, 8 B ROAST ﬁgﬂ’”ﬂ“—,m ABRES] s AT ANCnIn s
i WA 3 s 7
A T o euk SO A o ICARLT AR FRCETH ““m’g','{,‘;,“'m i Tl T
Ao Lol LB W s A3 P TIRRDAG | ek LEAC TN Prace TR Bl v e )
MHP‘“:'“W RARAADAG s AT OF T e # e EARLARY, %
oo AL TS A, LT Y]
mﬂlm-' . LAY ToRrE mm“m“ kDT umm._”m_“ )
O saARA e s j
"m“ %ﬁmu=<m i Fise Fw‘“‘ﬂ#r-q. R
" A ML AT
PEBEILL] TEAR MARNASI ] T AR s
Pl TRAED TRAD BAR u“.;muﬂa-m""““m" ﬁ:&h IT =
o sy .
,,,'“m.-...ﬁp.-:w bt VRBAT 010 43 01
BT U0 ey
LG LAPRAN
SO0y CF LEERCH - :
At BUBKIIECASCELUD o a0 ¥, 306 12 feimase &7 ‘H“,“;-q%ﬁ G v‘l.trmw', o,
EOLAR AR s | - A1 W iy i
e A el Pl T H e veya F rary oae 152, 0.y
] B - i 5
RAALKE "'Tr:m' saanand, TROARI0, s, 10001 S | SIS LR W‘“" BiE

i g
] R By -ﬂﬁ.mq-m“u
'\.tﬂl:s':‘:.-. 1 e i . ;

e Mo - v 0 S50, i
A PN s -
. g WE 360 06 TN I 2 N o DR
o T s MR i AR ey T e L
1102 T
P gy
AET MURE KARTAL
P LRI 1709 300
LIVELL
TEE ETAMMA BE e
T e e e S e T R R

EL DECLARATION OF COMFORMITY

i T

e Lo ST Ty T p—
vl P sk {3 TR i B ST, i, .

s [

M n

. o~
e N e B e et v
e L IOt N —

e MTmTMMﬂl,t
| e e Wacsagic 14 ICARET A 5
bﬁl- ion o ] o A Sk b 4
Certificate of Registrati™" ificate of Registration -
H_umﬂsﬁ"—" p BL m-'ﬂﬂm:m‘
RHEINTAL s B H AT SRR
- o e
- =

o e e —
+
e T
=

B
P

HY
gt peptentrl 3 2 .
= ela— v - ; :
! = " - - A fukaiy TR
! d—'-“‘--‘ .
: .

e 0 ST

i
R ey ot P 1

STkl A i Ty ity



TECHNICAL DOCUMENTATION

INTERNATIONAL STANDARDS

Electric motors are manufactured according to the international standards listed below:

IEC 60034-1 Rating and performance
IEC 60034-2-1 Methods for determining losses and efficiency
IEC 60034-5 Classification of degrees of protection
IEC 60034-6 Methods of cooling
IEC 60034-7 Symbols of construction and mounting arrangements
IEC 60034-8 Terminal markings and direction of rotation
IEC 60034-9 Noise limits
IEC 60034-11 Built-in thermal protection
IEC 60034-14 Vibration limits
IEC 60034-18-1 Functional evaluation of insulation system
IEC 60034-30 Efficiency classes (IE-code)
IEC 60038 Standard voltages
IEC 60072 Dimensions and output series for rotating electrical machines
EN 50347 Dimensions and output for electrical machines
EN 55014-1
EN 61000-3-2 Electromagnetic compatibility
EN 61000-3-3
Turkey Germany Great Britain
TSE EN 60034-1 DIN VDE 0530 BS EN 60034
DIN EN 60034
ENERG! Three phase and single phase motor series are complying with UL Efficiency and are avail-

able in our standard motor range. Those motors are marked with our certification number
E235514 E235514 upon request.

Safety certification is the process of assessing the compliance of products to recognized safety
requirements. Our three phase and single phase motor series are complying with UL Safety.

E235514 Those motors are marked with our certification number E235514 upon request.
Three phase and single phase motor series are complying with CC Certification and are avail-
able in our standard motor range. Those motors are marked with our certification number

CC329B CC329B upon request.

= M CEA

8 | WAT | IMen 221



TECHNICAL DOCUMENTATION

INSULATION CLASSIFICATION

Our standard motors have insulation class F while the temperature rise is for Class B ensuring longer service life.
Upon the customer’s request, H class insulation motors are manufactured.
Under specified measuring conditions in accordance with IEC 60034-1 standard, insulation class F for an electric

motor means that at ambient temperature of 40°C the temperature rise of its windings may be max. 105°C with the
additional temperature margin of 10°C.

180°C ——mmmill Max. Permissible Temp. Limit

@ Temperature Margin

Max. Temp. Rise

@ Ambient Temperature

A - E B F v H —=msill |nsulation Class

DEGREE OF PROTECTION

According to IEC 60034-5 standard, electric motors are provided with IP code which determines the degree of protec-
tion ensured by the housing against access to dangerous parts, introducing foreign matter and/or water.

Our motors comply with IP55 protection class as standard.

Please ask for other protection classes.

S 5

IP The first characteristic numeral: The sec.ond chz.aracteristic nymeral: )
Protection from introduction of solid foreign matter Protection against penetration of water and its
harmful effects
0 Non-protected machine Non-protected machine 0
1 Machine protected against solid objects greater than | Machine protected against dripping water 1
50 mm
2 Machine protected against solid objects greater than | Machine protected against dripping water when 2
12 mm tilted up to 15°
3 Machine protected against solid objects greater than | Machine protected against spraying water 3
2.5mm
4 Machine protected against solid objects greater than | Machine protected against splashing water 4
1 mm
6 Dust-tight machines Machine protected against heavy seas 6

9 | WATIMen 221



TECHNICAL DOCUMENTATION

VIBRATION/BALANCING

All rotors are balanced dynamically with half key and this is indicated on the rating plate with letter H.

In accordance to IEC 60034-14, vibration level A is guaranteed for the standard motors. On customer demand, mo-
tors with reduced vibration level may also be produced.

Vibration levels with respect to frame size

Shaft Height [mm] 56< H <132 132< H < 280 H > 280

Vibration Grade
Mountin Velocitiy Acceleration Velocitiy Acceleration Velocitiy Acceleration
: [mm/s] [m/s?] [mm/s] [m/s?] [mm/s] [m/s?]

A Free suspension

B Free suspension 07 11 11 1.7 18 28

ENVIRONMENTAL CONDITIONS

Motors are designed to operate at altitudes up to 1000 m and ambient temperature up to 40°C according to IEC
60034-1. Rated output will change at the % ratings given below for different altitudes and ambient temperatures.

ALTITUDE up to 1000 m | 1500m | 2000 m | 2500 m | 3000 m | 3500 m 4000 m

Insulation class ‘

Insulation class
‘ F ‘ 105 ‘ 102 ‘ 100 ‘ 97 ‘ 93 ‘ 87 ‘ 82

10 | WAT | IM en 221



TECHNICAL DOCUMENTATION

ELECTRICAL CONNECTIONS

Terminal plate has 6 connection terminals marked in accordance with IEC 60034-8.

Motor Type Frame Size 63-80 90-100 112 132-160 200-225 250-280

i Cable Entry M20 M25 M25 M32 M40 M50 M50/M63(*] | MB3 | M63
Number of Entries 1 1 2 2 2 2 2 2 4

QM Cable Entry M20 M25 M25 M32 M40 M50 M50 MB3 -
Number of Entries 1 2 2 2 2 2 2 2 -

QHS Cable Entry - M20 M25 M25 M32 - - - -
Number of Entries - 1 2 2 2 - - - -

N Cable Entry M20 M25 - - - - - - -
Number of Entries 1 2 - - - - - - -

*Optional

Standard three-phase motors can be connected with star or delta method.
u1

Bw Du D v w2 0 V2

u Vi w1 u1 \ w1
w1 4

X 12 13

\al

Star connection is achieved by wiring W2, U2, V2 to each other; Delta connection is achieved by wiring the end of a phase
and U1, V1, W1 leads to voltage supply to the head of the other.

STAR-DELTA (Y/A) START-UP

Most low voltage motors are delta wired to operate in 400V and star wired to operate at 690V. This flexibility can
also be used to operate the motor under lower voltages. Apart from the fact that startup current in star-delta starting
drops to one third of direct starting, startup moment also decreases by around 25%. The motor is started in star con-
nection and accelerated as much as possible, then it is transferred to delta connection. This method can only be used
in asynchronous motors which are delta-connected to supply voltage.

VOLTAGE & FREQUENCY

Our motors are normally design for 400V, 50Hz. Other voltages and 60 Hz frequency are optional. Our motors wound
for 50Hz can be operated on 60Hz for the same output power. The ratios given below indicate changes in the given
parameters.

60 Hz Application Coefficients of 50 Hz Motor

50 Hz 60 Hz Rated Rated Rated Rated Starting Breakdown Starting
Voltage Voltage Speed Power Torque Current Torque Torque Current

230V 230V 083 083 083 0.83
230 V 265V 1,2 115 096 1 096 096 ‘ 096
400 V 400 V 12 1 083 1 070 083 ‘ 0.83
400 V 460 V 12 115 096 1 095 098 097

1 | WAT | M en 221



TECHNICAL DOCUMENTATION

TOLERANCES

According to IEC 60034-1, catalogue values are permitted to deviate from the real values as follows:

Dn=+20%[n-n ) . P> kW
Speed [n)
An=£30%(ng-n) . P <=TkW

An= -15%(100-n,] . P,<=1S0kW
Efficiency % (n]
An= -10%(100-n,) . P,>ISOKW
Power Factor [ cos Q] AcosQ= -1/6(1-cosQ])

Locked Rotor Current {1, /1) All, /1, )=+20% (1. /1))

min (M,/M, J=-15%(M, /M,)

Locked Rotor Torque (M, /M,]
max (M /M, J=+25%(M /M,]

Breakdown Torque [M, /M, ] AM,/M,J= -10%[M,/M,]

Pull-up Torque (M,/M,) AM,/M,J= -15%[M./M,)

Moment of Inertia (J] [kgm?] A)=+10%)

Sound Pressure Level [LPA] [dB] ALPA = +3dB[A]

) B3-NDE Bl4a/Blab
63
o Aluminium Aluminium Aluminium Aluminium
80
90
100 Aluminium/ Aluminium/
Cast Iron Cast Iron

112
132 Aluminium/ Aluminium/
160 Cast Iron Plastic Steel Cast Iron Cast Iron
180
200
225
250 Cast Iron
280
315 Cast Iron Cast Iron
355

12 | WAT | IM en 221



TECHNICAL DOCUMENTATION

MOUNTING ARRANGEMENTS

B3 - IM 1001 VS - IM 1011 V6 - IM 1031 B6 - IM 1051 B7 - IM 1061 BS - IM 107
BS - IM 3001 VI - IM 301 V3 - IM 3031
|
FA
Bl4 - IM 3601 VI8 - IM 361 V19 - IM 363
il
1 . FBor FC
I
o
B35 - IM 2001 V35 - IM 203 IM 205 IM 2061 IM 2071
i "
B34 - IM 2101 V37 - IM 2131 IM 2151 IM 2161 IM 2171
[1
PB or PC

BEARING

63-225 frame motors are equipped with deep grove ball bearings with ZZ shields.
250-355 frame size motors have external lubrication.

Please refer to the mechanical dimension section for specific motor data.

13 | WAT | IM en 221



TECHNICAL DOCUMENTATION

LUBRICATION

Closed type (2Z) roller bearings are being used. These
types of roller bearings do not require maintenance 7
since they are lubricated with the type of lubricant '

specified by the manufacturer. Grease
Entry Point
Roller bearings should be replaced after 20,000 hours Bearing
Outer Cap

of operation (approx. 2-5 years of use) due to the spec-
ified operation temperature, vibration level and shaft
loads.

The grease type and quantity are written on the name-
plate for motors that have externally lubricated roller
bearings. There are bearing lubrication channel and
grease nipple for motors that have externally lubricat-
ed bearings. After lubrication, grease nipple cover must \
be closed. Grease must be avoided from dirt and dust
during lubrication. Quantity of grease indicated on the
nameplatel should be considered and different grease
must not be used. The mix of different grease must be
avoided.

Shaft and
Shaft-Mounted
Components

PAINTING

Our standard range of motors are painted with a grey
protective paint according to RAL 7031 (grey). Other
paint options are also available on request.

FEET

For 63-200 frame size aluminium motors, feet can be
mounted on three sides, allowing terminal box assem-
bly on the desired side. For 63-250 frame size alumin-
ium motors, the feet are detachable and this feature
provides flexibility for different mounting types.

TERMINAL BOX

Motors have terminal boxes situated on top at drive end. Terminal boxes can be rotated 90° for 63-250 frame sizes
(except N series), so that conduits can be placed at each side of the motor.

DRAIN/CONDENSATION HOLES

In the basic design, motors are supplied without holes. In case of customer requests, motors can be supplied with
drain holes. Since these motors are provided with a special plug in the hole, the degree of protection remains IP 55.

14 | WAT | IM en 221



Q3E FA 225 M 4 C-43 (Sample motor number)

Q3E

Q4H

Q3H

Q3HS

Q2H

Q2HS

Q4E

Q3E

Q2E

Q3D

S3H

S2H

am

ac

Motor Type

IE4 efficiency class motors

IE3 efficiency class motors

IE3 efficiency class motors

IE2 efficiency class motors

IE2 efficiency class motors

|E4 efficiency class motors

IE3 efficiency class motors

IE2 efficiency class motors

IE3 efficiency class inverter entegrated motors
IE3 efficiency class smoke extraction motors
IE2 efficiency class smoke extraction mators
Single phase motors with run capacitor

Single phase motors with start and run capacitors

225

Frame Size

TECHNICAL DOCUMENTATION
MOTOR IDENTIFICATION SYMBOLS

Shaft height (mm)

Motor Length S

M

L

Short

Medium

Long

Housing Type

Aluminium

Cast Iron

Number of Poles

2.4.6.8 Poles

FA

FB

FC

FS

PA

PB

PC

PS

Construction Type

with feet

with A flange

with B flange

with C flange

with special flange

with feet and A flange
with feet and B flange
with feet and C flange
with feet and special flange

without feet flange and /or end-shield

B3B6,B7B8.V5.V6/VI9

B5.V1V3

B14.Vig V19

B14.Vig V19

B3/BS.VI/V5.V3/V6

B3/BI4.V5/VIB.V6/VI9

B3/B14,V5/V18,V6/V19

BI.V8\V9

Core Length

DE

(Does not affect outside
dimensions)

Short

Medium

Long

Extra Long

43

Special Motor
Number

15 | WAT | IM en 221

0l-..-99



TECHNICAL DOCUMENTATION

PERMISSIBLE RADIAL LOADS

Fr
Radial Load Location
Frame Speed RADIAL LOAD X

Size [rpm] (X=max] [kN] | -
3000 025 022

63 1500 029 025
1000 03l 027 /- ™
3000 030 026 \_ J

71 1500 035 029
1000 037 03l |
3000 054 045

80 1500 062 05 Xmax X,
1000 066 054
3000 09l 074

90 1500 099 080 Calculations are based on 20.000h
1000 104 084 (L10aah) bearing life time and the ac-
3000 121 096 tual values will differ if radial and axial

100 1500 131 104 loads act at the same time. Mechani-
1000 138 109 .
p— - 100 cal strength of the end-shields should

o 1500 133 109 also be considered for critical applica-
1000 140 114 tions.
3000 122 098

132 1500 131 104 . .
1000 134 108 Value of force F_acting on any point of
3000 299 172 the shaft end (between points X=max

160 1500 234 182 and X=0) may be calculated according
(000 s L to the following formula:
3000 268 212

180 1500 282 223
1000 293 231 Fr=Fuo - & X (Feo-Fumax) [KN]
3000 380 304 .

o~ - - o5 Where; F = -valueof F force acting
1000 407 326 on the beginning of the shaft end
3000 445 385 F.... - Vvalue of F force acting

225 1500 459 360 on the shaft end
1000 473 371

250 3000 497 393 E - length of the shaft end
1500 578 457
3000 497 393

280
1500 578 457

- 3000 6.04 523
1500 6.08 561

a5 3000 588 517
1500 849 737

* All calculations are based on floating bearing arrangement for standard
(excluding compact & super compact) motors.

16 | WAT | IM en 221



TECHNICAL DOCUMENTATION

PERMISSIBLE AXIAL LOADS

Position
5]
Axial Load
Direction
Frome MOTOR SERIES / AXIAL LOADS [kN]
3000 009 023 022 010 024 0.08
63 1500 0.09 0.3l 029 ol 033 0.07
1000 0.09 036 034 on 038 0.07
3000 on 025 023 013 027 0,09
71 1500 ol 033 03l 014 036 0,09
1000 ol 039 037 014 042 0,09
3000 015 015 043 040 018 018 046 012 0.12
80 1500 015 0I5 057 053 019 019 0.6l on on
1000 015 (015} 067 063 019 019 071 on on
3000 019 015 075 070 023 020 080 014 010
90 1500 019 015 099 093 025 022 106 012 0,09
1000 019 015 118 112 025 022 125 012 0,09
3000 019 019 094 088 025 0.25 101 012 012
100 1500 019 019 125 117 027 027 134 0.l0 010
1000 019 019 149 141 027 027 158 0.I0 010
3000 023 019 094 086 0.3l 027 102 014 ol
12 1500 023 019 125 114 034 030 136 ol 0,07
1000 023 019 149 138 034 0.30 160 ol 0,07
3000 0.30 023 093 0.75 048 041 m 012 0.04
132 1500 030 023 123 101 052 044 145 0.08 9,00
1000 030 0.26 146 124 052 047 168 0.08 0.04
3000 034 030 178 153 059 055 203 *x x*
160 1500 034 030 240 201 072 069 279 ** **
1000 0.34 0.30 275 236 072 069 314 ** x*
3000 038 034 201 165 073 069 237 *x *k
180 1500 038 034 270 218 0.90 086 322 *x bl
1000 038 034 320 268 090 086 372 *x bl
3000 038 260 195 103 325 *x
200 1500 038 352 277 113 427 *x
1000 0.38 4,20 345 113 495 **
3000 049 290 210 129 370 *x
225 1500 049 390 290 149 490 *x
1000 049 465 365 149 565 *x
3000 060 365 265 160 4,65 *x
250
1500 060 475 354 181 596 *x
3000 060 365 238 187 492 **
260 1500 0.60 475 31 224 6.39 *x
3000 4,56 368 152 790 ** *
% 1500 520 4,00 108 962 ** *x
3000 4,52 362 038 950 ** *x
355
1500 6.40 500 273 1355 ** *x

* All calculations are based on floating bearing arrangement for standard (excluding compact & super compact) motors.
** Please get in contact for a specific design.

17 | WAT | 1M en 221



TECHNICAL DOCUMENTATION
DUTY TYPE

Duty types according to the IEC 60034-1 are given below:

SI: Continuous running duty

S2: Short-time duty

S3: Intermittent periodic duty

S4: Intermittent periodic duty

\ , B with starting
T ’
— — .
. T
.
. .
Py
Py
‘ ‘ ,W+
.
A "
"
|/
.
e . P load 4 lood

2608 Py alectrical losses [ electrical losses
, oad P lood “ fmparoture R —
P electrical losses Py electrical losses Vg, Mmoximum temperature ottained Fimg  MmoKmum temperoturs ottoned

v o temperature t time t time
temperature time of one load cucle
H P Fipgc MoXimum temperature attained Te time of one load cycle . iy
starting/accelerating time

Fmoe MOXimum temperature ottoined t time st operotion time at constont lood speraton time at constont load
t time tp operation time at constant load iy time de-energized and at rest g time de-energized and at rest

S5: Intermittent periodic duty S7: Continuous operation periodic duty

with electric braking v with electric braking
P Te
N \ T
w o
- . L L
e “ { X J
. - <+
" i i Py
—-—— i
2
L I
|| -
.
-
"
-
\ \ ~J !
i
! . oo
P lood e time of one load cycle P oad t time P load Te  time of one lood cucle
. P, electrical losses starting/accelerating time
P, electrical losses sty starting/aceelerating time P, electrical losses Te time of one load oycle . : . tp 9 4
" . [l emperature ntp  operation time at constant load
temperature stp  operation time ot constant load - tompsrature Wty operation time ot constant lood p
LTS maximum temperature ottained te  time of electric braking A operation time at no-load Mgy maximum temperature ottained it time of electric braking
" "
t time “tg  time do-energized and ot rest max - moximum temperature ottoined *yoop t time

S8: Continuous operation periodic duty S9: Duty with non-periodic load and SI0: Duty with discrete constant loads

with related load/speed changes speed variations and speeds ’ "
Tc L Pu
_ — - S — : AREIE I
P ) !
2 et s -
—— P, ‘| I
r C I ol =
u | | L = — P *
™ 1 4
L L| C i L| r —/ rr !

R ‘o

o n
n

2 Sndindct

lood t

. eeotrical losses T
temperoture p

o MOXITUM tomperoture ottaned e
speed R

e

time
time of one load cycle

storting/accelerating time
aperation time at constont lood (P1, P2, P3)
time of electric broking (FL F2)

e

n

lood

reference lood

elctricol osses

tomperoture

maximum temperature attained
speed

e
time

starting/accelerating time

operation time ot constant lood

time of electric braking

time de-energized and ot rest

time under overlood

t

lood within o lod cicle

s56d an duty tpo S1

s
t tme

t tima of o constont load within a cucle
To  time of one ood cycke

Wy

ing ot each of the various o

1 with eferoncs lood

The duty type of our standard motors is S1. On customer demand, the other duty type-motors can be produced.

18 | WAT | IM en 221

ifforence between the temperoture rise of the

d the tomporature o bosed on duty



TECHNICAL DOCUMENTATION

INDUCTION MOTORS FED BY INVERTER

Due to its simple and rugged construction, low cost production and less maintenance requirements, squirrel cage
induction motors are the most preferred type of the motor in the industry. In particular, technological developments
and cost reduction in power electronics fields and also regulations on energy efficiency especially in HVAC industry,
motivate the use of induction machine fed by inverters.

Important issues regarding the motor operation supplied by the inverter are listed below:

¢ The application should be compatible with the torque-speed curve of the selected motor and also continuous and
maximum output current capability of the inverter. Please, get in contact with your inverter supplier regarding the
normal duty and heavy duty operation based on your application.

¢ High switching frequency operation of the inverter imposes voltage stress on motor insulation. Please, get in con-
tact with your motor supplier if your inverter switching frequency is higher than 5 kHz.

¢ High switching frequency improves the efficiency of the motor and also decreases the noise level, while decreases
the inverter efficiency.

¢ Motor control modes of the inverter (Scalar or Vector) are chosen depending on the applications. Scalar control
(U/f) is used mainly in applications like pump and fans where the requirements on speed accuracy and load dynamics,
and starting torque are not so strict.

Vector control mode is used mainly in applications, where high starting torque, high accuracy on speed and the fast
changes at load, prolonged low speed operation at load are required. Due to the control principle, vector control can
provide higher torque for the same motor current and handle dynamic torque changes. In that sense, in case of op-
eration by scalar control mode, inverter with a higher current rating is required, for the same application conditions.

* Beside the efficiency class of the motor, efficient operation of the motor is also dependent on the parameter set-
tings of the inverter. (Motor control modes, switching frequency, braking methods, torque boost in Scalar control
have the influence on efficient operation and thermal load of the motor.)

¢ Control methods used in speed sensor-less vector control may have varying performance, dependent on the motor
design. Therefore, although using the same inverter, user may experience different performance at the motors pro-
duced by the different manufacturers.

¢ |dentification of the motor equivalent circuit, which is part of the auto-tuning procedure of the inverter, is a critical
setting which has influence on torque capability, speed accuracy, low and high speed performance and also efficient
operation of the motor.

e Inverter suppliers may have different PWM
Modulation methods which has especially
influence on noise characteristics of the
motor and other characteristics like inverter
and motor efficiency and thermal behaviour
as well.

19 | WAT | M en 221



TECHNICAL DOCUMENTATION

EFFICIENCY

European Committee of Manufacturers of Electrical Machines and Power Electronics (CEMEP) and European Commis-
sion issued a declaration on June 28, 1999 that categorized the motors in efficiency classes.

This standard covers 2, 4 and 6 pole motors in 0.12kW and 1000kW power range and 50-60Hz frequency and refers
to IEC standard 60034-2-1 to define efficiency.

Efficiency is defined as the ratio of output power of the motor to the input power reflected in the cost and it is actually
an indicator of losses.

P 1 D
Input / ’
nput power Iron Friction and  Stray load
Stator Rotor losses ventilation losses

losses

losses losses

Commission Regulation EU 2019/1781, amendment (EU) 2021/341 had set new requirements for electric motors;

Latest Ecodesign Regulation (EU) 2019/1781 came into effect in October 2019 and it applies to low-voltage induction
electric motors rated at less than 1,000 V alternating current (AC).

The regulation will be implemented in two steps starting on July 1, 2021.

The second stage, which expands the scope further and increases the requirements for motors on July 1, 2023.

July 1, 2021

The regulation covers 3-phase single-speed motors 50 Hz, 60 Hz, 50/60 Hz for direct-on-line operation with continu-
ous duty defined as S3 > 80% and S6 > 80%.

Brake motors with external brake is also within the scope of new regulation.

Three phase motors with rated output > 0,12 kW and < 0,75 kW: minimum |E2 efficiency level is mandatory.
Three phase motors with rated output > 0,75 kW and < 1 000 kW: minimum |E3 efficiency level is mandatory. Please
also note that IE2 + VSD option is not allowed.

July 1, 2023
IE4 efficiency level mandatory for 3-phase motors: Rated output equal to or above 75 kW and equal or below 200 kW;
with 2, 4 or 6 poles which are not brake motors nor Ex-motors.

IE3 requirements as from July 1, 2021.
Three phase motors with rated output 2 75 kW and < 200 kW: minimum IE4 efficiency level is mandatory.
Single phase motors with rated output > 0,12 kW and < 1000 kW: minimum IE2 efficiency level is mandatory.

20 | WAT | IM en 221



TECHNICAL DOCUMENTATION

According to EC No 640/2009 regulation, motor labels will include 50Hz and 60Hz motor data as well as IE codes and
efficiency value. Most prominent feature of new labels is that 2D barcoding will be placed on the labels. This applica-
tion ensures the customers to track the motors.

With barcoding, the motor users will be able to reach information such as manufacture date of motor, results of rou-
tine testing (current with neutral resistance, power etc.) and serial no. and etc.

OO0 ONNOO (6)(0)(7)
Wt ns, | <TGE>

Made in Tiirkiye TS EN 60034-1

3~Mot | Q3H FA 90L2D Icl F S1 01112022

() 2022 H S.F.:1.15 IP 55 Kg19 IEC 60034

230/400 2917 7.4/4.3 | IE3-85.9% | 86.2%

265/400 | 60 | 3533 | 2.2 | 0.84 | 6.4/ 3.7 | IE3-86.5%

© & 0O 6§ 6 ® © ® O

1 Motor type 11 Efficiency value (acc. to IEC 60034-2-1)
2 Motor code 12 Load value

3 Year of manufacture 13  Efficiency value (acc. to IEC 60034-2-1)
4 Insulation class 14  Nominal current

5 IP class 15 Power factor

6 Service type 16  Motor output power

7 Efficiency class (acc. to IEC 60034-30) 17 Rated speed

8 2D Barcode 18 Motor nominal frequency

9 Service factor * 19 Operation voltage

10 Motor weight 20  Production tracing number

* For IE2 and above efficiency (except 315 & 355 frame) motors, SF 1.15 is optional (with temperature rise F) for 315 & 355 frame motors.

21 | WAT | IM en 221






I HREE
PHASE
ALUMINIUM
MOTORS

OO
C )
( )
L] C )
C )
o )
\
( ) v




' 4
& IE4 THREE PHASE ALUMINIUM MOTORS

ELECTRICAL CHARACTERISTICS AT 50 Hz

RATED VALUES STARTING VALUES )
Breok- EFFICIENCY*
HOUSING CURRENT RQUE down

TYPE POWER SPEED | CURRENT | TORQUE IA/IN | Torme

kW HP rpm A A A A | MK/ Mn | 4/4 | 3/4 | 2/4 | 4/4 kgm2 kg dBA**

Q4E63M2B Aluminium | 018 /4 2870 08 06 69 = 35 = 37 708 | 696 | 639 | 080 | 000025 52 52
Q4E63M2C Aluminium | 0.25 /3 2850 11 08 69 - 39 - 35 743 | 744 | 719 | 083 | 000028 6.0 53
Q4E71M2B Aluminium | 0,37 1/2 2855 15 12 76 = 46 = 45 781 | 763 | 719 | 080 | 000056 70 52
Z Q4E71M2C Aluminium | 0,55 3/4 2833 23 18 73 - 50 - 45 815 | 790 | 751 | 075 | 000067 75 54
%’ Q4H80M2D Aluminium | 075 1 2898 26 25 98 = 42 = 44 835 | 842 | 820 | 085 | 000170 1.8 57
% Q4H80M2DE | Aluminium 11 15 2915 41 36 120 - 6.1 - 58 852 | 837 | 806 | 080 | 000224 148 59
Q4H90L2D Aluminium | 15 2 2947 53 49 136 = 46 = 6.0 865 | 866 | 834 | 080 | 000283 185 61
Q4H90L2E Aluminium | 2.2 3 2925 73 72 n4 - 38 - 47 880 | 892 | 881 | 084 | 000318 200 62
Q4Hi00L2D Aluminium 3 4 2943 1.2 98 129 = 49 = 62 891 | 863 | 829 | 077 | 000536 | 250 63
Q4HN2M2D Aluminium 4 55 2934 73 130 42 125 13 40 55 900 | 899 | 885 | 089 | 00074 346 66
Q4H13282D Aluminium | 55 75 2946 107 180 39 n8 13 38 6.0 909 | 899 | 882 | 082 | 002948 | 532 69
Q4HI32S2DE | Aluminium | 7.5 10 2937 141 245 34 103 13 38 Sl 917 | 913 | 901 | 085 | 003326 | 585 70
Q4H1IBOM2D Aluminium n 15 2975 216 351 47 140 16 48 70 926 | 923 | 903 | 078 0.04117 880 73
Q4HIBOM2DE | Aluminium | 15 20 2968 287 488 42 126 14 41 61 933 | 931 | 918 | 082 | 004578 | 950 74
Z Q4HiB0L2D Aluminium | 185 25 2969 356 597 44 133 15 45 6.5 937 | 934 | 924 | 080 | 005575 | 1055 74
@ Q4H1I80M2B Aluminium | 22 30 2970 376 710 43 130 13 39 52 940 | 940 | 931 | 090 | 009831 | 1428 75
§ Q4H200L2D | Aluminium | 30 40 2970 513 96.9 40 121 13 38 50 945 | 941 | 931 | 090 | 0I383 166.0 76
Q4H200L2E Aluminium | 37 50 2973 634 188 44 133 13 39 68 948 | 947 | 939 | 089 | 014770 | 2000 76
Q4H225M2D | Aluminium | 45 65 2967 769 1454 33 100 08 23 48 950 | 949 | 942 | 090 | 023500 | 2400 80
Q4HG250M2D | Cast Iron 55 75 2980 94 171 38 n4 09 28 58 953 | 947 | 937 | 091 | 054000 | 5370 78
Q4HG280M2C | Cast Iron 75 100 2980 1227 2414 40 120 12 37 87 956 | 954 | 946 | 093 | 064500 | 6560 80
Q4HG280M2D | Cast Iron 90 125 2987 1586 2875 42 125 12 35 48 958 | 943 | 928 | 086 | 070200 | 6600 80

Q4E63M4B Aluminium | 012 /6 1410 07 08 42 = 31 ° 33 698 | 646 | 579 | 064 | 000026 47 41
Q4E63M4C Aluminium | 018 174 1420 10 12 6.0 - 43 - 42 747 | 728 | 670 | 061 | 000030 57 43
Q4E71M4B Aluminium | 0.25 1/3 1443 13 17 56 = 32 = 36 779 | 735 | 678 | 064 | 000085 70 44
M Q4E7IM4C Aluminium | 0.37 172 1438 17 24 6.2 - 37 - 39 81l 779 | 737 | 067 | 00019 93 45
§ Q4H80M4D Aluminium | 0,55 3/4 1463 24 36 81 = 37 = 46 839 | 815 | 777 | 071 | 00026l 17 52
§ Q4H80MAE Aluminium | 075 1 1453 29 49 80 - 35 - 42 857 | 839 | 81 | 076 | 000306 138 52
B 04HI0L4D Aluminium 11 15 1461 50 72 87 = 5 ° 54 872 | 855 | 815 | 064 | 000526 | 200 S|
Q4H90L4DE Aluminium | 15 2 1460 61 98 108 - 5.4 - 59 882 | 867 | 834 | 071 | 000691 245 54
Q4H100L4D Aluminium | 2.2 3 1462 86 144 96 = 4 ° 50 895 | 880 | 855 | 072 | 001059 298 56
Q4HI00L4E Aluminium 3 4 1453 6.4 197 86 - 33 - 41 904 | 894 | 878 | 076 | 001094 316 56
Q4HN2M4E Aluminium 4 55 1452 83 264 31 94 13 38 45 911 | 904 | 897 | 078 | 001527 400 57
Q4H13254C Aluminium | 55 75 1478 120 356 34 101 12 35 Sl 919 | 912 | 898 | 073 | 003847 575 60
Q4HI32M4DE | Aluminium | 75 10 1473 146 486 34 101 07 20 45 926 | 920 | 9l 081 | 005441 780 6l
N Q4HI60OM4D Aluminium n 15 1479 227 711 27 80 10 31 36 933 | 930 | 922 | 075 | 009146 995 62
% Q4HiBOL4C Aluminium | 15 20 1478 337 970 26 77 11 33 40 939 | 931 | 921 | 069 | 010513 6.0 63
é Q4H180L4B Aluminium | 185 25 1484 36.0 193 33 100 10 30 39 942 | 941 | 938 | 079 011398 154.0 67
Dl 04H180L4C Aluminium | 22 30 1487 447 1415 35 105 11 32 46 945 | 840 | 928 | 076 | 022166 | 1820 67
Q4H225M4D | Aluminium | 37 50 1485 688 2378 31 92 10 31 51 952 | 949 | 943 | 082 | 036400 | 2460 71
Q4H225M4E | Aluminium | 45 65 1482 885 2901 29 86 10 31 50 954 | 949 | 944 | 078 | 043500 | 2700 71
Q4HG250M4E | Cast Iron 55 75 1492 107.7 3522 29 87 09 27 33 957 | 950 | 941 | 077 | 090800 | 5310 72

*  According to IEC 60034-2-1
** The sound pressure measurements are taken 1m away from the motor
** Tolerance +3 dBA

24 | WAT | IM en 22



Q
IE4 THREE PHASE ALUMINIUM MOTORS W

DIMENSION - B3

[ — o in]
© © 0o
o o /0 F
(-] <[- %
?D = = = - B = o
oD -

. |

E C B K . A
' L

nsions Foot Mounted Motors

Motor Type

6201-ZZ | 6201-ZZ | 12*22*7 12*22*7
6201-ZZ | 6201-ZZ | 12*22*7 12*22*7
6201-ZZ | 6201-ZZ | 12*22*7 12*22*7
6201-ZZ | 6201-ZZ | 12*22*7 12*22*7
6202-77 | 6202-ZZ | 15*24*5 15*24*5
6202-Z7 | 6202-ZZ | 15*24*5 15*24*5
6202-77 | 6202-ZZ | 15*24*5 15*24*5
6202-ZZ | 6202-ZZ | 15*24*S 15*24*5

012 4 Q4EB3M4B Aluminium | 123 | 220 | IxM20 80 100 | 63 | 182 4
Q4E63M2B | Aluminium | 123 | 220 | IxM20 80 100 | 63 | 162 4
Q4EB3M4C | Aluminium | 123 | 234 | 1xM20 80 100 | 63 | 182 4
Q4E63M2C | Aluminium | 123 | 234 | IxM20 80 100 | 63 | 162 4
Q4E7IM4B Aluminium | 138 | 253 | IxM20 90 2 71| 190 5
Q4E7IM2B Aluminium | 138 | 253 | IxM20 0 w71 190 5
Q4E7IM4C Aluminium | 138 | 262 | IxM20 90 2 71 190 5
Q4E7IM2C Aluminium | 138 | 253 | IxM20 0 2 | 71 | 190 5
Q4H80M4D | Aluminium | 158 | 268 | IxM20 100 25180 | 26 | 10 | 50 | 19 40 215 6 | 6204-Z7 | 6204-Z7 | 20*30*7 | 20*30*7
Q4H80M2D | Aluminium | 158 | 268 | IxM20 100 25180 | 26 | 10 | 50 | 19 40 215 6 | 6204-Z7 | 6204-Z7 | 20*30*7 | 20*30*7
Q4H8OM4E | Aluminium | 158 | 293 | 1xM20 100 2580 | 26 | 10 | 50 | 19 40 215 6 | 6204-Z7 | 6204-Z7 | 20*30*7 | 20*30*7
6
8
8
8
8
8
8
8
8
8

SVl ENIRENE ENIRENE ENIRENE BN
~
a
=
w
=
[

Q4H8OM2DE | Aluminium | 158 | 293 | xM20 100 125 |8 | 26 | 10 | 50 | 19 40 215 6204-Z7 | 6204-ZZ | 20*30*7 | 20*30*7
Q4H90L4D Aluminium | 172 | 344 | IxM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 50 27 6305-ZZ | 6205-ZZ | 25*40*7 | 25%40*7
Q4H90L2D Aluminium | 172 | 344 | IxM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 S0 27 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7
Q4H9O0L4DE | Aluminium | 172 | 379 | IxM25 | 100-125 | 140 | 90 | 2283 | 10 | 56 | 24 50 27 6305-ZZ | 6205-ZZ | 25*40*7 | 25%40*7
Q4H90L2E Aluminium | 172 | 344 | IxM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 S0 27 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7
Q4HI00L4D | Aluminium | 191 | 400 | IxM25 140 160 | 100 | 243 | 12 | 63 | 28 60 3l 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7
Q4HI00L2D | Aluminium | 191 | 400 | IxM25 140 160 | 100 | 243 | 12 | 63 | 28 60 3l 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7
Q4HIOOL4E | Aluminium | 191 | 422 | 1xM25 140 160 | 100 | 243 | 12 | 63 | 28 60 3l 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7
Q4HI2M2D | Aluminium | 210 | 396 | IxM25 140 190 | M2 | 265 | 12 | 70 | 28 60 3l 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7
Q4HI2M4E | Aluminium | 210 | 421 | xM25 140 190 | M2 | 266 | 12 | 70 | 28 60 3l 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7
Q4HI3252D | Aluminium | 260 | 481 | IxM32 | 140-178 | 26 | 132 | 328 | 12 | 89 | 38 80 4 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
Q4HI32S4C | Aluminium | 260 | 481 | xM32 | 140-178 | 26 | 132 | 328 | 12 | 89 | 38 80 41 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
Q4HI32S2DE | Aluminium | 260 | 481 | xM32 | 140-178 | 2I6 | 132 | 328 | 12 | 89 | 38 80 4 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
Q4HI32M4DE | Aluminium | 260 | 539 | IxM32 | 140-178 | 216 | 132 | 328 | 12 | 89 | 38 80 41 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
Q4HIBOM2D | Aluminium | 305 | 591 | IxM32 | 210-254 | 254 | 160 | 378 | 145 | 108 | 42 1[0] 45 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
Q4HIBOM4D | Aluminium | 305 | 591 | IxM32 | 210-254 | 254 | 160 | 378 | 145 | 108 | 42 1o 45 12 | B6309-ZZ | 8209-ZZ | 45*72*10 | 45*72*10
Q4HIBOM2DE | Aluminium | 305 | 591 | IxM32 | 210-254 | 254 | 160 | 378 | 145 | 108 | 42 1[0] 45 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
Q4HIBOL4C | Aluminium | 305 | 622 | IxM32 | 210-254 | 254 | 160 | 378 | 145 | 108 | 42 1o 45 12 | B6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
Q4HIBOL2D | Aluminium ' 591 | IxM32 | 210-254 | 254 | 160 | 378 | 145 | 108 | 42 1[0} 45 12| 8309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
Q4HIBOL4B | Aluminium | 349 | 696 | IxM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 1o 515 | 14 | 83810-ZZ | 6310-ZZ | 50*80*10 | 50*80*I10
Q4HIBOM2B | Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 1o 515 | 14 | B310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
Q4HIB0L4C | Aluminium | 349 | 750 | IxM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 1o 515 | 14 | 63810-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
Q4H200L2D | Aluminium | 349 | 706 | IXMS0 | 267-305 | 318 | 200 | 455 | 185 | 133 | 55 (6] 59 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*I10
Q4H200L2E | Aluminium | 349 | 759 | 1xMSO | 267-305 | 318 | 200 | 455 | 185 | 183 | 55 10 59 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*I10
Q4H225M4D | Aluminium | 456 | 765 | IxMS0 | 286-3ll | 356 | 225 | 485 | 185 | 149 | 60 | 140 64 18 | B313-ZZ | B3I3-ZZ | 65*100*13 | 65*100*13
Q4H225M2D | Aluminium | 456 | 735 | IxM50 | 286-3ll | 356 | 225 | 485 | 185 | 149 | 60 o 64 18 | 68I3-ZZ | 6313-ZZ | 6510013 | 65*100*13
Q4H225M4E | Aluminium | 456 | 765 | IxMS0 | 286-311 | 356 | 225 | 485 | 185 | 149 | 60 | 140 65 18 | B3I3-ZZ | 6313-ZZ | 65*100*13 | 65*100*13
Q4HG250M2D | Cost lron | 489 | 893 | IxM50 | 31-349 | 406 | 250 | 616 | 24 | 149 | 65 | 140 69 18 6316-Z 6316-Z | 80*100*10 | 80*100*10
Q4HG250M4E | Cast ron | 489 | 893 | IXMS0 | 311-349 | 406 | 250 | 616 | 24 | 149 | 65 | 140 69 18 6316-Z 6316-Z | 80*100*10 | 80*100*10
Q4HG280M2C | Cost lron | 489 | 1025 | IxM50 | 368-419 | 457 | 280 | 610 | 24 | 190 | 65 | 140 69 18 6316-Z 6316-Z | 80*100*10 | 80*100*10
Q4HG280M2D | Cast Iron 489 1025 | IxM50 | 368-419 | 457 | 280 | 647 |24 190 |65 | 140 69 18 | 6316-2 6316-Z 80*100*10 | 80*100*10

a1
al
NI IS DS DS DI DS DS DS DS DS DD DS D DD N DD D DD D DN

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885

25 | WAT | IM en 221



' 4

& |E4 THREE PHASE ALUMINIUM MOTORS

DIMENSION - B5, B35

Number
of
Poles

DP

SRS

Motor Type

Housing

Type

/
A o oo
=Z | o
ISEASY [ =} {° =<
K o o [le
TITD
<]
£ C B
L

HD

Non drive
Side

Drive Side

Non drive
side

012 4 Q4E63M4B | Aluminium | 123 | 220 | 1xM20 80 100 63 162 | 7 | 40 | 1 | 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | 15 10
018 2 Q4E63M2B | Aluminium | 123 | 220 | xM20 80 00| 63 162 7 | 40 | N | 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | 15 10
018 4 Q4E63M4C | Aluminium | 123 | 234 | 1xM20 80 100 | 63 | 162 | 7 | 40 | I | 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | 15 10
025 2 Q4E63M2C | Aluminium | 123 | 234 | xM20 80 00| 63 162 | 7 | 40 | N | 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 140 | 95 | 15 10
025 4 Q4E7IM4B | Aluminium | 138 | 253 | 1xM20 90 "2 | 71 190 | 7 | 45 | 14 | 30 | 6 | 5 |6202-ZZ  6202-ZZ | 15*24*S | 15*24*5 | 160 | 10 | 130 10
037 2 Q4E7M2B | Aluminium | 138 | 253 | 1xM20 90 m | 71 180 | 7 | 45 14 | 30 | 6 | 5 6202-ZZ 6202-ZZ  15*24*S | 15*24*5 | 160 | 10 | 130 10
037 4 Q4E7IM4C | Aluminium | 138 | 262 | 1xM20 90 "2 | 71 190 | 7 | 45 | 14 | 30 | 16 | 5 6202-ZZ | 6202-ZZ | 15*24*S | 15*24*5 | 160 | 10 | 130 10
055 2 Q4E7IM2C | Aluminium | 138 | 253 | 1xM20 90 m | 71 180 | 7 | 45 14 | 30 | 6 | 5 6202-ZZ 6202-ZZ  15*24*S | 15*24*5 | 160 | 10 | 130 10
0.55 4 Q4H80M4D | Aluminium | 158 | 268 | 1xM20 100 125 80 216 10 | 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-Z7 | 20*30*7 | 20*30*7 | 200 | 130 | 165 12
075 2 Q4H80M2D | Aluminium | 158 | 268 | 1xM20 100 125 80 26 10 50 |19 40 | 215 | 6 | 6204-ZZ  6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 12
075 4 Q4H8OMAE | Aluminium | 158 | 293 | IxM20 100 125 80 216 | 10 | 50 | 19 | 40 | 215 | 6 | 6204-Z7 | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 12
11 2 Q4H80M2DE | Aluminium | 158 | 293 | 1xM20 100 125 80 216 10 50 |19 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 12
11 4 Q4H90L4D | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ  6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 2
15 2 Q4H90L2D | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 12
15 4 Q4HO0L4DE | Aluminium | 172 | 379 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 12
22 2 Q4H9OL2E | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ  6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 12
22 4 Q4HI00L4D | Aluminium | 191 | 400 | 1xM25 140 160 | 100 (243 | 12 | 63 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 14,5
3 2 Q4HI00L2D | Aluminium | 191 | 400 | 1xM25 140 160 100 243 12 | 63 | 28 60 | 31 | 8 | 6306-ZZ 6205-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 14,5
3 4 Q4HI00L4E | Aluminium | 191 | 422 | 1xM25 140 160 | 100 (243 | 12 | 63 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 14,5
4 2 Q4HI2M2D | Aluminium | 210 | 396 | 1xM25 140 190 12 265 12 | 70 | 28 | 60 | 31 | 8 | 6306-ZZ  6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 145
4 4 Q4HI2M4E | Aluminium | 210 | 421 | xM25 140 190 | 12 266 12 | 70 | 28 | 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 14,5
55 2 Q4H132S2D | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 /328 12 | 89 | 38 | 80 | 41 | 10 | 6208-ZZ  6208-ZZ | 40*62*10 | 40*62*10 | 300 K 230 | 265 145
55 4 Q4H13284C | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 328 | 12 | 89 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 14,5
75 2 Q4H132S2DE | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 328 | 12 | 89 | 38 | 80 | 41 | 10 6208-ZZ 6208-ZZ | 40*62*10  40*62*10 300 | 230 265 145
75 4 Q4HI32M4DE | Aluminium | 260 | 539 | 1xM32 | 140-178 | 216 | 132 | 328 | 12 | 89 | 38 | 80 | 41 | 10 | 6208-ZZ  6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 14,5
n 2 Q4H1BOM2D | Aluminium | 305 | 591 | 1xM32 | 210-254 | 254 | 160 | 378 | 145 108 | 42 | N0 | 45 | 12 | 6309-ZZ 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 300 185
1 4 Q4HI6OM4D | Aluminium | 305 | 591 | 1xM32 | 210-254 | 254 | 160 | 378 | 145 | 108 | 42 | 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 18.5
15 2 Q4HIBOM2DE | Aluminium | 305 | 591 | 1xM32 | 210-254 | 254 | 160 | 378 | 145 108 | 42 | N0 | 45 | 12 | 6309-ZZ 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 185
15 4 Q4HIBOL4AC | Aluminium | 305 | 622 | 1xM32 | 210-254 | 254 | 160 | 378 | 145 108 | 42 | 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 18.5
185 2 Q4HBOL2D | Aluminium |~ 591 | IxM32 | 210-254 | 254 | 160 | 378 145|108 | 42 | N0 | 45 | 12 | 6309-ZZ | 6209-ZZ @ 45*72*10 | 45*72*10 | 350 | 250 | 300 185
18.5 4 Q4HIB0L4B | Aluminium | 349 | 696 | IxM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 | 250 | 300 185
22 2 Q4HIBOM2B | Aluminium | 349 | 696 | IxM40 | 241-279 | 279 | 180 | 437 | 145 121 | 48 | N0 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 | 250 | 300 185
22 4 Q4HIBOL4C | Aluminium | 349 | 750 | IxM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 | 250 | 300 185
30 2 Q4H200L2D | Aluminium | 349 | 706 | 1xM50 | 267-305 318 | 200 | 455 185 133 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10 | 400 | 300 | 350 18.5
37 2 Q4H200L2E | Aluminium | 349 | 759 | IxXM50 |267-305| 318 | 200 | 455 | 185|133 | 55 | 110 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10 | 400 | 300 | 350 185
37 4 Q4H225M4D | Aluminium | 456 | 765 | 1xMS0 | 286-311 | 356 | 225 | 485 185 | 149 | 60 | 140 | 64 | 18 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13 | 450 | 350 | 400 18.5
45 2 Q4H225M2D | Aluminium | 456 | 735 | 1xMS0 | 286-311 | 356 | 225 | 485 185 | 149 | 60 | 10 | 64 | 18 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13 | 450 | 350 | 400 185
45 4 Q4H225M4E | Aluminium | 456 | 765 | IxXM50 | 286-311 | 356 | 225 | 485 185 | 149 | 60 | 140 | 65 | 18 | 63I13-ZZ | 63I13-ZZ A 65*100*13 | 65*100*13 | 450 | 350 | 400 18.5
55 2 |Q4HG250M2D| Cost lron | 489 | 893 | 1xM50 | 31-349 | 406 | 250 | 616 | 24 | 149 | 65 | 140 | 69 | 18 | 6316-Z | 6316-Z |80*100*10|80*100*10| 550 | 450 | 500 185
55 4 | Q4HG250M4E | Cost Iron | 489 | 893 | 1xM50 | 311-349 | 406 | 250 | 616 | 24 | 149 | 65 | 140 | 69 | 18 | 6316-Z | 6316-Z |80*100*10|80*100*10| 550 | 450 | 500 18.5
75 2 | Q4HG280M2C| Cost Iron | 489 | 1025 | 1xMS0 | 368-419 | 457 | 280 | 610 | 24 | 190 | 65 | 140 | 69 | 18 | 6316-Z | 6316-Z |80*100*10|80*100*10| 550 | 450 | 500 185
90 2 | Q4HG280M2D| Cost Iron | 489 | 1025 | 1xMS0 | 368-419 | 457 | 280 ' 647 | 24 | 190 | 65 140 | 69 | 18 | 6316-Z | 6316-Z |80*100*10|80*100*10| 550 | 450 | 500 185

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885
(3) Tolerance DIN EN 50347 “j6”

26 | WAT | IM en 221



Q
IE4 THREE PHASE ALUMINIUM MOTORS W

DIMENSION - Bl4a, B34a

Lx 90°

SSASY

Main Dimer

Number

Motor Type
012 4 Q4E63M4B | Aluminium | 123 | 220 | 1xM20| 80 | 100 | 63 | 162 | 7 |40 | W | 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 |60 | 75 | - | M5
018 2 Q4E63M2B | Aluminium | 123 | 220 |1xM20| 80 | 100 | 63 [ 162 | 7 |40 | N | 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 |60 | 75 | - | M5
018 4 Q4EB3M4C | Aluminium | 123 | 234 |IxM20| 80 | 100 | B3 | 162 | 7 | 40 | 1 | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 | - | M5
025 2 Q4E63M2C | Aluminium | 123 | 234 |IxM20| 80 | 100 | 63 [ 162 | 7 | 40 | T | 28 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 | - | M5
025 4 Q4E7IM4B | Aluminium | 138 | 253 | xM20 | 90 W2 | 711190 | 7 |45 14 | 30| 16 | 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 | - | M6
037 2 Q4E7IM2B | Aluminium | 138 | 253 | IxM20 | 90 12 | 71 [190 | 7 | 45| 14 | 30 | 16 | 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*S | 105 | 70 | 85 | - | M6
037 4 Q4E7IM4C | Aluminium | 138 | 262 | xM20 | 90 W2 | 711190 | 7 |45 14 | 30| 16 | 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 | - | M6
055 2 Q4E7IM2C | Aluminium | 138 | 253 |1xM20 | 90 12 | 71 [190 | 7 | 45| 14 | 30 | 16 | 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*S | 105 | 70 | 85 | - | M6
055 4 Q4HBOM4D | Aluminium | 158 | 268 | 1xM20 | 100 | 125 | 80 | 216 | 10 | 50 | 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 | - | M6
075 2 Q4H80M2D | Aluminium | 158 | 268 |1xM20| 100 | 125 | 80 | 216 | 10 | 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 | - | M6
075 4 Q4HBOMA4E | Aluminium | 158 | 293 | IxM20 | 100 | 125 | 80 | 216 | 10 | 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 | - | M6
11 2 Q4HBOM2DE | Aluminium | 158 | 293 | 1xM20 | 100 | 125 | 80 | 216 | 10 | 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 | - | M6
11 4 Q4H90L4D | Aluminium | 172 | 344 | 1xM25 |100-125] 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | B6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 | - | M8
15 2 Q4H90L2D | Aluminium | 172 | 344 | 1xM25 |100-125| 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 | - | M8
15 4 Q4HSOL4DE | Aluminium | 172 | 379 | 1xM25 |100-125| 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 | - | M8
22 2 Q4HSOL2E | Aluminium | 172 | 344 | 1xM25 [100-125| 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | B6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | IS | - | M8
22 4 Q4HI00L4D | Aluminium | 191 | 400 | IxM25 | 140 | 160 | 100 | 243 | 12 | 63 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 180 | - | M8
8 2 Q4HI00L2D | Aluminium | 191 | 400 | IxM25 | 140 | 160 [ 100 | 243 | 12 | 63 | 28 | 60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 | - | M8
3 4 Q4HIOOL4E | Aluminium | 191 | 422 | IxM25 | 140 | 160 | 100 | 243 | 12 | 63 | 28 | 60 | 31 | 8 | B306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 | - | M8
4 2 Q4HN2M2D | Aluminium | 210 | 396 | IxM25 | 140 | 190 | 12 {265 | 12 | 70 | 28 | 60 | 31 | 8 | B306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 | - | M8
4 4 Q4HI2MAE | Aluminium | 210 | 421 |1xM25 | 140 | 190 | 112 (266 | 12 | 70 | 28 | 60 | 31 | 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 | - | M8
&5 2 Q4HI32S2D | Aluminium | 260 | 481 | 1xM32 |140-178| 216 | 132 | 328 | 12 | 89 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 [ 200 | 130 | 165 | - | MIO
55 4 Q4HI32S4C | Aluminium | 260 | 481 | 1xM32 |140-178| 216 | 132 | 328 | 12 | 89 | 38 | 80 | 4l | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO
75 2 Q4HI32S2DE | Aluminium | 260 | 481 | 1xM32 |140-178| 216 | 132 | 328 | 12 | 89 | 38 | 80 | 4l | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO
75 4 Q4HI32MA4DE | Aluminium | 260 | 539 | 1xM32 |140-178 | 216 | 132 | 328 | 12 | 89 | 38 | 80 | 41 |10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885
(3) Tolerance DIN EN 50347 "j6"

27 | WAT | M en 221



' 4
& |E4 THREE PHASE ALUMINIUM MOTORS

DIMENSION - Blab, B34b

Lx90°

[L 1
©@
/.
T o o o |
S -=—— de
slelemd i
-+ [FE=E |
e o [He
TH TP =
i Kol
i c | B N
1 1
L
Housing :
Motor Type Tune ‘ Non drive | Non dri
Side side
012 4 Q4EB3M4B | Aluminium | 123 | 220 | 1xM20 80 100 | 63 | 162 | 7 |40 | NI | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 | - | M6
018 2 Q4E63M2B | Aluminium | 123 | 220 | 1xM20 80 100 | 83 | 162 | 7 | 40 | N | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 | - | M6
018 4 Q4EB3M4C | Aluminium | 123 | 234 | 1xM20 80 100 | 63 | 162 | 7 |40 | I | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 | - | M6
025 2 Q4E63M2C | Aluminium | 123 | 234 | 1xM20 80 100 | 83 | 162 | 7 | 40 | N | 23 |125| 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 | - | M6
025 4 Q4E7IM4B | Aluminium | 138 | 253 | 1xM20 90 M2 | 71 1190 | 7 | 45| 14 | 30 | 16 | 5 6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | 5 | - | M8
037 2 Q4E7IM2B | Aluminium | 138 | 253 | 1xXM20 90 12 71 190 | 7 | 45| 14 | 30 | 16 | 5 | 6202-ZZ | 6202-ZZ | 15*24*S | 15*24*S | 140 | 95 | IS | - | M8
037 4 Q4E7IM4C | Aluminium | 138 | 262 | 1xM20 90 M2 | 71 1180 | 7 | 45|14 | 30 | 16 | 5 | 6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*S5 | 140 | 95 | 15 | - | M8
055 2 Q4E7IM2C | Aluminium | 138 | 253 | 1xM20 90 12 71 190 | 7 | 45 | 14 | 30 | 16 | 5 | 6202-ZZ | 6202-Z7 | 15*24*S | 15*24*S | 140 | 95 | IS | - | M8
0.55 4 Q4H80M4D | Aluminium | 158 | 268 | IxM20 100 125180 | 216 |10 | 50 | 19 | 40 |215| 6 | 6204-Z7 | 6204-77 | 20*30*7 | 20*30*7 | 160 | 10 | 130 | - | M8
075 2 Q4H80M2D | Aluminium | 158 | 268 | 1xM20 100 125 |80 | 216 |10 | 50 | 19 | 40 |215| 6 | 6204-Z7 | 6204-Z7 | 20*30*7 | 20*30*7 | 160 | 10 [130 | - | M8
075 4 Q4H80M4E | Aluminium | 158 | 293 | 1xM20 100 125180 | 216 |10 | 50 | 19 | 40 |215| 6 | 6204-Z7 | 6204-77 | 20*30*7 | 20*30*7 | 160 | 10 | 130 | - | M8
11 2 Q4H8OM2DE | Aluminium | 158 | 293 | 1xM20 100 125 |80 | 216 |10 | 50 | 19 | 40 |215| 6 | 6204-Z7 | 6204-Z7 | 20*30*7 | 20*30*7 | 160 | 10 [130 | - | M8
11 4 Q4H90L4D | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 8305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | N0 [ 130 | - | M8
15 2 Q4H90L2D | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | N0 | 130 | - | M8
15 4 Q4H90L4DE | Aluminium | 172 | 379 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 0 | 130 | - | M8
22 2 Q4HI0L2E | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 |10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 | - | M8
22 4 Q4HI00L4D | Aluminium | 191 | 400 | IxM25 140 160 | 100 | 243 | 12 | 83 | 28 | 60 | 31 | 8 | B8306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 185 | - | MIO
8 2 Q4HI00L2D | Aluminium | 191 | 400 | 1xM25 140 160 | 100 | 243 | 12 | 63 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | - | MIO
3 4 Q4HIOOL4E | Aluminium | 191 | 422 | 1xM25 140 160 | 100 | 243 |12 | 63|28 |60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | - | MIO
4 2 Q4HNM2M2D | Aluminium | 210 | 396 | 1xM25 140 190 | 12 [ 265 |12 | 70 | 28 | 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 |130 | 165 | - | MIO
4 4 Q4HN2M4E | Aluminium | 210 | 421 | 1xM25 140 190 | 12 | 266 | 12| 70 |28 | 60| 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | - | MIO
SiS) 2 Q4H13282D | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 328 | 12 | 89 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-Z7Z | 40*62*10 |40*62*10| 250 | 180 | 215 | - | MI2
55 4 Q4HI32S4C | Aluminium | 260 | 481 | IxM32 | 140-178 | 216 | 132 | 328 | 12 | 89 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 |40*62*10| 250 | 180 | 215 | - | MI2
75 2 Q4HI32S2DE | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 328 | 12 | 89 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-Z7Z | 40*62*10 |40*62*10| 250 | 180 | 215 | - | MI2
75 4 Q4HIZ2M4DE | Aluminium | 260 | 539 | IxM32 | 140-178 | 216 | 182 | 328 | 12 | 89 | 38 | 80 | 4l | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 |40*62*10| 250 | 180 | 215 | - | MI2

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885
(3) Tolerance DIN EN 50347 “j6”

28 | WAT | IM en 221



]

¥

%
1

prarsy

b
L]

o

]
IJ‘-
o p - .

-

'-F..



ELECTRICAL CHARACTERISTICS AT 50 H:z

ED VALUES STARTING VALUES Break- - Sound
down EFFICIENCY *
CURRENT |  TORQUE Cos J
HOUSING | power | speed | CURRENT | TORQUE -- Torque ¢

Weight | pressure

TYPE

2 pole 3000 rpm
Q3H8OM2C | Aluminium | 075 10 2890 16 25 83 - 37 - 42 807 | 798 761 085 0.0014 13 57
Q3H80M2D | Aluminium 11 15 2890 23 36 9l - 39 - 43 827 | 822 | 793 085 0,0017 13 57
= C Q3HBOM2DE | Aluminium | 15 20 2905 32 49 109 - 5) - 54 842 | 833 | 805 0.80 0,00224 15 59
§ Q3HS90S2C | Aluminium | 15 20 2910 33 49 109 - 52 - 54 842 | 833 | 805 080 00023 16 62
Q Q3H90L2D | Aluminium | 22 30 2917 43 72 92 - 31 - 49 859 | 864 | 852 087 0,0028 19 62
C Q3H90L2E | Aluminium | 30 40 2890 58 99 8] - 3 - 35 871 881 87.7 086 000318 19 63
Q3HSI00L2C | Aluminium | 3.0 40 2890 59 99 8l - 32 - 3I5) 871 881 87.7 085 0,0031 25 66
C Q3HIOOL2DE | Aluminium | 4.0 55 2936 80 130 36 |09 16 48 57 88]1 881 858 082 0,00611 29 66
Q3HSN2M2C | Aluminium | 4.0 515) 2936 7:5 13.0 36 |[109 | 16 48 57 881 881 858 0.85 0.0064 29 68
SC Q3HIOOL2E | Aluminium | 5.5 75 2933 109 18,0 44 1132 17 50 59 892 | 886 | 867 083 0,00612 35 66
C Q3H12M2D | Aluminium | 5.5 5] 2920 105 181 35 [0S 12 &7/ 5] 892 | 890 | 872 0.86 0,00741 32 68
Q3HSI32S2C | Aluminium | 55 75 2918 105 18,0 36 [107 | 12 37 51 892 | 890 | 872 086 00077 37 69
C Q3HN2M2DE | Aluminium | 7.5 100 2918 136 245 36 |[107 | 14 43 54 901 | 903 891 088 0,00921 42 69
Q3HSI13252D | Aluminium | 7.5 100 2918 139 245 36 |08 14 43 54 901 | 903 891 088 00093 43 69
C Q3HI32M2A | Aluminium | 1.0 150 2925 207 36.0 35 [0S 13 8,9 52 912 914 906 085 0.03489 61 69
Q3HSI60M2D | Aluminium | 1.0 150 2925 207 36.0 35 /105 13 39 52 912 94 906 085 00352 65 70
- C Q3HI32M2B | Aluminium | 15,0 200 | 2935 276 488 35 104 12 &/ 52 919 913 898 0.86 0,00402 77 71
OE Q3HSI6OM2DE | Aluminium | 15,0 200 | 2930 279 489 35 /105 12 37 52 919 9.3 8938 084 0.0402 79 7
g Q3H1B0L2C | Aluminium | 185 | 250 | 2960 328 599 36 108 11 34 48 924 | 925 916 039 0.0481 96 70
C Q3H160L2D | Aluminium | 220 | 300 2961 391 710 35 106 12 36 51 9R7 | 924 913 087 0,05539 N4 70
Q3HSIBOM2B | Aluminium | 220 | 300 2961 391 70,7 35 |105 11 32 52 927 | 925 913 087 0.0587 N4 77
C Q3HI8OM2B | Aluminium | 300 | 400 | 2957 501 96,9 32 196 10 29 39 933 | 932 | 926 093 010277 148 77
Q3H200L2C | Aluminium | 30.0 | 400 | 2955 503 970 35 (105 10 30 45 933 | 932 | 922 092 01028 153 78
Q3H200L2D | Aluminium | 370 | 500 | 2960 619 194 33 199 10 29 44 937 | 944 | 940 092 01138 166 78
SC Q3HIBOL2DE | Aluminium | 450 60 2964 744 1450 36 |107 1 30 39 94 933 | 928 092 010277 199 77
C Q3H200L2DE | Aluminium | 450 | 600 | 2964 752 1450 36 (107 10 30 27 940 | 933 | 928 092 014769 199 78
Q3E225M2B | Aluminium | 4500 | 60 2976 788 1450 38 | 15 12 36 52 940 | 937 | 933 089 0.2100 218 80
Q3E250M2B | Aluminium | 5500 | 75 2973 984 76,5 39 (16| 12 37 70 943 | 938 | 925 0.86 022700 247 8l

4 pole 1500 rpm
Q3H8OM4D | Aluminium | 075 10 1445 17 50 6.7 - 28 - 34 825 | 832 | 806 077 0,00261 13 52
C Q3H8OM4DE | Aluminium 11 15 1448 26 73 72 - 31 - 37 827 | 824 | 895 075 0.00306 14 48
3 Q3HS90S4C | Aluminium 11 15 1447 26 73 72 - 31 - 37 827 | 824 | 895 0.74 0,00328 15 54
§ Q3H90L4D Aluminium 15 20 1449 35 99 81 - 36 - 42 853 | 850 821 076 0.00526 20 53
& C Q3HIOL4DE | Aluminium | 22 30 1453 54 144 95 - 50 - 515 867 | 843 | 806 068 0.00690 25 54
Q3HSIO0L4C | Aluminium | 22 30 1443 49 146 95 - 50 - 55 867 | 843 | 806 075 0.00690 25 55
Q3H100L4D | Aluminium | 3.0 40 1446 6.2 199 84 - 33 - 38 877 | 880 | 870 0.8l 001059 3l 56
C Q3HIOOL4E | Aluminium | 4.0 55 1445 88 264 86 - 35 - 42 886 871 856 075 0.0124 35 56
Q3HN2M4D | Aluminium | 4.0 B 1452 82 265 30 | 9l 11 33 4] 886 | 888 | 873 0.80 0,01383 32 54
C Q3HN2M4E | Aluminium | 55 75 1443 125 364 28 83| 10 31 38 896 | 892 | 883 0.80 0.01526 40 57
Q3H132S4B | Aluminium | 55 75 1467 106 358 28 | 85| 07 20 38 896 | 89l 876 084 0,03560 53 60
Q3H1I32M4D | Aluminium | 7.5 100 1467 15,2 488 27 | 82| 08 23 38 904 | 907 | 896 0.80 0,04030 58 60
C Q3HN2M4E | Aluminium | 55 75 1443 125 36.4 28 [ 83| 10 31 38 896 | 892 | 883 0.80 0.01526 40 57
- Q3HSIBOMA4C | Aluminium | 1.0 15.0 1470 210 713 27 | 80| 07 21 38 94 9.5 904 083 0,05940 84 63
§ Q3HIBOL4B | Aluminium | 15,0 200 1477 309 971 26 |78 | 09 28 33 921 | 920 | 908 0.76 0.09005 101 62
g C Q3HIBOL4C | Aluminium | 185 250 1474 395 199 25 |74 | 08 23 35 926 | 919 912 0.74 01051 14 58
Q3HSIBOM4B | Aluminium | 185 250 1474 395 199 25 |74 | 08 23 BI5 926 | 919 912 0.74 0.1398 18 67
Q3HI80L4B | Aluminium | 220 | 300 1485 416 1417 31 92 | 09 28 36 930 | 93l P23 083 018660 158 68
C Q3H180L4C | Aluminium | 30.0 | 400 1475 548 1942 25 |76 | 08 23 28 936 | 932 | 923 0.85 0.22165 187 69
Q3H200L4D | Aluminium | 300 | 400 1475 548 1955 27 |80 | 08 25 31 936 | 946 | 948 085 022166 194 68
Q3E22584B | Aluminium | 3700 | 50 1484 723 2386 29 |87 | 10 31 46 939 | 932 919 0.79 0.35800 225 71
Q3E225M4C | Aluminium | 4500 | 60 1483 869 2895 28 |84 10 29 48 942 | 937 | 928 08l 039700 250 71
Q3E250M4B | Aluminium | 5500 | 75 1475 106.2 3574 24 |72 | 09 27 43 946 | 949 | 946 080 045600 278 72

*  According to IEC 60034-2-1
**  The sound pressure measurements are taken 1m away from the motor
**  Tolerance +3 dBA

30 | WAT | IM en 221



RATED VALUES STARTING VALUES Break- Sound
EFFICIENCY *

down Weight ;

CURRENT TORQUE Pressure

HOTl\J(iIEIG POWER SPEED | CURRENT | TORQUE - T;“iue _ Level
atio

[l Mk/ Mn | 4/4
6 pole 1000 rpm

- Q3H90L6C | Aluminium | 075 | 10 950 21 76 49 = 25 = 30 789 | 784 | 749 067 | 000460 18 53
§ Q3H90L6D | Aluminium | 11 15 950 30 ml 45 - 26 - 29 810 | 806 | 783 067 | 000528 20 53
N
jo@ (Q3HI00L6D | Aluminium | 15 20 960 41 148 48 ° 26 = 30 825 | 817 | 782 085 001059 26 55
N Q3HI2MBD | Aluminium | 22 | 30 957 52 220 49 - 27 - 30 843 | 846 | 837 071 001383 32 57
Q3HI32S6A | Aluminum | 30 | 40 978 73 293 189 |87 | 06 | 20 25 856 | 852 | 828 068 | 003560 53 61
Q3HI32MBA | Aluminium | 40 | 55 975 91 392 20 | 60| 07 | 22 26 868 | 857 | 828 072 | 004030 58 60
Q3HI32M6B | Aluminium | 55 75 971 120 541 2] | 63| 07 21 26 880 | 876 | 853 075 | 005940 82 60
=4 (Q3HIBOM6C | Aluminium | 75 | 100 976 16,5 734 20 | 60| 07 | 22 30 891 | 890 | 880 073 | 007540 88 62
% Q3HiBOL6D | Aluminium | 10 | 150 974 242 107.8 21 | 63| 07 | 22 30 903 | 901 | 893 073 | 009000 101 62
S8 03HIS0L6B | Aluminium | 150 | 200 | 980 322 146.2 22 | 66 07 21 29 912 | 909 | 887 075 018660 155 68
Q3H200L6C | Aluminium | 185 | 250 98l 403 18011 23 | 69 | 06 18 27 97 | 916 913 072 | 023286 194 69
Q3H200L6D | Aluminium | 220 | 300 | 982 505 2139 29 | 50 | 06 19 22 922 | 922 | 916 069 0.22166 193 69
Q3E225M6C | Aluminium | 300 | 400 | 975 591 2938 19 | 61 | 06 18 25 929 | 928 | 918 080 | 052900 238 71

*  According to IEC 60034-2-1
**  The sound pressure measurements are taken 1m away from the motor
**  Tolerance +3 dBA

31 | WAT | IM en 221



DIMENSION - B3

© G

O
\®\ —
E
< o
075 Q3H8OM2C | Auminum | 158 | 268 | xM20 | 100 | 125 80 26 | 10 | 50 | 19 | 40 | 215 | 6 | 6204-ZZ  6204-ZZ | 20*30*7 | 20*30*7
075 | 4 Q3HBOM4D | Aluminum | 158 | 268 | IXM20 | 100 | 125 | 80 | 216 | 10 | 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
075 | 6 Q3HIOLEC | Aluminium | 172 | 344 | IXM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25%40*7 | 25%40*7
1 2 Q3HBOM2D | Aluminium | 158 | 268 | IXM20 | 100 | 125 | 80 216 | 10 | 50 | 19 | 40 | 215 | B | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
c 1 4 Q3HSBOMADE | Aluminium | 158 = 268 | «M20 | 100 | 125 80 | 216 | 10 | 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
1 4 Q3HS90S4C | Aluminium | 158 | 303 | xM25 | 100-125 | 140 | 90 | 213 | 10 | 56 | 24 | 50 | 27 | 8 |6305-ZZ  6204-7Z | 25*40*7 | 20*30*7
1 6 Q3HIOLED | Aluminium | 172 | 344 | IXM25 | 100125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | B6305-ZZ | 6205-ZZ | 25%40*7 | 25%40*7
B 15 2 Q3HSOM2DE | Aluminium | 158 = 268 | «M20 | 100 | 125 80 | 216 | 10 | 50 | 19 | 40 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
15 2 Q3HS90S2C | Aluminium | 158 | 303 | M25 | 100-125 | 140 | 90 | 213 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ 6204-ZZ | 25*40*7 | 20*30*7
15 4 Q3HIOLAD | Aluminum | 172 | 344 | IXM25 | 100125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 = 8 | 6305-ZZ | 6205-ZZ | 25%40*7 | 25*40*7
15 6 Q3HIOOLBD | Aluminium | 191 | 400 | IXM25 | 140 | 180 | 100 243 | 12 | 63 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7
22 2 Q3HYOL2D | Aluminium | 172 | 344 | IXM25 | 100125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25%40*7 | 25%40*7
c 22 4 Q3HYOLADE | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ| 6205-ZZ | 25*40*7 | 25*40*7
22 4 Q3HSIO0LAC | Aluminium | 172 | 384 | XM25 | 140 | 180 | 100 | 233 | 12 | 63 | 28 | 60 | 31 | 8 | B6306-ZZ | 6205-ZZ | 30*47*7 | 25%40*7
22 6 Q3HI2MBD | Aluminium | 210 | 396 | M25 | 140 | 190 | M2 | 265 | 12 | 70 | 28 | 60 | 31 | 8 | 6306-ZZ| 6206-ZZ | 30%47*7 | 30%47*7
G 3 2 Q3HYOL2E | Auminum | 172 | 344 | 1xM25 | 100-125 | 140 | 90 (223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7
3 2 Q3HSIO0L2C | Aluminium | 172 | 349 | IxM25 | 140 | 160 | 100 | 233 | 12 | 63 | 28 | 60 | 31 | 8 | B306-ZZ | 6205-ZZ | 30*47*7 | 25%40*7
3 4 Q3HIOOL4D | Aluminium | 191 | 400 | IXM25 | 140 | 180 | 100 243 | 12 | 63 | 28 | 60 | 31 | 8 | B6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7
3 6 Q3HI32S6A | Aluminium | 260 | 481 | M32 | 140178 | 216 | 132 | 32 | 12 | 89 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*I0 | 40*62*I0
© 4 2 Q3HIOOL2DE | Aluminium | 191 | 400 | M25 | 140 | 160 100 | 243 | 12 | 63 | 28 | B0 | 31 | 8 | B306-ZZ  6205-ZZ | 30*47*7 | 30*47*7
4 2 Q3HSI2M2C | Aluminium | 191 | 400 | WM25 | 140 | 190 W2 254 | 12 | 70 | 28 | B0 | 31 | 8 | B306-ZZ  6205-ZZ | 30*47*7 | 25*40*7
© 4 4 Q3HIOOL4E | Aluminium | 191 | 422 | xM25 | 140 | 160 | 100 | 243 | 12 | 63 | 28 | 60 | 31 | 8 | 6306-ZZ| 6205-ZZ | 30%47*7 | 30%47*7
4 4 Q3HI2M4D | Aluminium | 210 | 396 | xM25 | 140 | 190 | M2 | 265 | 12 | 70 | 28 | 60 | 31 | 8 | 6306-ZZ| 6206-ZZ | 30%47*7 | 30%47*7
4 6 Q3HI32MBA | Aluminium | 260 | 481 | IXM32 | 140-178 | 216 | 182 | 312 | 12 | 89 | 38 80 | 41 | 10 |6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
¢ 55 2 Q3HIOOL2E | Aluminium | 192 | 41l | xM25 | 140 | 160 | 100 | 243 | 12 | 63 | 28 | 60 | 31 | 8 | 6306-ZZ| 6205-ZZ | 30%47*7 | 30%47*7
B 55 2 Q3HN2M2D | Aluminium | 210 | 396 | xM25 | 140 | 190 | M2 | 265 | 12 | 70 | 28 | 60 | 31 | 8 | 6306-ZZ| 6206-ZZ | 30%47*7 | 30%47*7
55 2 Q3HSI32S2C | Aluminium | 210 | 422 | IXM25 | 140-178 | 216 | 132 | 283 | 12 | 89 | 38 | 80 | 41 | 10 | 6208-ZZ | 6206-ZZ | 40*62*I0 | 30*47*7
G 55 4 Q3HI2MAE | Aluminium | 210 | 421 | xM25 | 140 | 190 | W2 | 265 | 12 | 70 28 | 60 | 31 | 8 |6306-ZZ  6206-ZZ | 30*47*7 | 30*47*7
55 4 Q3HI3254B | Aluminium | 260 | 481 | IXM32 | 140-I78 | 216 | 132 | 312 | 12 | 89 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
55 6 Q3HI32MBB | Aluminium | 260 | 481 | xM32 | 140-I78 | 216 | 132 | 312 | 12 | 89 | 38 | 80 | 41 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*I0
c 75 2 Q3HN2M2DE | Aluminium | 210 | 421 | XM25 | 140 | 190 |12 265 12 | 70 | 28 | 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7
75 2 Q3HSI3252D | Aluminium | 210 | 448 | XM25 | 140-178 | 216 | 132 | 283 | 12 | 89 38 | 80 | 41 | 10 | 6208-ZZ | 6206-ZZ | 40*62*I0 | 30*47*7
75 4 Q3HI32M4D | Aluminium | 260 | 481 | xM32 | 140-178 | 216 | 132 | 312 | 12 | 89 | 38 | 80 | 41 10 | 6208-ZZ| 6208-ZZ | 40*62*10 | 40*62*I0
75 6 Q3HIBOMBC | Aluminium | 305 | 591 | 1XM32 | 210-254 | 254 | 160 | 368 | 145 108 | 42 | W0 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 @ 45*72*10

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885

32 | WAT | IM en 221



Power | Number Housi Drive Non drive Non drive
2
SIZE (kW) Votor Tpe -n“.......
C n

Q3HI32M2A Aluminium | 260 IXM32 | 140-178 132 12 | 89 6208-7Z | 6208-ZZ | 40*62*10 40*62*10

n 2 Q3HSIBOM2D | Aluminium | 260 | 520 | 1xM32 | 210-254 | 254 | 160 | 351 | 145 | 108 | 42 | 10 | 45 | 12 |6309-ZZ | 6208-ZZ & 45*72*10 40*62*10

C n 4 Q3HI32M4E Aluminium | 260 | 520 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 89 | 38 | 80 | 4l 10 | 6309-ZZ | 6209-ZZ | 40*62*10 40*62*10
n 4 Q3HSIBOM4C | Aluminium | 260 | 578 | 1xM32 | 210-254 | 254 | 160 | 351 | 145|108 | 42 | WO | 45 | 12 | 6309-ZZ  6208-ZZ | 45*72*10 40*62*10

n 6 Q3HieoLeD Aluminium | 305 591 | 1xM32 | 210-254 | 254 | 160 | 368 | 145 | 108 | 42 | N0 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 45*72*10

C 15 2 Q3HI32M2B Aluminium | 260 | 520 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 89 H 38 | 80 | 4l 10 | 6208-ZZ | 6208-ZZ | 40*62*10 40*62*10
15 2 Q3HSIBOM2DE | Aluminium | 260 | 580 | 1xM32 | 210-254 | 254 | 160 | 351 | 145 | 108 | 42 | 10 | 45 | 12 | 6309-ZZ | 6208-ZZ | 45*72*10 40*62*10

15 4 Q3H160L4B Aluminium | 305 591 | 1xM32 | 210-254 | 254 | 160 | 368 | 145 | 108 | 42 | N0 | 45 | 12 | 6309-ZZ| 6209-ZZ | 45*72*10 45*72*10

15 6 Q3HiIBoL6B Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | N0 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 50*80*10

185 2 Q3Hie0L2C Aluminium | 305 591 | 1xM32 | 210-254 | 254 | 160 | 368 | 145 | 108 | 42 | N0 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 45*72*10

C 185 4 Q3H1e0L4C Aluminium | 305 591 IxM32 | 210-254 | 254 | 160 | 368 | 145|108 | 42 | N0 | 45 | 12 | 6309-ZZ 6209-ZZ | 45*72*10 45*72*10
185 4 Q3HSIBOM4B | Aluminium | 305 | 596 | 1xM32 | 241-279 | 279 | 180 1 398 | 145 | 121 | 48 | 10 | 515 | 14 | 6310-ZZ | 6209-ZZ | 50*80*10 45*72*10

185 6 Q3H200L6C Aluminium | 349 | 750 | 1xM50 305 318 | 200 | 455 | 185 | 133 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 60*90*10

C 22 2 Q3H160L2D Aluminium | 305 591 IXM32 | 210-254 | 254 | 160 | 368 | 145|108 | 42 | 10 | 45 | 12 | 6309-ZZ  6209-ZZ | 45*72*10 45*72*10
22 2 Q3HSIBOM2B | Aluminium | 305 | 596 | 1xM32 | 241-279 | 279 | 180 | 398 | 145 | 121 | 48 | N0 | 5.5 | 14 | 6310-ZZ | 6209-ZZ | 50*80*10 45*72*10

22 4 Q3HI80L4B Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | N0 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 50*80*10

22 6 Q3H200L6D Aluminium | 349 | 759 | 1xM50 | 267-305 | 318 | 200 | 455 | 185 | 133 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 60*90*10

C 30 2 Q3H180M2B Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 437 145 | 121 | 48 | WO | 515 | 14 | 6310-ZZ @ 6310-ZZ | 50*80*10 50*80*10
30 2 Q3H200L2C Aluminium | 349 | 706 | 1xM50 | 267-305 | 318 | 200 | 455 185 | 133 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 60*90*10

C 30 4 Q3HisoL4C Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | N0 | 515 | 14 | 6310-ZZ @ 6310-ZZ | 50*80*10 50*80*10
30 4 Q3H200L4D Aluminium | 349 | 759 | 1xM50 | 267-305 | 318 | 200 | 455 185 | 133 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 60*90*10

30 6 Q3E225M6C Aluminium | 456 | 765 | 1xM50 | 286-311 | 356 | 225 | 485 185 | 149 | 60 | 140 | 64 | 18 | 6313-ZZ | 6313-ZZ | 65*100*13 65*100*13

37 2 Q3H200L2D Aluminium | 349 | 706 | 1xM50 305 318 | 200 | 455 185 | 133 | 55 | N0 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 60*90*10

37 4 Q3E225M4B Aluminium | 456 | 765 | 1xM50 | 286-311 | 356 | 225 | 485 185 | 149 | 60 140 | 64 | 18 | 6313-ZZ @ 6313-ZZ | 65*100*13 65*100*13

SC 45 2 Q3HI80L2DE Aluminium | 349 | 750 | 1xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | N0 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 50*80*10
C 45 2 Q3H200L2DE | Aluminium | 349 | 759 | IxM50 | 267-305| 318 1200 455|185 133 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 60*90*10
45 2 Q3E225M2B Aluminium | 456 | 735 | 1xM50 | 286-311 | 356 | 225 | 485 | 185 | 149 | 55 | 10 | 59 | 16 | 6313-ZZ | 6313-ZZ | 65*100*13 65*100*13

45 4 Q3E225M4C Aluminium | 456 | 765 | 1xM50 | 286-311 | 356 | 225 | 485 185 | 149 | 60 | 140 | 64 | 18 | 6313-ZZ | 6313-ZZ | 65*100*13 65*100*13

55 2 Q3E250M2A Aluminium | 527 | 886 | 2xM50 349 406 | 250 | 615 | 24 | 149 | 60 | 140 | 64 | 18 | 6315-2Z | 6313-2Z | 75*12*12 65*100*13

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885

33 | WAT | IM en 221



DIMENSION - B5, B35

@P

\ @@
EA i {o o/o
M= |
5|8 T
= i = —\
25 |
A o o Ho
K
£ C B
L

Flange [FA) (BS]

— e T he e [
075 2 Q3H8OM2C | Aluminium | 158 | 268 | 1xM20 | 100 12580 | 216 | 10 |19 40| 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 | - | 12
075 4 Q3H8OM4D | Aluminium | 158 | 268 | 1xM20 100 125 |80 | 216 | 10 |19 40| 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 - | 12
075 6 Q3H9OLBC | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 |24 | 50 | 27 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - | 12
11 2 Q3H80M2D | Aluminium | 158 | 268 | xM20 100 125 |80 | 216 | 10 |19 | 40| 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 - | 12

C 1 4 Q3H8OM4DE | Aluminium | 158 | 268 | 1xM20 | 100 12580 | 216 | 10 |19 | 40| 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 | - | 12
1l 4 Q3HS90S4C | Aluminium | 158 | 303 | 1xM25 | 100-125 | 140 | 90 | 213 | 10 |24 | 50 | 27 | 8 |6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 200 | 130 | 165 | - | 12
11 6 Q3HI0LED | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 |24 | 50 | 27 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - | 12

C 15 2 Q3H8OM2DE | Aluminium | 158 | 268 | 1xM20 | 100 125 |80 | 216 | 10 |19 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 - | 12
15 2 Q3HS90S2C | Aluminium | 158 | 303 | 1xM25 | 100-125 | 140 | 90 | 213 | 10 |24 | 50 | 27 | 8 |6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 200 | 130 | 165 | - | 12
15 4 Q3H90L4D | Aluminium | 172 | 344 | IxM25 | 100-125 | 140 | 90 | 223 | 10 |24 | 50 | 27 | 8 |6305-ZZ  6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 - | I2
15 6 Q3HI00LED | Aluminium | 191 | 400 | IxM25 | 140 160 | 100 | 243 | 12 |28 | 60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - | 145
22 2 Q3H90L2D | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 |24 | 50 | 27 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - | 12

C 22 4 Q3H9OL4DE | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 |24 | 50 | 27 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 130 | 165 | - | 12
22 4 Q3HSI00L4C | Aluminium | 172 | 384 | IxM25 | 140 160 | 100 233 | 12 |28 | 60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 | 180 | 215 | - | 145
22 6 Q3HI2MBD | Aluminium | 210 | 396 | 1xM25 140 190 | 12 | 265 | 12 |28 |60 | 31 | 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 2I5 | - | 145

C 3 2 Q3H90L2E | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 |24 | 50 | 27 | 8 |6305-ZZ  6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - | 12
3 2 Q3HSI00L2C | Aluminium | 172 | 349 | IxM25 140 160 | 100 | 233 | 12 |28 |60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 | 180 | 2I5 | - | 145
3 4 Q3HI00L4D | Aluminium | 191 | 400 | IxM25 140 160 | 100 | 243 | 12 |28 |60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - | 145
3 6 Q3HI32S6A | Aluminium | 260 | 481 | IxM32 | 140-178 | 216 | 132 | 312 | 12 |38 |80 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 | - | 145

C 4 2 Q3HIOOL2DE | Aluminium | 191 | 400 | 1xM25 140 160 | 100 | 243 | 12 |28 |60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 2I5 | - | 145
4 2 Q3HSN2M2C | Aluminium | 191 | 399 | 1xM25 140 190 | 12 | 254 | 12 |28 |60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 | 180 | 215 | - | 145

C 4 4 Q3HIOOL4E | Aluminium | 191 | 422 | 1xM25 140 160 | 100 | 243 | 12 |28 |60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 2I5 | - | 145
4 4 Q3HI2M4D | Aluminium | 210 | 396 | IxM25 140 190 | 12 | 265 | 12 |28 |60 | 31 | 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - | 145
4 6 Q3HI32MBA | Aluminium | 260 | 481 | IxM32 | 140-178 | 216 | 132 | 312 | 12 |38 | 80 | 4l | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 230 | 265 | - | 145

SC 55 2 Q3HIOOL2E | Aluminium | 192 | 411 | IxM25 140 160 | 100 | 243 | 12 |28 |60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 2I5 | - | 145

C 55 2 Q3HI2M2D | Aluminium | 210 | 396 | IxM25 140 190 | 12 | 265 | 12 |28 |60 31 | 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - | 145
55 2 Q3HS132S2C | Aluminium | 210 | 422 | 1xM25 | 140-178 | 216 | 132 | 283 | 12 |38 | 80 | 41 | 10 | 6208-ZZ | 6206-ZZ 40*62*10 | 30*47*7 | 300 | 230 | 265 | - | 145

C 55 4 Q3HI2M4E | Aluminium | 210 | 421 | IxM25 140 190 | 12 | 265 | 12 |28 |60 | 31 | 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - | 145
55 4 Q3HI3254B | Aluminium | 260 | 481 | IxM32 | 140-178 | 216 | 132 | 312 | 12 |38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 230 | 265 | - 145
55 6 Q3HI32M6B | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 182 | 312 | 12 | 38| 80 | 41 |10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 | - | 145

C 75 2 Q3HN2M2DE | Aluminium | 210 | 421 | IxM25 140 190 | 12 | 265 | 12 |28 |60 | 31 | 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - | 145
75 2 Q3HS132S2D | Aluminium | 210 | 448 | 1xM25 | 140-178 | 216 | 132 | 283 | 12 |38 | 80 | 41 | 10 | 6208-ZZ | 6206-ZZ 40*62*10 | 30*47*7 | 300 | 230 | 265 | - | 145
75 4 Q3HI32M4D | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 182 | 312 | 12 | 38| 80 | 41 |10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 | - 145

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885
(3) Tolerance DIN EN 50347 “j6”

34 | WAT | IM en 22



Number )
Power i Housing - Dr|ve Non drive Non drive .

Q3HIBOMEC  Aluminium | 305\ 591 \ M3z | 210-254 254\ 160 \368 \145 42| 0 \ 2 | 6300-22 | 6209-7Z | 45*72"0 | 45%72"10 | 350 | 250 \ 300 | - \18,5

@

o
a

C n 2 Q3HI32M2A | Aluminium | 260 | 481 | IxM32 | 140-178 | 216 | 132 | 312 | 12 |38 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 - | 145
n 2 Q3HSIBOM2D | Aluminium | 260 | 520 | 1xM32 | 210-254 | 254 | 160 | 351 145 42 | N0 | 45 | 12 | 6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10 | 350 | 250 | 300 | - | 185
C n 4 Q3HI32M4E | Aluminium | 260 | 520 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6309-ZZ | 6209-ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 | - | 145
n 4 Q3HSIBOM4C | Aluminium | 260 | 580 | 1xM32 | 210-254 | 254 | 160 | 351 | 145 42 | 10 | 45 | 12 | 6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10 | 350 | 250 | 300 | - | 185
n 6 Q3HIBOLBD | Aluminium | 305 | 591 | 1xM32 | 210-254 | 254 | 160 | 368 | 145 | 42 | 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 | - | 185
C 15 2 Q3H1I32M2B | Aluminium | 260 | 520 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38| 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 230 265 | - 145
15 2 Q3HSIBOM2DE | Aluminium | 260 | 580 | 1xM32 | 210-254 | 254 | 160 | 351 | 145| 42 | 10 | 45 | 12 | 6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10 | 350 | 250 | 300 | - | 185
15 4 Q3HIBOL4B | Aluminium | 305 | 591 | 1xM32 | 210-254 | 254 | 160 | 368 145 42 | 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 K 300 | - | 185
15 6 Q3HIBOL6B | Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 437 145 | 48| 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 | 250 | 300 | - | 185
C 185 4 Q3HIBOL4C | Aluminium | 305 | 591 | 1xM32 | 210-254 | 254 | 160 | 368 | 145 | 42 | 0 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 | - | 185
185 4 Q3HSIBOM4B | Aluminium | 305 | 596 | IxM32 | 241-279 | 279 | 180 | 398 | 145 | 48 | 10 | 515 | 14 | 6310-ZZ | 6209-ZZ | 50*80*10 | 45*72*10 | 350 | 250 | 300 | - | 185
185 6 Q3H200L6C | Aluminium | 349 | 750 | 1xM50 305 | 318 200 | 455 185 /55| 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10 | 400 300 350 | - 185
C 22 2 Q3HIB0L2D | Aluminium | 305 | 591 | 1xM32 | 210-254 | 254 | 160 | 368 | 145 | 42 | 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 | - | 185
22 2 Q3HSIB0OM2B | Aluminium | 305 | 596 | IxM32 | 241-279 | 279 | 180 | 398 | 145| 48 10 | 515 | 14 | 6310-ZZ | 6209-ZZ | 50*80*I0 | 45*72*10 | 350 | 250 300 - 185
22 4 Q3HIBOL4B | Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 437 | 145 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 | 250 | 300 | - | 185
22 6 Q3H200L6D | Aluminium | 349 | 759 | 1xM50 305 | 318 200 | 455 185 55|10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10 | 400 300 350 | - 185
C 30 2 Q3HIBOM2B | Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 437 | 145 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 | 250 | 300 | - | 185
30 2 Q3H200L2C | Aluminium | 349 | 706 | 1xMS0 305 | 318|200 | 455 185 |55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10 | 400 | 300 | 350 | - | 185
C 30 4 Q3HIBOL4C | Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 437 145 | 48| 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 | 250 | 300 | - | 185
30 4 Q3H200L4D | Aluminium | 349 | 759 | IxM50 305 | 318 200 | 455 185 55|10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10 | 400 300 350 | - 185
30 6 Q3E225MBC | Aluminium | 456 | 765 | 1xM50 | 286-311 | 356 | 225 | 485 | 185 60 | 140 | 64 | 18 | 63I13-ZZ | 6313-ZZ | 65*100*13 | 65*100*13 | 450 | 350 | 400 | - | 185
37 2 Q3H200L2D | Aluminium | 349 | 706 | IxM50 305 | 318 200 | 455 185 /55| 10 | 59 | 6 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10 | 400 300 350 | - 185
37 4 Q3E225M4B | Aluminium | 456 | 765 | 1xMS0 | 286-311 | 356 | 225 | 485 | 185 60 | 140 | 64 | 18 | 6313-ZZ | 63I13-ZZ | 65*100*13 | 65*100*13 | 450 | 350 | 400 | - | 185
SC 45 2 Q3HIBOL2DE | Aluminium | 349 | 750 | 1xM40 | 241-279 | 279 | 180 | 437 | 145 48 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*I0 | 350 | 250 | 300 | - | 185
C 45 2 Q3H200L2DE | Aluminium | 349 | 759 | 1xMSO 23%75_ 318 | 200 | 455 18555 10| 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10 | 400 | 300 350 - | 185
45 2 Q3E225M2B | Aluminium | 456 | 735 | 1xM50 | 286-31l | 356 | 225 | 485 185 55 10 | 59 | 16 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13 | 450 | 350 | 400 | - | 185
45 4 Q3E225M4C | Aluminium | 456 | 765 | 1xM50 | 286-3Il | 356 | 225 | 485 | 185 60 | 140 | 64 | 18 | 63I13-ZZ | 6313-ZZ | 65*100*13 | 65*100*13 | 450 | 350 | 400 | - | 185
55 2 Q3E250M2A | Aluminium | 527 | 886 | 2*MS0 | 349 | 406 | 250 | 615 | 24 | 60 140 | 64 | 18 | 6315-2Z | 6313-2Z | 75*N2*12 | 65*100*13 | 550 | 450 | 500 | - | 185

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885
(3) Tolerance DIN EN 50347 “j6”

35 | WAT | IM en 22]



DIMENSION - Bl4a, B34a

SSRSS

i ‘ 7 F
E= o o o m
o= \g‘» A I %o (\ T %
ASYASY pig:= =, = YL -
== | »
[S] o] o D
s : 1 —
K
E C B
L

- ST TR

0.75 2 Q3HBOM2C | Aluminium | 158 | 268 | 1xXM20 100 12580 | 216 | 10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 | - | M6
0.75 4 Q3H80M4D | Aluminium | 158 | 268 | IxM20 100 12580 | 216 | 10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 | - | M6
0.75 6 Q3H90L6C | Aluminium | 172 | 344 |1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 |- | M8

11 2 Q3H80M2D | Aluminium | 158 | 268 |1xM20| 100 | 125 80 | 216 |10 | 19 | 40 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 ' 120 1 80 /100 | - | M6

C 11 4 Q3HBOM4DE | Aluminium | 158 | 268 |IxM20 | 100 |125| 80 216 | 10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 | - | M6
11 4 Q3HS90S4C | Aluminium | 158 | 303 | 1xM25 | 100-125 | 140 | 90 | 213 | 10 | 24 50 | 27 | 8 | 6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 140 ' 95 | 15 | - M8
11 6 Q3H90L6D | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | N5 | - | M8
C 15 2 Q3HBOM2DE | Aluminium | 158 | 268 |IxM20 | 100 |125|80 216 | 10 |19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 1 80 | 100 | - M6
15 2 Q3HS90S2C | Aluminium | 158 | 303 | IxM25 | 100-125 | 140 | 90 | 213 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 140 | 95 | 5 | - | M8
15 4 Q3H90L4D | Aluminium | 172 | 344 | 1xM25 | 100-125 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 140 | 95 15 | - | M8

15 6 Q3HI00L6D | Aluminium | 191 | 400 |1xM25| 140 160 100 | 243 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 | - | M8

22 2 Q3H90L2D | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | N5 | - | M8
C 22 4 Q3H9OL4DE | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | N5 | - | M8
22 4 Q3HSI00L4C | Aluminium | 172 | 384 | 1xM25 | 140 160 100 | 233 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 10 | 130 - M8
22 6 Q3HN2MBD | Aluminium | 210 | 396 | IxM25 | 140 190 | 112 | 265 12 |28 | 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 | - | M8
C 3 2 Q3HI9OL2E | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 | - | M8
3 2 Q3HSI00L2C | Aluminium | 172 | 349 | 1xM25 | 140 160 | 100 | 233 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 10 | 130 | - | M8
3 4 Q3HI00L4D | Aluminium | 191 | 400 | 1xM25 | 140 160 | 100 | 243 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 160 | N0 | 130 | - | M8
3 6 Q3HI32S6A | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - K MIO
C 4 2 Q3HIOOL2DE | Aluminium | 191 | 400 | 1xM25 | 140 160 | 100 | 243 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 160 | N0 | 130 | - | M8
4 2 Q3HSN2M2C | Aluminium | 191 | 399 |IxM25 | 140 190 | 12 | 254 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | N0 | 130 | - | M8
C 4 4 Q3HIOOL4E | Aluminium | 191 | 422 | IxM25 | 140 | 160 | 100 243 | 12 | 28 60 | 31 | 8 | 6306-ZZ  6205-ZZ  30*47*7 | 30*47*7 | 160 | 10 | 130 | - | M8
4 4 Q3HN2M4D | Aluminium | 210 | 396 | IxM25 | 140 | 190 | m2 | 265 | 12 | 28 60 | 31 | 8 | 6306-ZZ  62086-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 | - | M8

4 6 Q3HI32M6A | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO

(1) Tolerance DIN EN 50347 "j6" up to 28mm, "k6" above 28mm
(2) According to DIN 6885
(3) Tolerance DIN EN 50347 "j6"

36 | WAT | IM en 221



an Dimensions Foot Mounted Motors Shaft Flange [FC) (Bl4a)

Number Housing . : Non drive ) ) Non drive .
of Motor Type GA Drive Side ' Drive Side ' T M S
Type Side Side
Poles
130 | - | M8

2 Q3HIOOL2E | Aluminium 1xM25 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 160 | 10
C 55 2 Q3Hn2M2D | Aluminium | 210 | 396 | IxM25| 140 190 | 12 | 265 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 | - M8

55 2 Q3HS132S2C | Aluminium | 210 | 422 | 1xM25 | 140-178 | 216 | 132 | 283 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6206-ZZ | 40*62*10 K 30*47*7 | 200 | 130 | 165 | - | MIO
C 55 4 Q3HN2M4E | Aluminium | 210 | 421 |1xM25| 140 190 | 112 | 265 12 |28 | 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 | - | M8
5.5 4 Q3H132S4B | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 200 130 165 | - | MIO

55 6 Q3H132M6B | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO
C 75 2 Q3HN2M2DE | Aluminium | 210 | 421 | 1xM25 | 140 190 | 12 | 265 | 12 | 28| 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 160 | N0 | 130 | - | M8
75 2 Q3HS132S2D | Aluminium | 210 | 448 | 1xM25 | 140-178 | 216 | 132 | 283 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7 | 200 | 130 | 165 | - K MIO

7.5 4 Q3HI32M4D | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO

C n 2 Q3HI32M2A | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO
C I 4 Q3HI32M4E | Aluminium | 260 | 520 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 K 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 200 | 130 | 165 | - | MIO
C 15 2 Q3HI32M2B | Aluminium | 260 | 520 | IxM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO

(1) Tolerance DIN EN 50347 "j6" up to 28mm, "k6" above 28mm
(2) According to DIN 6885
(3) Tolerance DIN EN 50347 "j6"

37 | WAT | M en 221



DIMENSION - Blab, B34b

7 <
= — ) i
= : ==
Sla|el =0 - }
L g |
A = ‘
T TTIF =
| <1
£ C | B |
L

Number

Lx90°

Flange [FB] (Bl4b)

of Motor Type Housing 'ﬂ Drive Side Non drive
Poles Type Side Side Side
075 2 Q3H8OM2C | Aluminium | 158 | 268 |IxM20 | 100 |125|80 216 |10 | 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8
075 4 Q3H8OM4D | Aluminium | 158 | 268 |1xM20 | 100 | 125 |80 216 |10 | 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8
075 6 Q3H90L6C | Aluminium | 172 | 344 | IxM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8
11 2 Q3H80M2D | Aluminium | 158 | 268 | 1xM20 100 12580 | 216 |10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8
C 11 4 Q3HBOM4DE | Aluminium | 158 | 268 | 1xM20 100 12580 | 216 |10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8
11 4 Q3HS90S4C | Aluminium | 158 | 303 | IxM25 | 100-125 | 140 | 90 | 213 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 160 | 10 | 130 M8
11 6 Q3H90L6D | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8
C 15 2 Q3HBOM2DE | Aluminium | 158 | 268 | xM20 100 125,80 216 10 19 | 40 | 215 | 6 | 6204-ZZ 6204-ZZ | 20*30*7 | 20*30*7 | 160 | N0 | 130 M8
15 2 Q3HS90S2C | Aluminium | 158 | 303 | IxM25 | 100-125 | 140 | 90 | 213 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 160 | 1O | 130 M8
15 4 Q3H90L4D | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8
15 6 Q3HI00L6D | Aluminium | 191 | 400 | IxM25 | 140 | 160 | 100 243 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 MIo
22 2 Q3H90L2D | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8
C 22 4 Q3H9OL4DE | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8
22 4 Q3HSI00L4C | Aluminium | 172 | 384 | IxM25| 140 | 160 | 100 | 233 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 MIO
22 6 Q3HN2MBD | Aluminium | 210 | 396 | IxM25| 140 | 190 N2 | 265 |12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 MI0
c 3 2 Q3H9OL2E | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8
3 2 Q3HSI00L2C | Aluminium | 172 | 349 | 1xM25 | 140 | 160 | 100 | 233 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 MIO
3 4 Q3HI00L4D | Aluminium | 191 | 400 | 1xM25 | 140 | 160 | 100 243 |12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 MI0
3 6 Q3HI32S6A | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 |10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 M2
Cc 4 2 Q3HIOOL2DE | Aluminium | 191 | 400 | 1xM25 | 140 | 160 | 100 | 243 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 MIo
4 2 Q3HSTI2M2C | Aluminium | 191 | 399 | IxM25 140 190 | 112 | 254 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 MI0
C 4 4 Q3HIOOL4E | Aluminium | 191 | 422 | IxM25 140 160 | 100 | 243 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 MI0
4 4 Q3HN2M4D | Aluminium | 210 | 396 | IxXM25 140 190 | M2 | 265 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 MI0
4 6 Q3HI32MBA | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10  6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 180 | 215 M2

(1) Tolerance DIN EN 50347 "j6" up to 28mm, "k6" above 28mm

(2) According to DIN 6885

(3) Tolerance DIN EN 50347 "j6"

38 | WAT | IM en 221



S

Number Housin Drive | Non drive Non drive
u Motor Type 0 L A | H|HD|K|DV"| E | GA|F ) ) Drive Side NE M
Type Side Side Side
Poles
41 160 | 100 | 243 | 12 | 28 | 60 | 3

SC 55 2 Q3HIO0L2E | Aluminium | 192 IXM25 | 140 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | - | MIO

C 55 2 Q3HI2M2D | Aluminium | 210 | 396 | IxM25 | 140 190 | T2 | 265 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 1 200 | 130 K 165 | - | MIO

55 2 Q3HSI132S2C | Aluminium | 210 | 422 | IxM25 | 140-178 | 216 | 132 | 283 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7 | 250 | 180 | 215 | - | M2
Q3HI2M4E | Aluminium | 210 | 421 | IxM25| 140 190 | 12 | 265 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 130 | 165 | - | MIO
55 Q3HI32S4B | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 | - | MI2

55 6 Q3HI32M6B | Aluminium | 260 | 481 | IxM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 @ 215 | - | M2

C 75 2 Q3HII2M2DE | Aluminium | 210 | 421 | IxM25 | 140 | 190 | 12 | 265 |12 | 28 | 60 | 31 | 8 | 6306-ZZ  6206-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | - | MIO
75 2 Q3HSI32S2D | Aluminium | 210 | 448 | IxM25 | 140-178 | 216 | 132 | 283 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7 | 250 | 180 | 215 | - | M2
75 4 Q3HI32M4D | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 180 | 215 | - | MI2

C n 2 Q3HI32M2A | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 H 6208-ZZ  6208-ZZ | 40*62*10 | 40*62*10 | 250 180 @ 215 | - | MI2
C n 4 Q3HI32M4E | Aluminium | 260 | 520 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 | - | Mi2

C 15 2 Q3HI32M2B | Aluminium | 260 | 520 | IxM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 @ 215 | - | M2

(1) Tolerance DIN EN 50347 "j6" up to 28mm, "k6" above 28mm
(2) According to DIN 6885
(3) Tolerance DIN EN 50347 "j6"

39 | WAT | IM en 221



ELECTRICAL CHARACTERISTICS AT 50 H:z

D VALUES STARTING VALUES Break- - Sound
down EFFICIENCY * Weight | o,
URRENT TORQUE Cosg J Pressure
HOUSING POWER SPEED | CURRENT | TORQUE - Torque (B3) Level
kW HP rpm A Nm A 4/4 k kg

A A A Mk/ Mn | 4/4 | 3/4 | 2/4

2 pole 3000 rpm

Q3N80S2C | Aluminium | 075 1 2890 18 25 77 34 41 807 | 776 | 732 077 57
B Q3N80S2D | Aluminium | 11 15 2880 23 37 82 33 4 827 | 806 | 774 082 58
§ Q3N90S2C | Aluminium | 15 2 2885 31 S 74 29 35 842 | 826 | 805 083 61
Bl Q3N90S2D | Aluminium | 22 3 2880 46 73 56 34 37 859 | 857 | 845 08l 62
Q3N100S2C | Aluminium | 3 4 2913 57 98 98 32 47 871 | 873 | 855 088 65

4 pole 1500 rpm

Q3N80S4C | Aluminium | 055 | 075 | 1425 14 38 6.4 3 34 808 | 804 | 768 07 47
- Q3N80S4D | Aluminium | 075 11 1425 19 51 6 29 32 825 | 815 | 79l 072 48
§ Q3N90S4C | Aluminium | 11 15 1433 25 73 69 29 36 841 | 838 | 823 077 45
é Q3N90L4D | Aluminium | 15 22 1433 34 10 73 32 39 853 | 85 835 076 46
B Q3N100S4C | Aluminium | 2.2 3 1443 48 146 8 32 39 867 | 858 | 84l 078 48
Q3NI00L4D | Aluminium | 3 4 1445 66 198 8 33 38 877 | 871 | 849 076 Sl

*  According to IEC 60034-2-1
**  The sound pressure measurements are taken 1m away from the motor
**  Tolerance +3 dBA

40 | WAT | IM en 221



Q
IE3 THREE PHASE N SERIES ALUMINIUM MOTORS W

DIMENSION - B3

in Dimensions Foot Mounted Shaft Bearing
Power Housing Non‘dnve Non}dnve
(kW) | of Poles Type Side Side
055 4 Q3N80S4C Aluminium | 156 | 2557 | M20 100 12580 | 187 |10 | 50 | 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
075 2 Q3N80S2C Aluminium | 156 | 2557 | M20 100 12580 | 187 |10 | 50 19 | 40 | 215 | 6 | 6204-ZZ  6204-ZZ | 20*30*7 | 20*30*7
075 4 Q3N80S4D Aluminium | 156 | 2557 | M20 100 12580 | 187 |10 | 50 | 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
11 2 Q3N80S2D Aluminium | 156 | 2705 | M20 100 25|80 | 187 |10 | 50 | 19 | 40 | 215 | 6 |6204-ZZ  6204-ZZ | 20*30*7 | 20*30*7
11 4 Q3N90S4C Aluminium | 176 290 M25 100 140 | 90 210 10 | 56 | 24 | 50 | 27 8 | 6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7
15 2 Q3N90S2C Aluminium | 176 290 M25 100 140 | 90 210 0 | 56 | 24 | 50 | 27 8 | 6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7
15 4 Q3N90L4D Aluminium | 176 320 M25 125 140 | 90 210 0 | 56 | 24 |50 | 27 8 | 6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7
22 2 Q3N90S2D Aluminium | 176 | 290 | M25 100 140 | 90 | 210 | 10 | 56 | 24 | 50 | 27 | 8 |6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7
22 4 Q3N100S4C Aluminium | 196 | 340 | M25 140 160 | 100 | 2305 12 | 63 | 28 | 60 | QI 8 | 6206-ZZ | 6206-ZZ | 30*47*8 | 30*47*8
3 2 Q3N100S2C Aluminium | 196 | 340 | M25 140 160 | 100 | 2305 12 | 63 | 28 60 | QI 8 | 6206-ZZ | 6206-ZZ | 30*47*8 | 30*47*8
3 4 Q3N100L4D Aluminium | 196 | 370 | M25 140 160 | 100 | 2305 12 | 63 | 28 | 60 | QI 8 | 6206-ZZ | 6206-ZZ | 30*47*8 | 30*47*8

*  According to IEC 60034-2-1
**  The sound pressure measurements are taken 1m away from the motor
**  Tolerance +3 dBA

4] | WAT | 1M en 221



DIMENSION - B5, B35

I ”~ N\ /7\
HOW| [HOH - -
S N - -~ )
| T ; ¢
“ — -
- Lt f i
—4+—| E ¥ 7
s[58l] 297, l
- p— Y,
= sl — i
- - o — — -l
Y A ¥ T T A-A
1 - | - f KESIT A-A
i —

Motor Type | T%SM9 | ac | L Al w k] clov| e |ocal|r|oivesie| N9 | pive sie
Type Side
156 100 | 125 80 187 |10 50 |19 | 40

055 4 Q3N80S4C | Aluminium 2557| M20 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 198 | 130 | 165 | - | 12
075 2 Q3N80S2C | Aluminium | 156 | 2557 | M20 100 12580 187 10| 50 | 19| 40 | 215 | 6 | 6204-ZZ  6204-7ZZ | 20*30*7 | 20*30*7 | 198 | 130 | 165 | - 12
075 4 Q3N80S4D | Aluminium | 156 |2557| M20 100 12580 | 187 10| 50 | 19| 40 | 215 | 6 | 6204-ZZ | 6204-7ZZ | 20*30*7 | 20*30*7 | 198 | 130 | 165 | - | 12
1l 2 Q3N80S2D | Aluminium | 156 | 2557 | M20 100 125 |80 | 187 |10 | 50 |19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 198 | 130 | 165 | - | I2
1l 4 Q3N90S4C | Aluminium | 156 | 2557 | M20 100 12580 | 187 10| 50 | 19| 40 | 215 | 6 | 6204-ZZ | 6204-7ZZ | 20*30*7 | 20*30*7 | 198 | 130 | 165 | - | 12
15 2 Q3N90S2C | Aluminium | 1989 | 290 | M25 100 140 | 90 | 210 |10 | 56 | 24| 50 | 27 | 8 | 6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 1989 | 130 | 165 | - 12
15 4 Q3N90L4D | Aluminium | 1989 | 290 | M25 100 140 | 90 | 210 |10 | 56 |24 | 50 | 27 | 8 | 6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 1989 | 130 | 165 | - | 12
22 2 Q3N90S2D | Aluminium | 1989 | 290 | M25 100 140 | 90 | 210 |10 | 56 | 24| 50 | 27 | 8 | 6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 1989 | 130 | 165 | - | 12
22 4 Q3NI00S4C | Aluminium | 2489 | 340 | M25 140 160 | 100 [2305 12 | 63 | 28| 60 = 31 | 8 | 6206-ZZ | 6206-ZZ | 30*47*8 | 30*47*8 | 2489 180 | 215 | - | 145
3 2 Q3N100S2C | Aluminium | 2489 | 340 | M25 140 160 | 100 2305 12 | 63 | 28 60 | 31 | 8 | 6206-ZZ 6206-ZZ | 30*47*8 | 30*47*8 2489 180 | 215 | - | 145
3 4 Q3NI00L4D | Aluminium | 2489 | 370 | M25 140 160 | 100 2305| 12 | 63 | 28 60 | 31 | 8 | 6206-ZZ | 6206-ZZ | 30*47*8 | 30*47*8 2489 180 | 215 | - | 145

*  According to IEC 60034-2-1
**  The sound pressure measurements are taken 1m away from the motor
**  Tolerance +3 dBA

42 | WAT | IM en 221



DIMENSION - Bl4a, B34a

Housing 2 Non drive Non drive
. Tupe Tupe .."II.IIMII

055 4 Q3N80S4C | Aluminium 2557 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 168 | 80 | 100 | - | M6
075 Q3N80S2C | Aluminium | 156 | 2557 | M20 100 12580 187 10| 50 | 19 40 215 6  6204-ZZ  6204-ZZ | 20*30*7 | 20*30*7 168 | 80 | 100 | - M6
075 Q3N80S4D | Aluminium | 156 |2557| M20 100 12580 187 10| 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-7ZZ | 20*30*7 | 20*30*7 | 168 | 80 | 100 | - M6
1l Q3N80S2D | Aluminium | 156 | 2557 | M20 100 125 | 80 | 187 |10 | 50 |19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 |20*30*7 168 | 80 | 100 - | M6
1l Q3N90S4C | Aluminium | 176 | 290 | M25 100 140 | 90 | 210 |10 | 56 |24 | 50 | 27 | 8 | 6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 135 | 95 | 15 | - | M8
15 Q3N90S2C | Aluminium | 176 | 290 | M25 100 140 | 90 | 210 10| 56 |24 50 | 27 | 8 | 6205-ZZ  6205-ZZ | 25*40*7 | 25*40*7 | 135 | 95 | 15 | - M8
Q3N90L4D | Aluminium | 176 | 320 | M25 125 140 | 90 | 210 |10 | 56 |24 | 50 | 27 | 8 | 6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 135 | 95 | 15 | - | M8

8

8

8

8

Q3N90S2D | Aluminium | 176 | 290 | M25 100 140 | 90 | 210 |10 | 56 | 24| S0 | 27
Q3N100S4C | Aluminium | 196 | 340 | M25 140 160 | 100 |2305| 12 | 63 | 28| 60 | 3I
Q3N100S2C | Aluminium | 196 | 340 | M25 140 160 | 100 |2305| 12 | 63 | 28| 60 | 3I
Q3N100L4D | Aluminium | 196 | 370 | M25 140 160 | 100 |2305| 12 | 63 | 28| 60 | 3I

6205-7Z | 6205-ZZ | 25*40*7 | 25*40*7 | 135 | 95 | 15 | - M8
6206-7Z | 6206-ZZ | 30*47*8 | 30*47*8 | 155 | N0 | 130 | - | M8
6206-ZZ | 6206-ZZ | 30*47*8 | 30*47*8 | 155 | 10 | 130 | - M8
6206-ZZ | 6206-ZZ | 30*47*8 | 30*47*8 | 155 | 10 | 130 | - M8

a
S NN IE DIE NDE DEN

*  According to IEC 60034-2-1
**  The sound pressure measurements are taken 1m away from the motor
**  Tolerance +3 dBA

43 | WAT | IM en 221



DIMENSION - Blab, B34b

l OO =—

———
78 |

Foot Mounted Motors Shﬂft
‘ Housing ) ) Non drive Non drive
. Tgpe Tgpe ..'nlllllnl . S . S
A 4 | Q3N90S4C40 | Aluminium 27 | 8 | 6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 1504 | 10 | 130 M8
15 2 Q3N90S2C40 | Aluminium | 176 | 290 | M25 100 140 | 90 | 210 |10 | 56 |24 | 50 | 27 | 8 | 6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 1504 | 10 | 130 M8
15 4 | Q3N90L4D40 | Aluminium | 176 | 320 | M25 125 140 | 90 | 210 |10 | 56 |24 | 50 | 27 | 8 | 6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 1504 | 10 | 130 M8
22 2 Q3N90S2D40 | Aluminium | 176 | 290 | M25 100 140 | 90 | 210 |10 | 56 |24 | 50 | 27 | 8 | 6205-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 1504 | 10 | 130 M8

*  According to IEC 60034-2-1
**  The sound pressure measurements are taken 1m away from the motor

**  Tolerance +3 dBA

44 | WAT [ M en 22]



sl
L
"“i"'ll_

g
=

Yy
]




ELECTRICAL CHARACTERISTICS AT 50 H:z

RATED VALUE TARTING VALUES )
Breakdown

CURRENT | TORQUE | Torque
HOUSING CURRENT | TORQUE Ratio

TYPE

2 pole 3000 rpm

Q2E63M2A | Aluminium | 018 | 1/4 | 2810 04 06 47 | - 21 = 23 591 | 638 | 585 | 085 | 000022 5 52

Q2E63M2B | Aluminium | 025 | 1/3 | 2820 06 08 56 | - | 27 - 27 647 | 662 | 635 | 084 | 000025 6 52

Q2E7IM2C | Aluminium | 037 | 1/2 | 2850 08 12 8l - | 40 ° 42 695 | 696 | 673 08 0,00067 8 54

Q2E7IM2D | Aluminium | 055 | 3/4 | 2880 12 18 82 | - 41 N 43 74)1 | 743 | 742 | 082 | 000086 10 54

Q2H80M2B | Aluminium | 075 | 100 | 2850 17 25 64 | - | 28 = 33 774 | 776 | 744 | 082 0,001 9 58

g Q2H8OM2C | Aluminium | 110 | 150 | 2860 25 37 67 | - | 28 - 33 796 | 798 | 770 | 081 0,00140 n 58
(% C Q2H8OM2D | Aluminium | 150 | 200 | 2875 38 50 80 | - | 39 - 44 813 | 804 | 766 | 074 | 000169 12 58
Q2HS90S2B | Aluminium | 150 | 200 | 2875 38 50 80 | - | 39 - 44 813 | 804 | 766 | 074 | 000176 13 62

C (Q2H80M2DE | Aluminium | 220 | 300 | 2870 47 73 91 - | 39 ° 44 832 | 828 | 813 | 083 | 000224 16 59
Q2HS90L2C | Aluminium | 220 | 300 | 2870 47 73 9l - | 39 - 44 832 | 828 | 813 | 083 | 000231 16 62

C Q2H90L2D | Aluminium | 300 | 400 | 2887 63 99 73 | - | 24 = 29 846 | 854 | 842 | 083 | 000283 19 61
Q2HSI00L2B | Aluminium | 300 | 400 | 2887 63 99 73 | - | 24 - 29 846 | 854 | 842 | 083 | 000266 19 66

SC Q2H90L2DE | Aluminium | 400 | 550 | 2913 82 132 36 108 14 | 42 48 858 | 870 | 861 | 082 | 000385 23 67

C Q2HS100L2C | Aluminium | 4,00 | 550 | 2913 82 132 36 108 14 | 42 48 858 | 870 | 861 | 082 | 00038l 24 66
Q2HST2M2B | Aluminium | 400 | 550 | 2900 80 132 31 93| 1 32 40 858 | 861 | 845 | 085 | 000487 24 68

SC Q2HI00L2DE | Aluminium | 550 | 750 | 2910 106 181 36 (108| 13 | 38 45 870 | 875 | 862 | 086 0.0061 29 62

C Q2HS112M2C | Aluminium | 550 | 750 | 2910 106 181 36 (108| 13 | 38 45 870 | 875|862 | 086 | 000637 29 68
Q2HSI13282B | Aluminium | 550 | 750 | 2915 106 180 35 |106| 15 | 44 53 870 | 871 | 849 | 086 | 000703 34 69

SC Q2HIO0L2E | Aluminium | 750 | 1000 & 2895 141 248 34 |103| 13 | 39 46 881 | 890 | 887 | 088 | 000724 32 70

C Q2HS112M2D | Aluminium | 750 | 10.00 | 2895 14] 248 34 103|183 | 39 46 881 1 890|887 | 088 | 00075 30 68

Q2HS132S2C | Aluminium | 750 | 10,00 | 2900 146 247 35 |106| 13 | 38 46 881 886 | 876 | 085 | 000772 37 69

C Q2HI32M2A | Aluminium | 1.00 | 1500 | 2923 213 359 31 |92 1l 33 48 894 | 899 | 884 | 083 | 003489 57 69
Q2HS160M2C | Aluminium | 1,00 | 1500 | 2923 212 359 31 |92 11 33 48 894 | 899 | 884 | 083 | 0083517 65 70

C Q2H132M2B | Aluminium | 1500 | 2000 | 2915 300 492 32 96| 13 | 39 51 903 | 906 | 896 08 003490 65 69
Q2HSI60M2D | Aluminium | 1500 | 2000 | 2915 300 492 32 |96 13 | 39 Sl] 903 | 906 | 896 08 0,04015 67 70

% C Q2H132M2C | Aluminium | 1850 | 25,00 | 2930 308 603 27 (80| 06 | 19 36 909 | 917 | 9l 095 | 004685 77 70
\g{ Q2HSIBOL2A | Aluminium | 1850 | 2500 | 2930 308 603 27 /80| 06 | 18 36 909 | 917 | 9l 095 | 004613 79 70
C Q2H1B0L2C | Aluminium | 2200 | 3000 | 2955 409 712 35 104 12 | 36 52 913 | 920 | 907 | 084 | 004808 96 71
Q2HSI80M2A | Aluminium | 22,00 | 3000 | 2955 409 712 35 (106 12 | 36 52 913 | 920 | 907 | 084 005141 100 77

SC Q2HIBOL2DE | Aluminium | 30,00 | 3700 | 2940 196 974 30 91| 08 | 23 28 920 | 928 | 921 | 094 | 006270 | 108 80

C Q2HI80OM2B | Aluminium | 30,00 | 3700 | 2955 515 971 28 85| 08 | 24 36 920 | 925 | 918 091 | 008643 | 128 77
Q2H200L2B | Aluminium | 30,00 | 4000 | 2955 515 971 28 85| 08 | 24 36 920 | 925 | 918 091 | 008644 | 175 78
C Q2HI80OM2C | Aluminium | 37,00 | 5000 = 2965 66.2 196 34 101 10 31 45 925 | 925 | 912 | 087 | 010277 145 77
Q2H200L2C | Aluminium | 37,00 | 50,00 | 2965 66.2 196 34 101 10 31 45 925 1925 | 912 | 087 | 010277 175 78
SC Q2HI80L2D | Aluminium | 45,00 | 60,00 | 2958 76.0 145] 33 98| 09 | 28 53 929 | 934 | 927 | 082 011383 162 76
C Q2H200L2D | Aluminium | 45,00 | 60,00 | 2960 76.0 145 33 98| 09 | 28 53 929 | 934 | 927 | 092 01910 166 78
Q2E225M2A | Aluminium | 45,00 | 60,00 | 2960 821 1452 29 87| 08 | 24 29 929 | 926 | 9l 085 | 023500 | 235 8l
SC Q2H200L2E | Aluminium | 55,00 | 75,00 | 2960 907 1774 31 |83] 07 | 20 42 932 | 933 | 928 | 093 | 010988 194 77
C Q2E225M2C | Aluminium | 55,00 | 7500 | 2970 966 176.9 35 (106 10 | 30 71 932 | 937 | 924 | 088 | 029500 & 244 80
Q2E225M2A | Aluminium | 55,00 | 75,00 | 2975 939 176.5 33 98| 10 | 30 53 932 | 931 | 924 | 089 | 042083 | 254 8l

* According to IEC 60034-2-1
**  The sound pressure measurements are taken 1m away from the motor
**  Tolerance +3 dBA

46 | WAT | IM en 221



CURRENT | TORQUE Torque Pres-

Ratio sure
TYPE W | MM, Lovel

RS NP R e

RATED VALUES ARTING VALUES Sound
Breakdown EFFICIENCY *

HOUSING | power | SPEED | CURRENT | TORQUE

4 pole 1500 rpm

Q2E63M4A | Aluminum | 012 | 1/6 1420 05 09 34 | - | 22 = 32 640 | 541 | 449 | 056 | 000022 5 41

Q2E63M4B | Aluminium | 018 | 1/4 | 1400 06 12 37 | - | 27 - 30 680 | 600 | 513 | 066 | 000026 6 41

Q2E7IM4C | Aluminium | 025 | 1/3 1415 06 17 46 | - | 26 = 38 685 | 688 | 66.9 07 0,00095 9 45

Q2E7IM4D | Aluminium | 037 | 1/2 1425 11 25 46 | - | 26 - 38 727 | 731 | 720 | 071 | 000095 9 45

Q2H80M4B | Aluminium | 055 | 3/4 | 1435 13 36 64 | - | 23 - 32 771 | 788 | 754 | 076 | 000175 10 49

Q2H80M4C | Aluminium | 075 | 100 | 1440 18 50 55 | - 21 - 26 796 | 800 | 777 | 076 | 000216 I 49

% C Q2H80M4D | Aluminium | 110 | 150 | 1430 25 74 57 | - | 22 = 26 8l4 | 824 | 816 08 000260 12 48
% (Q2HS90S4B | Aluminium | 110 | 150 | 1430 25 74 57 | - | 22 - 26 8l4 | 824 | 816 08 0.00267 13 54
C Q2HBOM4DE | Aluminium | 150 | 200 | 1427 33 100 64 | - | 25 = 3l 828 | 842|837 | 079 | 000306 14 48
Q2HS90L4C | Aluminium | 150 | 200 | 1427 33 100 64 | - | 25 - 3l 828 | 842|837 | 079 | 000328 15 54

C Q2H90L4D | Aluminium | 220 | 300 | 1437 53 146 76 | - | 36 = 42 843 | 841 | 815 | 072 | 000526 18 52
Q2HSI00L4B | Aluminium | 220 | 300 | 1437 53 146 76 | - | 36 - 42 843 | 841 | 815 | 072 000521 21 55

C Q2H90L4DE | Aluminium | 300 | 400 | 1440 74 200 65 | - | 33 = 37 855 | 853 | 830 07 000690 25 53
Q2HS100L4C | Aluminium | 300 | 400 | 1440 74 200 65 - | 33 - 37 855 | 853 | 830 07 000694 25 55

C Q2HI00L4D | Aluminium | 400 | 550 | 1440 87 266 27 |80 1 32 38 866 | 857 | 835 | 078 | 001058 3l 57
Q2HS12M4C | Aluminium | 400 | 550 | 1440 87 266 27 |80 1 32 38 866 | 857 | 835 | 078 | 001085 3l 58

C Q2HN2M4D | Aluminium | 550 | 750 | 1445 1.6 355 27 |80 10 | 30 38 877 883|873 | 079 | 001382 38 58
Q2HS132S4A | Aluminium | 550 | 750 | 1445 .S 355 27 |80] 10 | 30 38 877 | 883 | 873 | 079 001414 38 59

Q2H132M4C | Aluminium | 7.50 | 1000 | 1460 150 49] 24 | 711 05 | 15 06 887 | 894 | 887 | 082 | 003560 54 62

C Q2H132M4D | Aluminium | 1,00 | 1500 | 1468 216 715 26 /79| 07 | 21 36 898 | 911 | 903 | 081 | 005440 76 6l
Q2HSIBOM4B | Aluminium | 1,00 | 1500 & 1468 216 715 26 |79 07 | 2l 36 898 | 911 | 903 | 081 | 005468 79 63

C Q2HI32M4E | Aluminium | 1500 | 2000 | 1462 298 980 26 | 78| 06 | 18 34 906 | 914 | 909 08 005940 8l 63

= Q2HSIBOL4A | Aluminium | 1500 | 2000 | 1462 298 980 26 (78| 06 | 18 34 906 | 914 | 909 08 0.05940 83 63
§ C Q2H1BOL4B | Aluminium | 1850 | 2500 | 1470 36.0 1202 23 | 68| 07 | 22 29 912 | 920 | 916 081 | 009005 101 57
S Q2HSIBOM4A | Aluminium | 1850 | 2500 | 1470 36.0 1202 23 68| 07 | 22 29 912 | 920 | 916 08l 010513 10 67
C Q2H1B0L4C | Aluminium | 22,00 | 3000 | 1462 418 1438 18 |55 06 | 19 28 916 1 929 | 833 | 084 011068 IS 58
Q2HSIB0L4B | Aluminium | 22,00 | 3000 | 1462 418 1438 18 |55 06 | 19 28 916 | 929 | 933 | 084 011398 8 67

C Q2H180L4C | Aluminium | 30,00 | 4000 | 1475 553 1946 27 |82 09 | 27 35 920 | 919 | 914 | 085 | 014694 143 70
Q2H200L4C | Aluminium | 30,00 | 4000 | 1475 553 1946 27 |82 09 | 27 35 920 | 919 | 914 | 085 | 018660 195 70

SC Q2HIBOL4A | Aluminium | 3700 | 4000 | 1476 725 2408 | 28 83| 09 | 27 37 927 1932 | 928 | 079 022165 194 70

C Q2H200L4D | Aluminium | 37.00 | 5000 | 1476 725 2408 | 28 83| 09 | 28 37 927 | 932 | 928 | 079 | 026440 177 71
Q2E225M4A | Aluminium | 3700 | 50,00 | 1480 683 2388 | 30 91| 12 | 36 40 927 | 926 | 913 | 084 | 036420 | 263 71

Q2E225M4B | Aluminium | 4500 | 60.00 | 1480 815 2905 31 |84 12 | 37 30 931 1 930 | 918 | 085 | 043500 | 280 71

47 | WAT | IM en 221



ELECTRICAL CHARACTERISTICS AT 50 H:z

RATED VALUE TARTING VALUES , Sound
Breakdown EFFICIENCY * Weight | Pres-
CURRENT | TORQUE Torque Cos v
QUSING ?
HOUSIN CURRENT | TORQUE Ratio (B3] | sue
TYPE N A N Level

dBA
4/4 kgm? *x

6 pole 1000 rpm

Q2H90S6B | Aluminium | 075 | 100 | 943 18 77 46 | - 21 ° 27 759 | 781 | 74 069 | 000383 16 53

\ér Q2H90L6C | Aluminium | 110 | 150 | 938 30 12 28 | - | 24 - 28 781 | 780 | 75l 069 | 000464 18 53
% ‘ Q2HI00L6C | Aluminium | 150 | 200 | 955 40 152 33 | - | 26 = 32 798 | 793 | 763 067 | 000871 26 56
Q2HNI2MBC | Aluminium | 220 | 300 | 942 54 224 52 | - | 20 - 26 818 | 815 | 795 072 | 000936 3l 58

‘ Q2H132MBA | Aluminium | 300 | 400 | 965 141 298 18 |54 1 32 33 833 | 823 | 794 064 | 002950 47 62
Q2H132M6B | Aluminium | 400 | 550 | 970 104 398 19 | 58] 07 | 22 26 846 | 835 | 807 065 | 003560 53 6l

‘ Q2H132M6C | Aluminium | 550 | 750 | 960 128 547 17 |52 09 | 26 29 861 | 857 | 838 072 | 006420 67 60

= Q2HIBOMBB | Aluminium | 750 | 1000 | 970 189 746 21 |62 12 | 386 38 872 | 843 | 817 066 | 007540 88 63
O\f ‘ Q2H1B0L6C | Aluminium | 1,00 | 1500 | 970 255 109.4 17 |52 10 | 30 31 887 885 | 863 071 | 007040 99 63
s Q2HIBOL6A | Aluminium | 1500 | 2000 | 970 315 146.9 18 | 51 06 | 18 20 897 | 895 | 873 076 | 016677 s 69
‘ Q2H200L6B | Aluminium | 1850 | 2500 | 98I 416 1798 20 /59| 07 | 2] 26 904 | 905 @ 896 07 018660 160 70
Q2H200L6C | Aluminium | 22,00 | 3000 | 982 488 2145 18 |56 08 | 23 24 909 | 910 | 903 072 | 020643 171 70

‘ Q2E225M6B | Aluminium | 3000 | 4000 975 570 2876 19 |57 06 | 17 25 917 | 916 | 907 083 | 049334 | 234 66

* According to IEC 60034-2-1
**  The sound pressure measurements are taken 1m away from the motor
**  Tolerance +3 dBA

48 | WAT | IM en 221



DIMENSION - B3

© 0O

szt G [ ot | " oo 3" onese | M
012 Q2E63M4A | Aluminium | 123 220 | IxM20 80 100 | 63 | 162 7 40 1 23 | 125 4 | 6201-ZZ | 6201-ZZ | 12*22*7 12*22*7
018 2 Q2E63M2A | Aluminium | 123 220 | 1IxM20 80 100 | 63 | 162 7 40 l 23 | 125 4 6201-ZZ | 6201-ZZ 12*22*7 12*22*7
018 4 Q2E63M4B | Aluminium | 123 220 | 1IxM20 80 100 | 63 | 182 7 40 1 23 | 125 4 6201-ZZ | 6201-ZZ 12*22*7 12*22*7
025 2 Q2E63M2B | Aluminium | 123 220 | 1IxM20 80 100 | 63 | 182 7 40 n 23 | 125 4 6201-2Z | 6201-2Z 12*22*7 12*22*7
0.25 4 Q2E7IM4C Aluminium | 138 253 | IxM20 90 12 71 1190 7 45 | 14 | 30 16 5 | 6202-7ZZ | 6202-ZZ | 15*24*5 15*24*5
037 2 Q2E7IM2C Aluminium | 138 253 | IxM20 90 12 71 | 190 7 45 | 14 | 30 16 5 | 6202-7ZZ | 6202-ZZ | 15*24*5 15*24*5
037 4 Q2E71M4D Aluminium | 138 253 | IxM20 90 12 71 1190 7 45 | 14 | 30 16 5 | 6202-ZZ | 6202-ZZ | 15*24*5 15*24*5
055 2 Q2E7IM2D Aluminium | 138 253 | IxM20 90 n2 71 | 190 7 45 | 14 | 30 16 5 | 6202-ZZ | 6202-ZZ | 15*24*5 15*24*5
0.55 4 Q2H8OM4B | Aluminium | 158 268 | 1IxM20 100 125 | 80 | 26 | 10 50 19 | 40 | 215 6 | 6204-ZZ | 6204-ZZ | 20*30*7 20*30*7
075 2 Q2H80M2B | Aluminium | 158 268 | 1IxM20 100 125 | 80 | 2B | 10 50 19 | 40 | 215 6 | 6204-ZZ | 6204-ZZ | 20*30*7 20*30*7
075 4 Q2H80M4C | Aluminium | 158 268 | 1IxM20 100 25| 80 | 2B | 10 50 19 | 40 | 215 6 | 6204-ZZ | 6204-ZZ | 20*30*7 20*30*7
0.75 6 Q2H90S6B | Aluminium | 172 344 | IxM25 | 100-125 | 140 | 90 223 | 10 | 56 | 24 | 50 | 27 8 | 6305-ZZ | 6205-ZZ | 25*40*7 25*40*7
11 2 Q2H8OM2C | Aluminium | 158 268 | xM20 100 25180 2B| 10 | 50 | 19 | 40 | 215 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
© 11 4 Q2H80M4D | Aluminium | 158 268 | xM20 100 25180 2B |10 | 50 | 19 | 40 | 215 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
11 4 Q2HS90S4B | Aluminium | 158 278 | IxM25 | 100-125 | 140 | 90 | 213 | 10 | 56 | 24 | 50 | 27 8 | 6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7
11 6 Q2H90L6C | Aluminium | 172 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 56 | 24 | 50 27 8 | 6305-ZZ | 6205-ZZ | 25*40*7 25*40*7
C 15 2 Q2H80M2D | Aluminium | 158 268 | 1xM20 100 25|80 | 2B | 10 50 19 | 40 | 215 6 | 6204-ZZ | 6204-ZZ | 20*30*7 20*30*7
15 2 Q2HS90S2B | Aluminium | 158 278 | IxM25 | 100-125 | 140 | 90 | 213 | 10 56 | 24 | 50 | 27 8 | 6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7
C 15 4 Q2H8OM4DE | Aluminium | 158 268 | IxM20 100 125180 26| 10 50 | 19 | 40 | 215 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
15 4 Q2HS90L4C | Aluminium | 158 303 | IxM25 | 100-125 | 140 1 90 | 213 | 10 56 | 24 | 50 | 27 8 | 6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7
15 6 Q2H100L6C | Aluminium | 191 400 | 1xM25 140 160 | 100 | 243 | 12 63 | 28 | 60 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7
© 22 2 Q2H8OM2DE | Aluminium | 158 268 | IxM20 100 125 | 80 | 216 | 10 50 19 | 40 | 215 6 | 6204-ZZ | 6204-ZZ | 20*30*7 20*30*7
22 2 Q2HS90L2C | Aluminium | 158 303 | IxM25 | 100-125 | 140 | 90 | 213 | 10 56 | 24 | 50 27 8 | 6305-ZZ | 6204-ZZ | 25*40*7 20*30*7
C 22 4 Q2H90L4D Aluminium | 172 344 | IxM25 | 100-125 | 140 | 90 | 223 | 10 56 | 24 | 50 27 8 | 6305-ZZ | 6205-ZZ | 25*40*7 25*40*7
22 4 Q2HSI00L4B | Aluminium | 172 349 | IxM25 140 160 | 100 | 233 | 12 | 63 | 28 | 60 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 25*40*7
22 6 Q2HN12M6C | Aluminium | 210 396 | IxM25 140 190 | 12 | 265 | 12 70 | 28 | 60 3l 8 | 6306-ZZ | 6206-ZZ | 30*47*7 30*47*7
C 3 2 Q2H90L2D | Aluminium | 172 344 | 1xM25 | 100-125 | 140 | 90 223 | 10 | 56 | 24 | 50 | 27 8 | 6305-ZZ | 6205-ZZ | 25*40*7 25*40*7
3 2 Q2HSI00L2B | Aluminium | 172 349 | IxM25 140 160 | 100 | 233 12 63 | 28 | 60 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7
C 3 4 Q2HIOL4DE | Aluminium | 172 379 | IxM25 | 100-125 | 140 | 90 | 223 | 10 56 | 24 | 50 27 8 | 6305-ZZ | 6205-ZZ | 25*40*7 25*40*7
8 4 Q2HS100L4C | Aluminium | 172 384 | 1xM25 140 160 | 100 | 233 | 12 63 | 28 | 60 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 25*40*7
3 6 Q2HI32MBA | Aluminium | 260 481 1XM32 | 140-178 | 216 | 132 | 312 | 12 89 | 38 | 80 41 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm

(2) According to DIN 6885

49 | WAT | IM en 221



Power | Number Housing " Non drive Non drive
SIZE (kW) Motor Type Tupe Drive Side Side Drive Side Side

SC 4 2 Q2H90L2DE | Aluminium | 172 379 | IxM25 | 100-125 | 140 | 90 | 223 | 10 | S6 | 24 | 50 | 27 8 | 6305-ZZ | 6205-ZZ | 25*40*7 25%40*7
C 4 2 Q2HS100L2C | Aluminium | 172 384 | IxM25 140 160 100 (233 | 12 | 63 | 28 | 60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 25*40*7
4 2 Q2HS1I2M2B | Aluminium | 191 399 | IxM25 140 190 | M2 [ 254 | 12 | 70 | 28 | 60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 25*40*7
C 4 4 Q2HI00L4D | Aluminium | 191 400 | 1xM25 140 160 100 (243 | 12 | 63 | 28 | 60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 25*40%7
4 4 Q2HS1I2M4C | Aluminium | 191 399 | 1xM25 140 190 | M2 | 254 | 12 | 70 | 28 | 60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30%47*7 25%40*7
4 6 Q2H132M6B | Aluminium | 260 481 IXM32 | 140-178 | 216 | 132 | 312 | 12 | 89 | 38 80 4l 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
SC 55 2 Q2HI00L2DE | Aluminium | 191 400 | 1xM25 140 160 | 100 243 | 12 H 63 | 28 | 60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 30*47*7
C 55 2 Q2HS1M2M2C | Aluminium | 191 399 | IxM25 140 190 M2 [ 254 | 12 | 70 | 28 | 60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 25*40%7
55 2 Q2HS13282B | Aluminium | 210 422 | 1xM25 | 140-178 | 216 | 132 | 283 | 12 | 89 | 38 | 80 | 4l 10 | 6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7
C 55 4 Q2HN2M4D | Aluminium | 210 421 xM25 140 190 M2 [265| 12 | 70 | 28 | 60 | 3l 8 | 6306-ZZ | 6206-ZZ | 30*47*7 30*47*7
55 4 Q2HS132S4A | Aluminium | 210 422 | 1xM25 | 140-178 | 216 | 132 | 283 12 | 89 | 38 | 80 | 4l 10 | 6208-2Z | 6206-2Z | 40*62*10 | 30*47*7
55 6 Q2H132M6C | Aluminium | 260 481 IXM32 | 140-178 | 216 | 132 | 312 | 12 | 89 | 38 80 4l 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
SC 75 2 Q2HI00L2E | Aluminium | 191 422 | 1xM25 140 160 | 100 243 | 12 | 63 | 28 | 60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 30%47*7
C 75 2 Q2HS12M2D | Aluminium | 191 421 xM25 140 190 | M2 [ 254 | 12 | 70 | 28 | 60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30%47*7 25*40%7
75 2 Q2HS132S2C | Aluminium | 210 422 | xM25 | 140-178 | 216 | 132 | 283 | 12 | 89 | 38 | 80 | 4l 10 | 6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7
75 4 Q2H132M4C | Aluminium | 260 481 IXM32 | 140-178 | 216 | 132 | 312 | 12 | 89 | 38 | 80 4l 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
75 6 Q2HIBOMBB | Aluminium | 305 591 IXM32 | 210-254 | 254 | 160 | 368 | 145 | 108 | 42 | 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
C m 2 Q2HI32M2A | Aluminium | 260 481 IXM32 | 140-178 | 216 | 132 | 312 | 12 | 89 | 38 80 4l 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
m 2 Q2HS160M2C | Aluminium | 260 520 | 1xM32 | 210-254 | 254 | 160 | 351 | 145 | 108 | 42 | N0 | 45 | 12 | 6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10
C n 4 Q2H132M4D | Aluminium | 260 481 IXM32 | 140-178 | 216 | 132 | 312 | 12 | 89 | 38 | 80 4l 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
n 4 Q2HSIB0M4B | Aluminium | 260 520 | 1xM32 | 210-254 | 254 | 160 | 351 | 145|108 | 42 | WO | 45 | 12 | 6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10
1l 6 Q2H1BOL6C | Aluminium | 305 591 IXM32 | 210-254 | 254 | 160 | 368 | 145 | 108 | 42 | 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
C 15 2 Q2H132M2B | Aluminium | 260 481 IXM32 | 140-178 | 216 | 132 | 312 | 12 | 89 | 38 | 80 @ 4l 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
15 2 Q2HS1IB0M2D | Aluminium | 260 520 | IxM32 | 210-254 | 254 | 160 | 351 | 145|108 | 42 | N0 | 45 | 12 | 6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10
C 15 4 Q2HI32M4E | Aluminium | 260 539 | IxM32 | 140-178 | 216 | 132 | 312 | 12 | 89 | 38 | 80 | 4l 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
15 4 Q2HSIBOL4A | Aluminium | 260 520 | 1xM32 | 210-254 | 254 | 160 | 351 | 145 | 108 | 42 | 10 | 45 | 12 | 6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10
15 6 Q2HIBOLBA | Aluminium | 349 696 | IxM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | N0 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*I0 | 50*80*10
C 185 2 Q2H1I32M2C | Aluminium | 260 539 | IxM32 | 140-178 | 216 | 132 | 32 12 | 89 | 38 80 | 4l 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10
185 2 Q2HSIBOL2A | Aluminium | 260 520 | IxM32 | 210-254 | 254 | 160 | 351 | 145|108 | 42 | WO | 45 | 12 | 6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10
C 185 4 Q2HIBOL4B | Aluminium | 305 591 IXM32 | 210-254 | 254 | 160 | 368 | 145 | 108 | 42 | 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
185 4 Q2HSIBOM4A | Aluminium | 305 | 596 | IxM32 | 241-279 | 279 | 180 | 398 | 145 | 121 | 48 | 10 | 515 | 14 | 6310-ZZ | 6209-ZZ | 50*80*I0 | 45*72*10
185 6 Q2H200L6B | Aluminium | 349 | 706 | IxMSO 305 318 | 200 | 455 | 185 | 183 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10
C 22 2 Q2H1B0L2C | Aluminium | 305 591 IXM32 | 210-254 | 254 | 160 | 368 | 145 | 108 | 42 | 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
22 2 Q2HSIBOM2A | Aluminium | 305 | 596 | IxM32 | 241-279 | 279 | 180 | 398 | 145 | 121 | 48 | 10 | 515 | 14 | 6310-ZZ | 6209-ZZ | 50*80*I0 | 45*72*10
C 22 4 Q2H1B0L4C | Aluminium | 305 591 IXM32 | 210-254 | 254 | 160 | 368 | 145|108 | 42 | 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
22 4 Q2HSIB0L4B | Aluminium | 305 | 596 | 1xM32 | 241-279 | 279 | 180 1 398 | 145 | 121 | 48 | 10 | 515 | 14 | 6310-ZZ | 6209-ZZ | 50*80*10 | 45*72*10
22 6 Q2H200L6C | Aluminium | 349 706 | 1xM50 | 267-305 | 318 | 200 | 455 185 | 133 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10

50 | WAT | IM en 22



- 2 | Diive Side | N1 98 | privg gige | NOn dive
Side Side

Number Housing

Motor Type

of Poles Type

SC 30 2 Q2HIBOL2DE | Aluminium | 305 591 IXM32 | 210-254 | 254 | 160 | 368 | 145 | 108 | 42 | 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10
C 30 2 Q2HIBOM2B | Aluminium | 349 | 696 | IxM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
30 2 Q2H200L2B | Aluminum | 349 | 706 | IxM50 | 267-305 | 318 | 200 455|185 | 1383 | 55 | 10 | 59 | 6 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10
C 30 4 Q2HIBOL4C | Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
30 4 Q2H200L4C | Aluminium | 349 | 706 | 1xM50 | 267-305 | 318 | 200 455|185 | 1383 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*I0 | 60*90*10
30 6 Q2E225MBB | Aluminium | 456 | 765 | 1xMS0 | 286-31 | 356 | 225 | 485 185 | 149 | 60 | 140 | 64 | 18 | B6313-ZZ | 63I13-ZZ | 65*100*13 | 65*100*13
C 37 2 Q2HIBOM2C | Aluminium | 349 | 696 | IxM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
37 2 Q2H200L2C | Aluminium | 349 | 706 | 1xM50 305 318 | 200 | 455|185 1383 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10
SC 37 4 Q2HIBOL4A | Aluminium | 349 | 696 | M40 | 241-279 | 279 | 180 | 398 | 145 | 121 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
C 37 4 Q2H200L4D | Aluminium | 349 | 759 | 1xM50 | 267-305 | 318 | 200 | 455 185|133 | 55 | N0 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10
37 4 Q2E225M4A | Aluminium | 456 | 765 | IxM50 | 286-311 | 356 | 225 | 485 | 185 | 149 | 60 | 140 | 64 | 18 | 6313-ZZ | 63I3-ZZ | 65*100*13 | 65*100*13
SC 45 2 Q2HI80L2D | Aluminium | 349 | 696 | IxM40 | 241-279 | 279 | 180 | 437 | 145 | 121 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10
C 45 2 Q2H200L2D | Aluminium | 349 | 759 | IxM50 | 267-305 | 318 | 200 455|185 | 183 | 55 | 10 | 59 | 6 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10
45 2 Q2E225M2A | Aluminium | 456 | 735 | IxM50 | 286-311 | 356 | 225 | 485 | 185 | 149 | 55 | 10 | 59 | 16 | 6313-ZZ | 63I3-ZZ | 65*100*13 | 65*100*13
45 4 Q2E225M4B | Aluminium | 456 | 765 | 1xM50 | 286-311 | 356 | 225 485 185 | 149 | 60 | 140 | 64 | 18 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13
SC 55 2 Q2H200L2E | Aluminium | 349 | 759 | 1xM50 | 267-305 | 318 | 200 | 455 | 225 | 133 | 55 | 10 = 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10
C S5 2 Q2E225M2C | Aluminium | 456 | 735 | 1xM50 | 286-31 | 356 | 225 485 185|149 | 55 | N0 | 59 | 16 | 6313-ZZ @ 6313-ZZ | 65*100*13 | 65*100*13
55 2 Q2E250M2A | Aluminium | 527 | 886 | 2*MS0 349 406 | 250 | 615 | 24 | 149 | 60 | 140 | 64 | 18 | B315-2Z | 6313-2Z | 75*12*12 | 65*100*13

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885

51 | WAT | IM en 221



DIMENSION - B5, B35

Motor Type H%;L’m Drive Side Noglggve

012 | 4 Q2E63M4A | Aluminium | 123 | 220 | 1xM20 80 100 63 162 | 7 n |23 | 125 | 4 | 6201-ZZ | 6201-ZZ 12*22*7 12*22*7 1140 | 95 | 15 10

0B | 2 Q2E63M2A | Aluminium | 123 | 220 | 1xM20 80 100 63 162 | 7 I 23 125 | 4 | 6201-ZZ | 6201-ZZ 12*22*7 12*22*7 | 140 | 95 | IS 10

018 | 4 Q2E63M4B | Aluminium | 123 | 220 | 1xM20 80 100 63 182 | 7 I |23 125 | 4 | 6201-ZZ | 6201-ZZ 12*22*7 12%22*7 1140 | 95 | IS 10

025 | 2 Q2E63M2B | Aluminium | 123 | 220 | 1xM20 80 100 | 63 | 162 | 7 |23 | 125 | 4 | 6201-2Z | 6201-2Z 12*22*7 12*22*7 1140 | 95 | 15 10
025 | 4 Q2E7IM4C | Aluminium | 138 | 253 | 1xM20 90 w2 | 711180 | 7 |14 30| 16 S | 6202-ZZ | 6202-ZZ | 15*24*S 15*24*5 | 160 | 10 | 130 10

037 | 2 Q2E7IM2C | Aluminium | 138 | 253 | 1xM20 90 w2 | 71 1180 | 7 |14 30| 16 5 | 6202-Z7 | 6202-77 | 15*24*S 15*24*5 | 160 | 10 | 130 10

037 | 4 Q2E7IM4D | Aluminium | 138 | 253 | 1xM20 90 m | 71 1190 | 7 |14 30| 16 5 | 6202-ZZ | 6202-ZZ | 15*24*5 15*24*5 | 160 | 10 | 130 10

055 | 2 Q2E7IM2D | Aluminium | 138 | 253 | 1xM20 90 w2 | 71 /180 | 7 |14 30| 16 5 | 6202-ZZ | 6202-2Z | 15*24*S 15*24*5 | 160 | 10 | 130 10
055 | 4 Q2H80M4B | Aluminium | 158 | 268 | 1xM20 100 125180 | 216 10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 20*30*7 | 200 | 130 | 165 12

075 | 2 (Q2H80M2B | Aluminium | 158 | 268 | 1xM20 100 125180 | 216 10 |19 | 40 215 6 | 6204-ZZ | 6204-ZZ | 20*30*7 20*30*7 | 200 | 130 | 165 12

075 | 4 Q2HBOM4C | Aluminium | 158 | 268 | 1xM20 100 125180 | 216 10 |19 |40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 20*30*7 | 200 | 130 | 165 12

075| 6 Q2H90S6B | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 ' 223 | 10 | 24 | 50 27 | 8 | 6305-ZZ | 6205-ZZ 25*40*7 25*40*7 | 200 | 130 | 165 12

1l 2 Q2H80M2C | Aluminium | 158 | 268 | 1xM20 100 125180 |26 10 |19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 20*30*7 | 200 | 130 | 165 12

C 1l 4 Q2H80M4D | Aluminium | 158 | 268 | 1xM20 100 125 180 |26 10 |19 | 40 215 6 | 6204-ZZ | 6204-ZZ | 20*30*7 20*30*7 | 200 | 130 | 165 12
1l 4 Q2HS90S4B | Aluminium | 158 | 278 | IxM25 | 100-125 | 140 | 90 | 213 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6204-ZZ | 25*40*7 20*30*7 | 200 | 130 | 165 12

11 6 Q2H90L6C | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 50 | 27 | 8 | B6305-ZZ | 6205-ZZ | 25*40*7 25*40*7 | 200 | 130 | 165 12

C 15 2 Q2H80M2D | Aluminium | 158 | 268 | 1xM20 100 125180 |26 10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 20*30*7 | 200 | 130 | 165 12
15 2 Q2HS90S2B | Aluminium | 158 | 278 | IxM25 | 100-125 | 140 | 90 | 213 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6204-ZZ | 25*40*7 20*30*7 | 200 | 130 | 165 12

C 15 4 Q2H8OM4DE | Aluminium | 158 | 268 | 1xM20 100 125 180 |26 10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 20*30*7 | 200 | 130 | 165 12
15 4 Q2HS90L4C | Aluminium | 158 | 303 | 1xM25 | 100-125 | 140 | 90 | 213 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6204-ZZ | 25*40*7 20*30*7 | 200 | 130 | 165 12

15 6 Q2HI00L6C | Aluminium | 191 | 400 | 1xM25 140 160 100 | 243 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 30*47*7 | 250 | 180 | 215 14,5

cC 22| 2 Q2HBOM2DE | Aluminium | 158 | 268 | 1xM20 100 125180 | 26 10 | 19 | 40 215 6 | 6204-ZZ | 6204-ZZ | 20*30*7 20*30*7 | 200 | 130 | 165 12
22 | 2 Q2HS90L2C | Aluminium | 158 | 303 | 1xM25 | 100-125 | 140 | 90 | 213 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6204-ZZ | 25*40*7 20*30*7 | 200 | 130 | 165 12

C 22| 4 Q2H90L4D | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 25*40*7 | 200 | 130 | 165 12
22 | 4 | Q2HSIOOL4B | Aluminium | 172 | 349 | IxM25 140 160 100 | 233 | 12 | 28 ' 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 25%40*7 | 250 | 180 | 215 145

22 | 6 Q2H12M6C | Aluminium | 210 | 396 | 1xM25 140 190 M2 265 | 12 | 28 | 60 | 3I 8 | 6306-ZZ | 6206-ZZ | 30*47*7 30*47*7 | 250 | 180 | 2I5 145

C 3 2 Q2H90L2D | Aluminium | 172 | 344 | xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 25*40*7 | 200 | 130 | 165 12
3 2 | Q2HSI00L2B | Aluminium | 172 | 349 | IxM25 140 160 100 | 233 12 | 28 | 60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 25*40*7 | 250 | 180 | 215 14.5

C 3 4 Q2H90L4DE | Aluminium | 172 | 379 | IxM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 25*40*7 | 200 | 130 | 165 2
3 4 | Q2HSI00L4C | Aluminium | 172 | 384 | 1xM25 140 160 [ 100 | 233 | 12 | 28 | 60 | 3I 8 | 6306-ZZ | 6205-ZZ | 30*47*7 25*40*7 | 250 | 180 | 215 145

3 6 Q2H132M6BA | Aluminium | 260 | 481 | IxM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 230 | 265 14,5

SC 4 2 Q2H90L2DE | Aluminium | 172 | 379 | IxM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 25*40*7 | 200 | 130 | 165 12
C 4 2 | Q2HSI00L2C | Aluminium | 172 | 384 | 1xM25 140 160 100 | 233 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 25*40*7 | 250 | 180 | 215 14.5
4 2 Q2HSI2M2B | Aluminium | 191 | 399 | 1xM25 140 190 | M2 [ 254 12 | 28 60| 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 25*40*7 | 250 | 180 | 215 14,5

C 4 4 Q2HI00L4D | Aluminium | 191 | 400 | 1xM25 140 160 100 | 243 | 12 | 28 ' 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 30*47*7 | 250 | 180 | 215 14,5
4 4 | Q2HST2M4C | Aluminium | 191 | 399 | 1xM25 140 190 | M2 | 254 12 | 28 60| 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 25*40*7 | 250 | 180 | 215 14.5

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm

(2) According to DIN 6885

(3) Tolerance DIN EN 50347 “j6”

52 | WAT | IM en 221



Main Dimensions Foot Mounted Motors Bearing Flange (FA) (|

it o (o LT DL L
4 6 Q2HI32M6B | Aluminium 1xM32 | 140-178 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 145
SC 55 2 Q2HIOOL2DE | Aluminium | 191 | 400 | 1xM25 140 160 | 100 | 243 | 12 | 28 | 60 | 3I 8 | 6306-ZZ | 6205-ZZ | 30*47*7 30*47*7 | 250 180 | 215 | - | 145
C 55 2 Q2HSN2M2C | Aluminium | 191 | 399 | 1xM25 140 90 | M2 | 254 12 | 28 |60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 25*40*7 | 250 180 | 215 | - | 145
515 2 Q2HS132S2B | Aluminium | 210 | 422 | 1xM25 | 140-178 | 216 | 132 | 283 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ K 6206-ZZ | 40*62*10 30*47*7 | 300 230 | 265 | - | 145
C 55 4 Q2HI2M4D | Aluminium | 210 | 421 | 1xM25 140 190 | 12 | 265 12 | 28 | 60 | 3I 8 | 6306-ZZ | 6206-ZZ | 30*47*7 30%47*7 | 250 180 | 215 | - | 145
55 4 Q2HSI132S4A | Aluminium | 210 | 422 | 1xM25 | 140-178 | 216 | 132 | 283 | 12 | 38 | 80 | 4l 10 | 6208-2Z | 6206-2Z | 40*62*10 30*47*7 | 300 230 | 265 | - | 145
55 6 Q2HI32M6C | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 |10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 | - 145
SC 75 2 Q2HIOOL2E | Aluminium | 191 | 422 | 1xM25 140 160 | 100 | 243 | 12 | 28 | 60 | 3I 8 | 6306-ZZ | 6205-ZZ | 30*47*7 30%47*7 | 250 | 180 | 215 | - | 145
C 75 2 Q2HSN2M2D | Aluminium | 191 | 421 | 1xM25 140 190 | 12 | 254 | 12 | 28|60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 25*40*7 | 250 | 180 | 215 | - | 145
75 2 Q2HS132S2C | Aluminium | 210 | 422 | 1xM25 | 140-178 | 216 | 132 | 283 | 12 | 38 | 80 | 4l 10 | 6208-ZZ | 6206-ZZ | 40*62*10 30*47*7 | 300| 230 | 265 | - | 145
75 4 Q2HI32M4C | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*I0 | 40*62*10 | 300 | 230 | 265 | - | 145
75 6 Q2HI6OMBB | Aluminium | 305 | 591 | 1xM32 | 210-254 | 254 | 160 | 368 | 145 | 42 | 110 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 45*72*10 | 350 | 250 | 300 | - | 185
C 1 2 Q2HI32M2A | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 4l 10 | 6208-ZZ | 6208-ZZ | 40*62*10 40*62*10 | 300 | 230 | 265 | - | 145
I 2 | Q2HSIBOM2C | Aluminium | 260 | 520 | 1xM32 | 210-254 | 254 | 160 | 351 | 145 | 42 | 110 | 45 | 12 | 6309-ZZ | 6208-ZZ | 45*72*10 40*62*10 | 350 | 250 | 300 | - | 185
C I 4 Q2HI32M4D | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 | - | 145
n 4 Q2HSI60M4B | Aluminium | 260 | 520 | 1xM32 | 210-254 | 254 | 160 | 351 | 145 | 42 | 10 | 45 | 12 | 6309-ZZ | 6208-ZZ | 45*72*10 40*62*10 | 350 | 250 | 300 | - | 185
n 6 Q2HI60L6C | Aluminium | 305 | 591 | 1xM32 | 210-254 | 254 | 160 | 368 | 145 | 42 | 110 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 45*72*10 | 350 | 250 | 300 | - | 185
C 15 2 Q2HI32M2B | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 300 230 | 265 | - 145
15 2 Q2HSI60M2D | Aluminium | 260 | 520 | 1xM32 | 210-254 | 254 | 160 | 351 | 145 | 42 | N0 | 45 | 12 | 6309-ZZ | 6208-ZZ | 45*72*10 40*62*10 | 350 | 250 | 300 | - | 185
C 15 4 Q2HI32M4E | Aluminium | 260 | 539 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ K 6208-ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 | - | 145
15 4 Q2HSI60L4A | Aluminium | 260 | 520 | 1xM32 | 210-254 | 254 | 160 | 351 | 145 | 42 N0 | 45 | 12 | 6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10 | 350 | 250 | 300 | - | 185
15 6 Q2HIBOL6A | Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 437 145 | 48 N0 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 250 K 300 - 185
C 185 2 Q2HI32M2C | Aluminium | 260 | 539 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 10 | 6208-ZZ | 6208-ZZ | 40*62*10 40*62*10 | 300 | 230 | 265 | - | 145
185 | 2 Q2HSIB0L2A | Aluminium | 260 | 520 | 1xM32 | 210-254 | 254 | 160 | 351 | 145 | 42 | 10 | 45 | 12 | 6309-ZZ | 6208-ZZ | 45*72*10 | 40*62*10 | 350 | 250 | 300 | - | 185
C 185 4 Q2HIBOL4B | Aluminium | 305 | 591 | 1xM32 | 210-254 | 254 | 160 | 368 | 145 | 42 | 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 45*72*10 | 350 | 250 | 300 | - | 185
185 4 Q2HSI80M4A | Aluminium | 305 | 596 | 1xM32 | 241-279 | 279 | 180 | 398 | 145 | 48 | 10 | 515 | 14 | 6310-ZZ | 6209-ZZ | 50*80*10 45*72*10 | 350 | 250 | 300 | - | 185
185 6 Q2H200L6B | Aluminium | 349 | 706 | 1xM50 305 318 | 200 | 455|185 |55 | N0 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10 | 400 | 300 | 350 | - | 185
C 22 2 Q2HI60L2C | Aluminium | 305 | 591 | 1xM32 | 210-254 | 254 | 160 | 368 | 145 | 42 | 110 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 45*72*10 | 350 | 250 | 300 | - | 185
22 2 | Q2HSIBOM2A | Aluminium | 305 | 596 | 1xM32 | 241-279 | 279 | 180 | 398 | 145 | 48 | 10 | 515 | 14 | 6310-ZZ | 6209-ZZ | 50*80*10 | 45*72*10 | 350 | 250 | 300 | - | 185
C 22 4 Q2HI60L4C | Aluminium | 305 | 591 | 1xM32 | 210-254 | 254 | 160 | 368 | 145 | 42 | 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 | - | 185
22 4 Q2HSI80L4B | Aluminium | 305 | 596 | 1xM32 | 241-279 | 279 | 180 | 398 | 145 | 48 | 110 | 515 | 14 | 6310-ZZ | 6209-ZZ | 50*80*10 | 45*72*10 | 350 | 250 | 300 |- | 185
22 6 Q2H200L6C | Aluminium | 349 | 706 | 1xM50 | 267-305 | 318 | 200 455 185 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*I0 | 60*90*10 | 400 300 350 - 185
SC 30 2 Q2HIBOL2DE | Aluminium | 305 | 591 | 1xM32 | 210-254 | 254 | 160 | 368 | 145 | 42 | 10 | 45 | 12 | 6309-ZZ | 6209-ZZ | 45*72*10 45*72*10 | 350 | 250 | 300 | - | 185
C 30 2 Q2HI80OM2B | Aluminium | 349 | 696 | IxM40 | 241-279 | 279 | 180 | 437 | 145 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*I0 | 350 | 250 | 300 | - 185
30 2 Q2H200L2B | Aluminium | 349 | 706 | 1xM50 | 267-305 | 318 | 200 | 455 | 185 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10 | 400 300 | 350 | - 185
C 30 4 Q2HI80L4C | Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 437 | 145 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 50*80*10 | 350 | 250 | 300 | - | 185
30 4 Q2H200L4C | Aluminium | 349 | 706 | 1xM50 | 267-305 | 318 | 200 | 455 | 185 | 55 | 110 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10 | 400 | 300 | 350 | - | 185
30 6 Q2E225MBB | Aluminium | 456 | 765 | IxM50 | 286-311 | 356 | 225 | 485 | 185 | 60 | 140 | 64 | 18 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*I13 | 450 | 350 | 400 | - | 185
C 37 2 Q2HI8OM2C | Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 437 | 145 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 50*80*10 | 350 | 250 | 300 | - | 185
37 2 Q2H200L2C | Aluminium | 349 | 706 | 1xM50 | 267-305 | 318 | 200 | 455 | 185 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*I0 | 400 | 300 | 350 | - | 185
SC 37 4 Q2HIBOL4A | Aluminium | 349 | 696 | 1xM40 | 241-279 | 279 | 180 | 398 | 145 | 48 | 110 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*10 | 50*80*10 | 350 | 250 | 300 | - | 185
C 37 4 Q2H200L4D | Aluminium | 349 | 759 | 1xM50 | 267-305 | 318 | 200 455 | 185 | 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 60*90*10 | 400 300 K 350 | - | 185
37 4 Q2E225M4A | Aluminium | 456 | 765 | 1xM50 | 286-311 | 356 | 225 | 485 185 | 60 140 | 64 | 18 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13 | 450 | 350 | 400 | - | 185
SC 45 2 Q2H180L2D | Aluminium | 349 | 696 | IxM40 | 241-279 | 279 | 180 | 437 | 145 | 48 | 10 | 515 | 14 | 6310-ZZ | 6310-ZZ | 50*80*I0 | 50*80*10 | 350 | 250 | 300 | - | 185
C 45 2 Q2H200L2D | Aluminium | 349 | 759 | 1xM50 | 267-305 | 318 | 200 | 455 | 185 | 55| 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*I0 | 60*90*10 | 400 | 300 | 350 | - | 185
45 2 Q2E225M2A | Aluminium | 456 | 735 | 1xM50 | 286-311 | 356 | 225 | 485 185 | 55 | 10 | 59 | 16 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13 | 450 | 350 | 400 | - | 185
45 4 Q2E225M4B | Aluminium | 456 | 765 | 1xM50 | 286-311 | 356 | 225 485 185 | 60 | 140 | 64 | 18 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13 | 450 | 350 | 400 | - | 185
SC 55 2 Q2H200L2E | Aluminium | 349 | 759 | IxM50 | 267-305 | 318 | 200 | 455 ' 225 55 | 10 | 59 | 16 | 6312-ZZ | 6310-ZZ | 60*90*10 | 50*80*10 | 400 | 300 | 350 | - | 185
C 55 2 Q2E225M2C | Aluminium | 456 | 735 | IxM50 | 286-311 | 356 | 225 485 185 | 55 | 10 | 59 | 16 | 6313-ZZ | 6313-ZZ | 65*100*13 | 65*100*13 | 450 | 350 | 400 | - | 185
55 2 Q2E250M2A | Aluminium | 527 | 886 | 2*M50 349 406 1250 | 615 | 24 | 60 | 140 | 18 | B4 | B315-2Z | 6313-2Z | 75*N2*12 | 65*100*13 | 550 | 450 | 500 | - | 185

53 | WAT | IM en 221



DIMENSION - Bl4a, B34a

AC

[ in]
2olg
I 4
i‘ oo@
NN Z |
&&S‘sri Jla 5éo - |
= |
o o Mo |
R -
K
E C B
L

GA

ft
Number Housing 5 Drive Non drive . Non drive
of Motor Type AC | L Al H|HD|K|D"| E | GA |F® : ) Drive Side )
A AR R AR AR B R

012 4 Q2E63M4A | Aluminium | 123 | 220 | IxM20 | 80 100 | 63 | 162 | 7 | N | 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 M5

018 2 Q2E63M2A | Aluminium | 123 | 220 | IxM20 | 80 100 | 63 (162 7 | N | 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 M5

018 4 Q2E63M4B | Aluminium | 123 | 220 | IxM20 80 00| 63 162 | 7 | 1 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 90 | 60 | 75 M5

0.25 2 Q2E63M2B | Aluminium | 123 | 220 | IxM20 80 100 | 63 | 162 | 7 I 23 | 125 | 4 | 6201-2Z | 6201-2Z | 12*22*7 | 12*22*7 | 90 | 60 | 75 M5

025 4 Q2E7IM4C | Aluminium | 138 | 253 | IxM20 | 90 12 71 1190 | 7 | ¥4 | 30 | 16 | 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 M6

037 2 Q2E7IM2C | Aluminium | 138 | 253 | IxM20 | 90 m | 71 1190 7 14 | 30 16 | 5 6202-ZZ  6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 M6

037 4 Q2E7IM4D | Aluminium | 138 | 253 | 1xM20 90 m | 7111907 |14 |30 16 5 | 6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 M6

055 2 Q2E7IM2D | Aluminium | 138 | 253 | 1xM20 90 n2 | 71 (190 |7 |14 | 30 16 5 | 6202-ZZ | 6202-7ZZ | 15*24*5 | 15*24*5 | 105 | 70 | 85 M6

055 4 Q2HBOM4B | Aluminium | 158 | 268 | 1xM20 | 100 125 | 80 | 216 |10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6

075 2 Q2H8OM2B | Aluminium | 158 | 268 | IxM20 | 100 125 | 80 216 |10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6

075 4 Q2H80M4C | Aluminium | 158 | 268 | 1xXM20 100 125|180 [ 216 |10 | 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6

0.75 6 Q2H90S6B | Aluminium | 172 | 344 | 1xXM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | N5 M8

11 2 Q2HBOM2C | Aluminium | 158 | 268 | 1xM20 | 100 125 |80 | 216 |10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6

C 11 4 Q2H80M4D | Aluminium | 158 | 268 |1xM20 | 100 | 125| 80 | 216 |10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 A 80 | 100 M6
11 4 Q2HS90S4B | Aluminium | 158 | 278 | 1xM25 | 100-125 | 140 | 90 | 213 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6204-Z7 | 25*40*7 | 20*30*7 | 140 | 95 | 15 M8

11 6 Q2H90L6C | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 M8

C 15 2 Q2H80M2D | Aluminium | 158 | 268 | 1xM20 | 100 | 125 | 80 | 216 |10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6
15 2 Q2HS90S2B | Aluminium | 158 | 278 | IxM25 | 100-125 | 140 | 90 | 213 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 140 | 95 | 15 M8

C 15 4 Q2H80M4DE | Aluminium | 158 | 268 | 1xM20 | 100 125 | 80 | 216 | 10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6
15 4 Q2HS90L4C | Aluminium | 158 | 303 | 1xM25 | 100-125 | 140 | 90 | 213 | 10 | 24 | 50 | 27 8 | 6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 140 | 95 | 15 M8

15 6 Q2HI00L6C | Aluminium | 191 | 400 | 1xM25| 140 160 | 100 (243 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 160 | N0 | 130 M8

C 22 2 Q2H80M2DE | Aluminium | 158 | 268 | 1xM20 | 100 | 125 | 80 | 216 10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6
22 2 Q2HS90L2C | Aluminium | 158 | 303 | 1xM25 | 100-125 [ 140 | 90 | 213 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 140 | 95 | 05 M8

© 22 4 Q2H90L4D | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 |10 | 24 | 50 | 27 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 M8
22 4 Q2HSI00L4B | Aluminium | 172 | 349 | 1xM25 | 140 160 | 100 | 233 | 12 | 28 | 60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 1O | 130 M8

22 6 Q2H12M6C | Aluminium | 210 | 396 | IxM25 | 140 | 190 | 112 |265| 12 | 28 | 60 | 31 | 8 |6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 M8

C 3 2 Q2H90L2D | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 115 M8
3 2 Q2HSI00L2B | Aluminium | 172 | 349 | IxM25 140 160 | 100 | 233 | 12 | 28 | 60 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 10 | 130 M8

C 3 4 Q2H90L4DE | Aluminium | 172 | 379 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 M8
3 4 Q2HSI00L4C | Aluminium | 172 | 384 | IxM25 | 140 | 160 | 100 1233 12 | 28 | 60 | 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 10 | 130 M8

3 6 Q2HI32M6A | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 Mo

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885
(3) Tolerance DIN EN 50347 “j6”

B4 | WAT | IM en 22



Mom Dimensions Foot Mounted Motors Shaft Flange (FC) (Bl4a)

Number Housing " Drive Nondrive | . o
of Motor Type GA | F® ) Drive Side "
Poles Type Side Side

Q2H90L2DE | Aluminium 3785 | IxM25 | 100-125 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7
8

Q2HSTI2M2B | Aluminium | 191 | 399 | IxM25 | 140 190 12 (254 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ  30*47*7 | 25*40*7 | 160 | 10 | 130 | - | M8
8
8

Non drive

Side

n

Q2HS100L2C | Aluminium | 172 | 384 | 1xM25 | 140 160 | 100 | 233 | 12 | 28 | 60 | 3I 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 10 | 130 | - | M8
Q2HI00L4D | Aluminium | 191 | 400 |IxM25| 140 |160 100 243 12 | 28 60 | 3 6306-77 | 6205-ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 | - | M8

2

2

4
4 Q2HSI2M4C | Aluminium | 191 | 399 | IxM25 140 190 | 12 | 254 | 12 | 28 | 60 3l 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | M0 | 130 | - | M8
6 Q2HI32M6B | Aluminium | 260 | 481 | 1xM32 | 140-178 | 2I6 | 132 | 312 | 12 | 38 | 80 4] 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO
SC 55 2 Q2HI00L2DE | Aluminium | 191 | 3995 | 1xM25 140 160 | 100 | 243 | 12 | 28 | 60 | 31 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 160 | N0 | 130 | - | M8
G 515) 2 Q2HSN2M2C | Aluminium | 191 | 399 | IxM25 140 190 | 12 | 254 | 12 | 28 | 60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 10 | 130 | - | M8
55 2 Q2HS132S2B | Aluminium | 210 | 422 | 1xM25 | 140-178 | 216 | 132 | 283 | 12 | 38 | 80 4] 10 | 6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7 | 200 | 130 | 165 | - | MIO
C 55 4 Q2HN2M4D | Aluminium | 210 | 421 | 1xM25 140 190 | 12 | 265| 12 | 28 | 60 3l 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 160 | M0 | 130 | - | M8
55 4 Q2HSI32S4A | Aluminium | 210 | 422 |1xM25 | 140-178 | 216 | 132 1283 | 12 | 38 | 80 | 41 | 10 | 6208-2Z | 6206-2Z | 40*62*10 | 30*47*7 | 200 | 130 | 165 | - | MIO
515) 6 Q2H132M6C | Aluminium | 260 | 481 |1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO
SC 75 2 Q2HI00L2E | Aluminium | 191 | 422 | 1xM25 140 160 | 100 {243 | 12 | 28 | 60 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 160 | M0 | 130 | - | M8
C 75 2 Q2HS1I2M2D | Aluminium | 191 421 | 1xM25 140 190 | 12 (254 |12 28 | 60 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | M0 | 130 | - | M8
75 2 Q2HS132S2C | Aluminium | 210 | 422 | 1xM25 | 140-178 | 216 | 132 | 283 | 12 | 38 | 80 | 4l | 10 | 6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7 | 200 | 130 | 165 | - | MIO
75 4 Q2H132M4C | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO
C n 2 Q2H132M2A | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO
C n 4 Q2H132M4D | Aluminium | 260 | 539 |1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 4] 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO
C 15 2 Q2H132M2B | Aluminium | 260 | 539 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO
C 15 4 Q2HI132M4E | Aluminium | 260 | 539 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO
C 185 2 Q2H132M2C | Aluminium | 260 | 539 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 200 | 130 | 165 | - | MIO

55 | WAT | IM en 22



DIMENSION - Blab, B34b

SRS

> -
L lo o o |
‘A =0
[l ) : =
slaleg T Eo—
_ =
A
TR T
i Kl
i | B ]
L

Main Dimensions

Foot Mounted Motors

|
0
HD

Lx90°

Seal

Flange (FC) (Bl4a)

N:EE:r Motor Tupe Housing [érlg/: Nog‘ssve Nog‘vggve s

012 4 Q2E63M4A | Aluminium | 123 | 220 | 1IxM20 | 80 100 | 63 | 162 | 7 | T | 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 M6

018 2 Q2EG3M2A | Aluminium | 123 | 220 | IxM20 | 80 100 63 |62 | 7 | T | 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 M6

018 4 Q2E63M4B | Aluminium | 123 | 220 | 1xM20 80 100 63 | 1B2 | 7 | 1 23 | 125 | 4 | 6201-ZZ | 6201-ZZ | 12*22*7 | 12*22*7 | 120 | 80 | 100 M6

025 2 Q2E63M2B | Aluminium | 123 | 220 | 1xXM20 80 100 63 162 7 | 1 23 | 125 | 4 | 6201-2Z | 6201-2Z | 12*22*7 | 12*22*7 | 120 | 80 | 100 M6

025 4 Q2E7IM4C | Aluminium | 138 | 253 | 1xM20 | 90 M2 | 71 |190 | 7 | 14 | 30 16 | 5 | 6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | 15 M8

037 2 Q2E7IM2C | Aluminium | 138 | 253 | 1xM20 | 90 M2 | 71 1190 | 7 | 14 | 30 16 | 5 |6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | 15 M8

037 4 Q2E7IM4D | Aluminium | 138 | 253 | 1xM20 90 m | 71 1190 |7 |14 | 30 16 5 | 6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | 15 M8

0.55 2 Q2E7IM2D | Aluminium | 138 | 253 | 1xM20 90 m2 | 71 11907 14| 30 16 5 | 6202-ZZ | 6202-ZZ | 15*24*5 | 15*24*5 | 140 | 95 | NS M8

055 4 Q2HBOM4B | Aluminium | 158 | 268 | IxM20 | 100 | 125 | 80 | 216 |10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8

075 2 Q2HBOM2B | Aluminium | 158 | 268 | IxM20 | 100 | 125 | 80 | 216 |10 | 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8

075 4 Q2H80M4C | Aluminium | 158 | 268 | 1xXM20 100 125|180 [ 216 |10 | 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8

075 6 Q2H90S6B | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8

11 2 Q2H80M2C | Aluminium | 158 | 268 |1xM20 | 100 | 125| 80 | 216 |10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8

C 11 4 Q2H80OM4D | Aluminium | 158 | 268 |1xM20 | 100 | 125| 80 | 216 |10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 @ 10 | 130 M8
11 4 Q2HS90S4B | Aluminium | 158 | 278 | 1xM25 | 100-125 | 140 | 90 | 213 | 10 | 24 | 50 | 27 8 | 6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 160 | 10 | 130 M8

11 6 Q2H90LBC | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8

C 15 2 Q2H8OM2D | Aluminium | 158 | 268 | 1xM20 | 100 | 125 | 80 | 216 |10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8
15 2 Q2HS90S2B | Aluminium | 158 | 278 | IxM25 | 100-125 | 140 | 90 | 213 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 160 | 10 | 130 M8

C 15 4 Q2HBOM4DE | Aluminium | 158 | 268 | 1xM20 100 125|180 [ 216 |10 | 19 | 40 | 215 | 6 |6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8
1.5 4 Q2HS90L4C | Aluminium | 158 | 303 | IxM25 | 100-125 | 140 | 90 | 213 | 10 | 24 | 50 | 27 8 | 6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 160 | 10 | 130 M8

15 6 Q2HI00L6C | Aluminium | 191 | 400 | 1xM25 | 140 | 160 | 100 | 243 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 Mio

C 22 2 Q2HBOM2DE | Aluminium | 158 | 268 | IxM20 | 100 | 125 | 80 216 |10 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8
22 2 Q2HS90L2C | Aluminium | 158 | 303 | IxM25 | 100-125 | 140 | 90 | 213 | 10 | 24 | 50 | 27 | 8 |6305-ZZ | 6204-ZZ | 25*40*7 | 20*30*7 | 160 | N0 | 130 M8

C 22 4 Q2H90L4D | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 [ 223 | 10 | 24 | 50 | 27 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8
22 4 Q2HSI00L4B | Aluminium | 172 | 349 | IxM25 | 140 160 | 100 (233 | 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 Mio

22 6 Q2HN12MBC | Aluminium | 210 | 396 | IxM25 | 140 190 112 (265 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 1 200 | 130 | 165 Mio

C 3 2 Q2H90L2D | Aluminium | 172 | 344 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8
3 2 Q2HSI00L2B | Aluminium | 172 | 349 | 1xM25 140 160 | 100 | 233 | 12 | 28 | 60 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 MI0

C 3 4 Q2H90L4DE | Aluminium | 172 | 379 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 24 | 50 | 27 | 8 |6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8
3 4 Q2HSI100L4C | Aluminium | 172 | 384 | xM25 | 140 160 | 100 (233 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 Mo

3 6 Q2HI32MBA | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 M2

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm

(2) According to DIN 6885

(3) Tolerance DIN EN 50347 “j6”

56 | WAT | IM en 22



Mcun Dimensions Foot Mounted Motors Shoft Flange (FC) (Bl4a)

NU’;}UET Moator Tupe Housing > Drive Non drive Drive Side Non drive N
Poles u Type Side Side Side

Q2HY0L2DE | Aluminium | 172 1XM25 | 100-125 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160
Q2HS100L2C | Aluminium | 172 | 384 |1xM25| 140 160 100 |233| 12 | 28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | - | MIO
Q2HST2M2B | Aluminium | 191 | 399 | IxM25| 140 190 | 12 254 12 | 28 | 60 | 31 | 8 |6306-ZZ  6205-ZZ  30*47*7 | 25*40*7 1 200 130 | 165 | - | MIO
8
8

n

Q2HI00L4D | Aluminium | 191 | 400 | IxM25 | 140 |160 100 243 12 | 28 60 | 3l 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | - | MIO
Q2HS1I2M4C | Aluminium | 191 | 399 |IxM25 | 140 | 190 12 254 12 | 28 60 | 3
Q2H132M6B | Aluminium | 260 | 481 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ  6208-ZZ | 40*62*10 | 40*62*10 250 180 | 215 | - | MI2

6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | - | MIO

2

2

4

4

6
SC 55 2 Q2HI00L2DE | Aluminium | 192 | 400 |1xM25 140 160 | 100 | 243 | 12 | 28 | 60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | - | MIO
© 55 2 Q2HSI2M2C | Aluminium | 191 | 399 | IxM25 140 190 | 12 | 254 | 12 | 28 | 60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | - | MIO
55 2 Q2HS132S2B | Aluminium | 210 | 422 | 1xM25 | 140-178 | 216 | 132 | 283 | 12 | 38 | 80 4] 10 | 6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7 | 250 | 180 | 2IS | - | M2
C 515 4 Q2HN2M4D | Aluminium | 210 | 421 | 1xM25 140 190 | 12 |265| 12 | 28 | 60 | 31 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | - | MIO
55 4 Q2HSI32S4A | Aluminium | 210 | 422 |1xM25 | 140-178 | 216 | 132 1283 | 12 | 38 | 80 | 41 | 10 | 6208-2Z | 6206-2Z | 40*62*10 | 30*47*7 | 250 | 180 | 215 | - | MI2
55 6 Q2H132M6C | Aluminium | 260 | 481 |1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 | - | MI2
SC 75 2 Q2HIOOL2E | Aluminium | 192 | 422 | 1xM25 140 160 | 100 1243 |12 28 | 60 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 | - | MIO
C 75 2 Q2HSN2M2D | Aluminium | 191 | 421 | 1xM25 140 190 | 12 | 254 | 12 | 28 | 60 | 3l 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 | - | MIO
75 2 Q2HS132S2C | Aluminium | 210 | 422 | 1xM25 | 140-178 | 216 | 132 | 283 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6206-ZZ | 40*62*10 | 30*47*7 | 250 | 180 | 2I5 | - | MI2
75 4 Q2H132M4C | Aluminium | 260 | 481 |1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 | - | MI2
C n 2 Q2H132M2A | Aluminium | 260 | 481 | 1xM32 | 140-178 | 2I6 | 132 | 312 | 12 | 38 | 80 4] 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 | - | M2
C n 4 Q2HI132M4D | Aluminium | 260 | 539 |1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 4] 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 2I5 | - | M2
C 15 2 Q2H132M2B | Aluminium | 260 | 539 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 215 | - | MI2
© 15 4 Q2HI132M4E | Aluminium | 260 | 539 | 1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 | 41 | 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 2IS | - | MI2
C 185 2 Q2H132M2C | Aluminium | 260 | 539 |1xM32 | 140-178 | 216 | 132 | 312 | 12 | 38 | 80 4] 10 | 6208-ZZ | 6208-ZZ | 40*62*10 | 40*62*10 | 250 | 180 | 2I5 | - | MI2

57 | WAT | M en 221






I HREE
PHASE
CAST IRON
MOTORS

OO
C )
( )
[ ] C )
C )
o )
\
( ) v




ELECTRICAL CHARACTERISTICS AT 50 Hz

RATED VALUES

; * Sound
down EFFICIENCY ‘ .
HOUSING CURRENT TORQUE Pressure
POWER SPEED | CURRENT | TORQUE Torque Level
TYPE % o

pm Nm Mk/ Mn 4/4 | 3/4 .

2 pole 3000 rpm

Q3HG8OM2C | Cost lron | 075 1 2890 16 25 82 - 33 - 40 807 | 795 | 758 082 0,00140 19 57

= (Q3HG8OM2D | Cast Iron 110 15 2900 24 36 74 - 35 - 43 827 | 802 | 764 08l 0.00170 22 57
§ Q3HG90L2C Cost Iron | 150 2 2930 31 49 95 - 30 - 49 842 | 862 | 842 084 000249 26 62
Bl Q3HGI0L2D Cost Iron | 220 3 2917 43 72 92 - 3l - 49 859 | 864 | 852 087 000283 30 62
Q3HGIo0L2D | Cost lron | 3,00 4 2925 55 98 1.8 - 38 - 48 871 871 | 854 090 000536 39 63
Q3HGN2M2C | Cast Iron | 4,00 55 2916 74 132 - 107 - 344 43 8810 | 8840 | 8710 090 0.00604 52 67
Q3HSGN2M2C | Cost Iron | 4,00 55 | 2950 77 127 - |86 - 49 58 8810 | 8700 | 8440 | 086 000638 45 68
Q3HSGI32S2C | Cast Iron | 550 75 2918 10 180 - 1.6 - 42 54 8920 | 8830 | 8670 | 090 000772 56 69
Q3HSGI32S2D | Cast lron | 7.50 10 2903 135 247 - 1.0 - 42 52 9010 | 8980 | 8890 | 090 000932 63 69
Q3HGIBOM2C | Cost Iron | 1100 15 2965 201 354 - 4 - 34 51 9120 | 9180 | 9040 | 086 0.03957 84 70
Q3HSGIBOM2D | Cast Iron | 1,00 15 2940 208 358 - 1.8 - 48 65 9120 | 9070 | 8930 | 082 003517 99 70
Q3HGIBOM2D | Cost Iron | 15,00 20 2960 264 484 - 1A - 33 49 9180 | 9150 | 8980 | 089 004322 108 70
Q3HSGIBOM2DE | Cast Iron | 15,00 20 2941 275 488 - |20 - 43 59 9190 | 9050 | 8900 | 086 0.04015 15 71
Q3HGIBOL2C | Cost Iron | 18,50 25 2957 329 56.7 - 106 | - 34 51 9240 | 9280 | 9200 | 087 0.04809 132 70
Q3HSGIBOM2B | Cast Iron | 2200 30 2959 395 710 - 1.8 - 37 54 9270 | 9190 | 8070 | 087 005869 155 77

I=f (Q3HG200L2C | Cast Iron | 30,00 40 2964 512 976 - 104 - 27 41 9330 | 9280 | 9160 091 010277 206 78
o\;? Q3HG200L2D | Cast Iron | 37.00 50 2960 616 187 - 99 - 275 42 9370 | 9370 | 9310 | 092 011383 221 78
Sl (03HG225M2B | Cost lron | 45,00 60 2976 777 l44.4 - 4 - 32 67 9400 | 9440 | 9350 | 089 023500 314 80
Q3HG250M2B | Cast Iron | 55,00 75 2968 936 1771 - 85 - 28 50 9430 | 9390 | 9330 | 090 048700 332 80
Q3EP280M2C | Cast ron | 7500 | 100 | 2975 124.8 2407 - 84 - 22 44 9470 | 9420 | 9310 | 092 0.54000 585 82
Q3EP280M2D | Cast ron | 9000 | 125 | 2975 1507 2889 - 86 = 24 54 9500 | 9470 | 9370 | 093 064500 596 82
Q3HG31582D | Cast Iron | MO00 | 150 | 2989 2022 3516 - .S - 20 54 9520 | 9390 | 9230 | 083 218900 880 84
Q3HG3I5SM2B | Cost Iron | 13200 | 180 | 2984 2262 4232 = 97 = 20 43 9540 | 9510 | 9410 | 087 237790 903 84
Q3HG3I15L2A | Cost lron | 16000 | 215 | 2990 3021 SIe - 1.2 - 26 61 9560 | 9450 | 9270 08l 262170 958 84
Q3HG3I15L2C | Cost Iron | 20000 | 270 | 2983 3430 6403 - |08| - 22 47 9580 | 9540 | 9450 | 087 290860 1013 84
Q3EP355M2C | Cost Iron | 25000 | 280 | 2983 4190 8000 - 73 - 17 25 9580 | 9580 | 9470 | 090 381300 1612 9l
Q3EP355L2B | Cast Iron | 31500 | 353 | 2984 5270 1008.0 = 73 = 18 25 9580 | 9570 | 9440 | 090 4,52000 1771 9l
Q3EP355L2C | Cost Iron | 35500 | 398 | 298l 5940 137.0 - 78 - 22 25 9580 | 9580 | 8500 | 090 558000 | 2002 9l

4 pole 1500 rpm

Q3HG8OM4C | Castlron | 055 | 075 | 1453 14 36 6.6 ° 16 = 20 808 | 793 | 752 073 0.00170 19 57

=§ (Q3HG8OM4D | Caostlon | 075 1 1447 18 50 66 - 26 - 35 825 | 804 | 771 074 0,00261 19 52
§ Q3HG90L4C | Cast Iron 110 15 1445 25 73 77 ° 34 = 40 841 | 832 | 806 078 | 000464 29 53
Bl Q3HGI0L4D | Costlron | 150 2 1449 35 99 8l - 36 - 42 853 | 850 | 82l 076 000526 30 53
Q3HGI00L4C | Cast Iron | 220 3 1453 45 144 96 ° 36 = 44 867 | 863 84 08 0.00871 41 56
Q3HGN2M4D | Cost Iron | 4,00 55 1459 85 261 - 97 - 40 47 886 | 879 | 857 077 001383 56 54
Q3HGI132S4B | Cast Iron | 5,50 75 1470 108 356 = 86 22 37 896 | 890 | 873 08l 0.03560 82 61
Q3HGI32M4D | Cost lron | 750 10 1467 148 488 - 91 - 23 40 904 | 898 | 886 082 | 004030 87 60
Q3HGIBOM4C | Cast Iron | 1.00 15 1475 220 713 = 73 = 27 31 914 | 916 | 907 079 007542 125 62
Q3HSGIBOM4C | Cast Iron | 1,00 15 1470 209 716 - 91 - 26 39 94 | 910 | 90l 084 | 005940 2 63
Q3HGIBOL4B | Cost Iron | 15,00 20 1476 308 96.9 = 77 = 29 36 921 | 914 | 90l 077 0.09005 137 62
Q3HSGIBOM4B | Cast Iron | 1850 25 1474 368 198 - 72 - 27 32 926 | 923 | 917 079 011398 163 67
Q3HGI8OL4B | Cost Iron | 22,00 30 1484 424 1414 = 93 = 28 38 930 | 926 | 915 08l 018660 205 68
Q3HG200L4D | Cast lron | 3000 | 40 1475 548 195.4 - 80 - 25 31 936 | 942 | 939 085 022166 263 68

=¥ (Q3HG225S4B | Cost Iron | 37,00 50 1483 685 2379 = 84 = 285 39 939 | 929 | 97 084 036420 | 323 71
E\E Q3HG225M4C | Cast Iron | 4500 | 60 1481 823 2901 - 78 - 26 42 942 | 938 | 93l 084 | 043500 | 355 71
Sl 03HG250M4B | Castlron | 5500 | 75 1477 1037 3571 = 75 = 28 40 946 | 940 | 934 082 090782 383 72
Q3EP280M4C | Cost lron | 7500 | 100 1485 1389 4823 - 78 - 30 32 95 | 948 94 082 106100 638 73
Q3EP280M4D | Cost Iron | 9000 | 125 1485 1635 5787 = 78 = 30 32 952 | 950 | 939 086 114760 653 73
Q3HG315S4D | Cast Iron | 10,00 | 150 1491 1953 7033 - 1A - 2.86 4] 954 | 945 | 932 085 | 346500 | 908 83
Q3HG3I15M4B | Cost Iron | 13200 | 180 1489 2237 8466 = 9] = 23 32 956 | 956 | 951 089 | 396600 | 995 83
Q3HG3I5L4A | Cost Iron | 160,00 | 215 1489 2706 1026.2 - 95 - 25 33 958 | 9568 | 952 089 | 488320 | 1078 83
Q3HG3I15L4B | Cost Iron | 20000 | 270 | 1489 3450 12826 = 101 = 28 35 960 | 956 | 947 088 | 523440 | 1068 83
Q3EP355M4C | Cast Iron | 250,00 | 280 1491 4220 1601.0 - 75 - 19 24 960 | 960 | 955 089 | 930600 | 1692 82
Q3EP355L4B | Cost lron | 31500 | 353 1491 5320 20170 = 75 = 19 24 960 | 960 | 955 089 | 1006700 @ 1879 82
Q3EP355L4C | Cast Iron | 35500 | 398 1491 6000 22730 - 75 - 20 23 960 | 960 | 955 089 | 190000 | 1953 82

*  According to IEC 60034-2-1
**  The sound pressure measurements are taken 1m away from the motor
**  Tolerance +3 dBA

60 | WAT | IM en 221



DIMENSION - B3

IE3 THREE PHASE CAST IRON MOTORS W

:.
. ), - Ll © -
- 11
1A - g
i ] ;
me = :
- -
| | = =
: . ) "3 3
‘f~ - —
NIt I

P[EVV“V‘*]' upe H?:ZEQ L 0 B Al H|HD| K |C E 2 Nog‘sg"e Drive Side N“glsgve
055 | 4 Q3HGBOMAC | Costlion | 175 | 282 | 2xM25 | 100 | 125 80 | 225| 10 | 50 | 19 | 40 215 | 6 |62047Z | 62047Z | 20%30*7 | 20*30*7
075 | 2 Q3HGBOM2C | Costlhion | 175 | 282 | 2xM25 | 100 | 125 80 |225| 10 | 50 | 19 | 40 215 | 6 | 62047ZZ | 62047Z | 20*30*7 | 20%30*7
075 | 4 Q3HGBOMAD | Costlion | 175 | 282 | 2xM25 | 100 | 125 80 |225| 10 | 50 | 19 | 40 215 | 6 | 62047Z | 62047Z | 20*30%7 | 20%30*7
110 2 Q3HGSOM2D | Castlon | 175 | 37 | 2xM25 | 100 | 125 80 |225 10 |50 | 19 | 40 | 215 | 6 | 6204ZZ 6204 7Z | 20*30*7 | 20*30*7
110 4 Q3HGIOLAC | Costlron | 185 | 369 | 2xM25 | 125 | 140 | 90 232 | 10 | 56 24 | 50 | 27 | 8 |6305ZZ 620577 | 25*40%7 | 25*40*7
150 | 2 Q3HG90L2C | Costlhion | 185 | 339 | 2xM25 | 125 | 140 90 232 | 10 | 56 | 24 50 27 | 8 |6305ZZ | 620577 | 25*40*7 | 25%40*7
150 | 4 Q3HGI0L4D | Costlron = 185 | 369 | 2xM25 | 125 | 140 | 90 232 | 10 56 | 24 | 50 | 27 | 8 |6305ZZ 620577 | 25%40*7 | 25*40%7
220 | 2 Q3HG90L2D | Costlion | 185 | 369 | 2xM25 | 125 | 140 90 232 | 10 | 56 | 24 50 27 | 8 |6305ZZ | 62057Z | 25*40*7 | 25%40*7
220 | 4 Q3HGIOOLAC | Costlion | 203 = 416 | 2xM25 | 140 | 160 | 100 266 12 | 63 28 | 60 | 31 | 8 |6306ZZ 6306ZZ | 30*47*7 = 30%47*7
300 | 2 Q3HGIOOL2D | Costlon | 203 | 416 | 2xM25 | 140 160 | 100 | 266 12 | 63 | 28 60 | 31 | 8 | 6306ZZ 6306ZZ | 30*47*7 | 30*47*7
300 | 4 Q3HGI00LAD | Costhion | 203 = 445 | 2xM25 | 140 | 160 | 100 266 | 12 | 63 28 | 60 | 31 | 8 |63067ZZ 6306ZZ | 30*47%7 = 30%47*7
400 | 2 Q3HGI2M2C | Castlron | 222 | 434  2xM25 | 140 | 190 | 12 | 290 12 | 70 | 28 | 60 | 31 | 8 |63067Z 6306 ZZ | 30%47*7 | 30*47*7
400 | 2 | Q3HSGI2M2C | Costlron | 205 | 416 | 2xM25 | 140 | 190 | 2 (283 | 12 | 70 | 28 60 | 31 8 |6306ZZ 6306ZZ | 30*47*7 | 30*47*7
400 | 4 Q3HGI2MAD | Castlron | 222 | 459 | 2xM25 | 140 | 190 12 290 | 12 | 70 | 28 60 31 | 8 |63067Z 6306 ZZ | 30*47*7 & 30*47*7
550 | 2 | Q3HMSGI32S2C | Costlhon | 222 471 | 2xM25 | 140 |26 | 132 31 | 12 | 89 38 | 80 | 4 | 10 |6308ZZ 6306ZZ | 40*62*I0  40*62*10
550 | 4 Q3HGI3254B | Costlhion | 273 | 533 | 2xM32 | 178 |26 | 132 337 12 | 89 38 80 | 4 | 10 |6308ZZ 6308ZZ | 40*62*10  40*62*10
750 | 2 | Q3HSGI32S2D | Castlron | 222 | 491 | 2xM25 | 140 | 216 182 31 | 12 | 89 38 80 41 | 10 | 63082ZZ 6306 ZZ | 40*62*10 & 40*62*I0
750 | 4 Q3HG132M4D | Costlron | 273 | 533 | 2xM32 | 178 | 216 132 337 | 12 | 89 | 38 80 41 | 10 | 6308 7Z 6308 ZZ | 40*62*I0 & 40*62*10
noo | 2 Q3HGIBOM2C | Costhon | 328 | 626 | 2xM32 | 20 | 254 | 160 387 | 145 | 108 | 42 | 10 | 45 12 | 6309ZZ | 6309ZZ | 45*72*10 @ 45*72*10
100 | 2 | Q3HSGIBOM2D | Costlron | 273 | 563 | 2xM32 | 210 | 254 160 366 | 145 | 108 | 42 10 45 | 12 | 63097Z | 6309 ZZ | 45*72*10 | 45%72*10
noo | 4 Q3HGIBOM4C | Castlon | 328 | 626 | 2xM32 | 210 | 254 160 | 387 | 145 | 108 | 42 10 45 | 12 | 6309ZZ 6309 ZZ | 45*72*10 @ 45%72*10
100 | 4 | Q3HSGIBOM4C | Castlon | 273 | 605 | 2xM32 | 210 | 254 160 366 | 145 | 108 | 42 10 45 | 12 | 6309ZZ | 6309 ZZ | 45*72*10 | 45%72*10
1500 | 2 Q3HGIBOM2D | Castlon | 328 | 626 | 2xM32 | 210 | 254 160 | 387 | 145 | 108 42 10 45 | 12 | 6309ZZ 6309 ZZ | 45*72*10 | 45%72*10
1500 = 2 | Q3HSGIBOM2DE | Costlon = 273 | 605 | 2xM32 | 210 | 254 | 160 | 366 | 145 108 | 42 | 10 | 45 12 |6309ZZ 6308ZZ | 457210 | 45*72*10
1500 | 4 Q3HGIBOL4B | Castlon | 328 | 626 | 2xM32 | 210 | 254 | 160 | 387 | 145 | 108 | 42 | 10 | 45 12 | 6309ZZ | 6309ZZ | 457210 | 45*72*10
1850 | 2 Q3HGIBOL2C | Costlon | 328 | 626 | 2xM32 | 210 | 254 160 | 387 | 145 | 108 | 42 10 45 | 12 | 6309ZZ 6309 ZZ | 45*72*10 | 45%72*10
1850 = 4 | Q3HSGIBOM4B | Castlon 328 | 680 | 2xM32 = 241 | 279 | 180 | 407 | 145 121 | 48 |10 | 5I5 | 4 | 63107Z | 6310 ZZ  50*80*I0 | 50*80*10
2200 2 | Q3HSGIBOM2B | Castlon 328 | 680 | 2xM32 = 241 | 279 | 180 | 407 | 145 121 | 48 |10 | SIS | 14 | 6310ZZ | 6310 ZZ  50*80*I0 | 50*80*I0
2200 | 4 Q3HGIBOL4B | Castlon | 356 | 759 | 2xM40 | 279 | 279 180 | 441 | 145 | 121 | 48 10 55 | 14 | 6310ZZ | 6310ZZ | 50*80*I0 | 50*80*I0
3000 | 2 Q3HG200L2C | Costlon | 356 | 763 | 2xMSO | 305 | 318 | 200 458 | 185 183 | 55 | 10 | 59 16 | 632ZZ | 6310ZZ | 60*90*10 | 50*80*10
3000 | 4 Q3HG200L4D | Costhion | 356 | 816 | 2xMS0 | 305 | 318 200 458 | 185 | 133 | 55 10 59 | 16 | 6327ZZ | 6310ZZ | 60*30%10 | 50*80*I0

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885

61 | WAT | 1M en 221




DIMENSION - B3

Main Dimensions Bearing

Power | Number tor Tuoe Housing Non drive Drive Side Non drive
(kW] | of Poles W Type Side Side

3700 2 Q3HG200L2D Cost Iron | 356 | 763 | 2xM50 305 318 | 200 458 | 185 | 183 | 55 | 10 | 59 | 16 | 631277 | 6310 ZZ | 60*90*10 50*80*10

3700 4 Q3HG22554B Cost Iron | 440 | 818 | 2xM50 286 | 356 | 225 524 | 185 149 | 60 | 140 | 64 | 18 | 631377 | 6313ZZ | 65*100*13 | 65*100*13
45,00 2 Q3HG225M2B | Cast lron | 440 | 789 | 2xMS0 3l 356 | 225 | 524 | 185 | 149 | 55 | N0 | 59 | 6 | 6313ZZ | 6313ZZ | 65*100*13 | 65*100*13
45,00 4 Q3HG225M4C | Cast lron | 440 | 883 | 2xMS0 3l 356 | 225 | 524 | 185 | 149 | 60 | 140 | 64 | 18 | 6313ZZ | 6313ZZ | 65*100*13 | 65*100*13
55,00 2 Q3HG250M2B | Cast lron | 440 | 818 | 2xMS0 349 | 406 | 250 549 | 24 | 168 | 60 | 140 | 64 | 18 | 631577 | 63183ZZ | 75*2*12 75*12*12

55,00 4 Q3HG250M4B | Cast Iron | 440 | 883 | 2xM50 349 | 406 | 250 | 549 | 24 | 168 | 65 | 140 | 69 | 18 | 631577 | 6313 ZZ | 65*I00*13 | 65*100*13
7500 2 Q3EP280M2C Cost Iron | 489 | 1025 | 2xM50 419 457 | 280 | 647 | 24 | 190 | 65 | 140 | 69 | 18 6316 6316 80*100*10 | 80*100*10
7500 4 Q3EP280M4C | Costlron | 489 | 1025 | 2xMS0 419 457 | 280 | 647 | 24 | 190 | 7S | 140 | 795 20 6316 6316 80*100*10 | 80*100*10
90,00 2 Q3EP280M2D Cost Iron | 489 | 1025 | 2xM50 419 457 | 280 | 647 | 24 | 190 | 65 140 @ 69 | 18 6316 6316 80*100*10 | 80*100*10
90,00 4 Q3EP280M4D Cost Iron | 489 | 1025 | 2xMS50 419 457 | 280 | 647 | 24 | 190 | 7S | 140 | 795 20 6316 6316 80*100*10 | 80*100*10
110,00 2 Q3HG315S52D Cost Iron | 638 | 1070 | 2xM63 406 | 508 3IS | 771 | 28 | 216 | 65 140 | 69 | 18 6316 6316 72*94*10 72*94*10

110,00 4 Q3HG31554D Cost Iron | 638 | 100 | 2xM63 406 | 508 31S | 771 | 28 216 | 80 170 | 85 | 22 6319 6319 85*107*10 | 85*107*10
132.00 2 Q3HG315M2B Cost Iron | 638 | 1070 | 2xM63 406 | 508 315 | 771 | 28 | 216 | 65 140 | 69 | 18 6316 6316 72*94*10 72*94*10

132.00 4 Q3HG315M4B Cast Iron | 638 | 100 | 2xM63 406 | 508 315 | 771 | 28 216 | 80 | 170 | 85 | 22 6319 6319 85*107*10 | 85*107*10
160.00 2 Q3HG3I5L2A Cost Iron | 638 | 1070 | 2xM63 406 | 508 31S | 771 | 28 216 | 65 140 | 69 | 18 6316 6316 72*94*10 72*94*10

160,00 4 Q3HG3I5L4A Cast Iron | 638 | 1100 | 2xM63 406 | 508 | 31S | 771 | 28 216 | 80 | 170 | 85 | 22 6319 6319 85*107*10 | 85*107*10
200,00 2 Q3HG3I5L2C Cast Iron | 638 | 1070 | 2xM63 406 | 508 31S | 771 | 28 216 | 65 140 | 69 | 18 6316 6316 72*94*10 72*94*10

200,00 4 Q3HG3I5L4B Cast Iron | 638 | 100 | 2xM63 406 | 508 315|771 | 28 216 | 80 170 | 85 | 22 6319 6319 85*107*10 | 85*107*10
25000 2 Q3EP355M2C Cast Iron | 762 | 1512 | 4xM63 560 | 610 | 355|997 | 28 254 | 75 140 | 80 | 20 6317 6317 85*105*55 | 85*105*55
25000 4 Q3EP355M4C Cost Iron | 762 | 1542 | 4xM63 560 | 610 | 355|997 28 254 | 95 170 | 100 | 25 6322 6322 10*130*55 | 10*130*5,5
315,00 2 Q3EP355L2B Cost Iron | 762 | 1512 | 4xM63 630 | 610 | 355|997 28 254 | 75 140 | 80 | 20 6317 6317 85*105*55 | 85*105*55
315,00 4 Q3EP355L4B Cost Iron | 762 | 1542 | 4xM63 630 | 610 | 355|997 28 254 | 95 170 | 100 | 25 6322 6322 110*130*5,5 | 110*130*5,5
355,00 2 Q3EP355L2C Cost Iron | 762 | 1512 | 4xM63 630 | 610 | 355|997 28 254 | 75 140 | 80 | 20 6317 6317 85*105*5,5 | 85*105*5.5
355,00 4 Q3EP355L4C Cost Iron | 762 | 1542 | 4xM63 630 | 610 | 355|997 28 254 | 95 170 | 100 | 25 6322 6322 110*130*5,5 | 110*130*5,5

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885

62 | WAT | IM en 221



Q
IE3 THREE PHASE CAST IRON MOTORS W

DIMENSION - BS, B35

Shaft Bearing Flange (FA BS, B35)

Motor Type Non drive Non drive

GA ‘ F ‘Drive Side Drive Side

Type

Side side

Housing ‘

055 4 Q3HG8OM4C | Castlron | 175 | 282 | 2xM25 | 100 125 80 (225 10 | 50 | 19 | 40 | 215 | 6 | 6204 ZZ | 6204 ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 | - | 12
075 2 Q3HG8OM2C | Cast lron | 175 | 282 | 2xM25 | 100 125 80 225|110 | 50 | 19 | 40 | 215 6 | 6204 ZZ 6204 ZZ | 20*30*7 | 20*30*7 | 200 130 |65 | - | 12
075 4 Q3HG8OM4D | Castlron | 175 | 282 | 2xM25 | 100 1251 80 (225 10 | 50 | 19 | 40 | 215 | 6 | 6204 ZZ | 6204 ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 | - | 12

110 2 Q3HG8OM2D | Cast lron | 175 | 317 | 2xM25 | 100 125 80 [ 225|110 | 50 | 19 | 40 | 215 | 6 | 6204 ZZ 6204 ZZ | 20*30*7 | 20*30*7 | 200 130 |65 | - | 12

110 4 Q3HG90L4C | Costlron | 185 | 369 | 2xM25 | 125 140 | 90 1232 | 10 | 56 | 24 | 50 | 27 | 8 | 6305ZZ | 620577 | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - | 135
150 2 Q3HG9OL2C | Costlron | 185 | 339 | 2xM25 | 125 140 | 90 282 |10 | 56 | 24 | 50 | 27 | 8 |6305ZZ 6205ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - | 135
150 4 Q3HG90L4D | Castlron | 185 | 369 | 2xM25 | 125 140 | 90 1232 | 10 | 56 | 24 | 50 | 27 | 8 | 6305 ZZ | 620577 | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - | I35
220 2 Q3HG9OL2D | Costlron | 185 | 369 | 2xM25 | 125 140 | 90 282 |10 | 56 | 24 | 50 | 27 | 8 |6305ZZ 6205ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - | 135
220 4 Q3HGI00L4C | Costlron | 203 | 416 | 2xM25 | 140 160 | 100 266 12 | 63 | 28 | 60 | 31 | 8 | 6306 ZZ | 6306 ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - | 145
300 2 Q3HGIOOL2D | Cast Iron | 203 | 416 | 2xM25 | 140 160 | 100 | 266 | 12 | 63 | 28 | 60 | 31 | 8 | 6306 ZZ | 6306 ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - | 145
300 4 Q3HGIO0L4D | Cost Iron | 203 | 445 | 2xM25 | 140 160 | 100 266 12 | 63 | 28 | 60 | 31 | 8 | 6306 ZZ | 6306 ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - | 145
400 2 Q3HGN2M2C | Cast lron | 222 | 434 | 2xM25 | 140 190 | 12 | 290 | 12 | 70 | 28 | 60 | 31 | 8 | 6306 ZZ | 6306 ZZ | 30*47*7 | 30*47*7 | 250 180 | 215 | - | 145
4,00 2 Q3HSGN2M2C | Cost Iron | 205 | 416 | 2xM25 | 140 190 | 12 283 12 | 70 | 28 | 60 | 31 | 8 | 6306 ZZ | 6306 ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - | 145
400 4 Q3HGN2M4D | Cast lron | 222 | 459 | 2xM25 | 140 190 | 12 | 290 | 12 | 70 | 28 | 60 | 31 | 8 | 6306 ZZ | 6306 ZZ | 30*47*7 | 30*47*7 | 250 180 | 215 | - | 145
5,50 2 Q3HSGI132S2C | Cost lron | 222 | 471 | 2xM25 | 140 216 132 | 30 12 | 89 | 3 | 80 | 4 |10 6308 ZZ 6306 ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 | - | 145
5,50 4 Q3HGI32S4B | Cast Iron | 273 | 533 | 2xM32 | 178 216 | 132 /337 | 12 | 89 | 38 | 80 | 41 |10 | 6308 ZZ 6308 ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 | - | 145
750 2 Q3HSGI132S2D | Cost lron | 222 | 491 | 2xM25 | 140 216 132 | 30 12 | 89 | 3 | 80 | 4 |10 6308 ZZ 6306 ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265 | - | 145
750 4 Q3HGI32M4D | Cost lron | 273 | 533 | 2xM32 | 178 216 | 132 /337 | 12 | 89 | 38 | 80 | 41 |10 | 6308 ZZ 6308 ZZ | 40*62*10 | 40*62*10 | 300 | 230 | 265| - | 145
1.00 2 Q3HGIBOM2C | Cast Iron | 328 | 626 | 2xM32 | 210 | 254 | 160 | 387 145|108 | 42 | 10 | 45 | 12 | 6309 ZZ | 6309 ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 | - | 185
1.00 2 Q3HSGIBOM2D | Cast Iron | 273 | 563 | 2xM32| 210 | 254 160 | 366 | 145 108 | 42 | 10 | 45 | 12 | 6309 ZZ 6309 ZZ | 45*72*10 | 45*72*10 | 350 | 250 300 - | 185
1,00 4 Q3HGIBOM4C | Cast lron | 328 | 626 | 2xM32 | 210 | 254 | 160 | 387 145|108 | 42 | 10 | 45 | 12 | 6309 ZZ | 6309 ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 | - | 185
.00 4 Q3HSGIBOM4C | Cast lron | 273 | 605 | 2xM32| 210 | 254 160 | 366 | 145 108 | 42 | 10 | 45 | 12 | 6309 ZZ 6309 ZZ | 45*72*10 | 45*72*10 | 350 | 250 300 - | 185
15,00 2 Q3HGIBOM2D | Cast Iron | 328 | 626 | 2xM32 | 210 | 254 | 160 | 387 145|108 | 42 | 10 | 45 | 12 | 6309 ZZ | 6309 ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 | - | 185
15,00 2 | Q3HSGIGOM2DE | Costlron | 273 | 605 |2xM32 | 210 | 254 | 160 | 366 145 108 | 42 | 10 | 45 | 12 | 6309 ZZ 6309 ZZ | 45*72*10 | 45*72*10 | 350 | 250 300 | - | 185
1500 | 4 Q3HGIBOL4B | Costlron | 328 | 626 |2xM32 | 210 | 254 | 160 | 387 145 108 | 42 | 10 | 45 | 12 | 6309 ZZ | 6309 ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 | - | 185
18.50 2 Q3HGIBOL2C | Cost lron | 328 | 626 | 2xM32 | 210 | 254 | 160 | 387 145|108 | 42 | N0 | 45 | 12 | 6309 ZZ | 6309 ZZ | 45*72*10 | 45*72*10 | 350 | 250 | 300 | - | 185
1850 | 4 Q3HSGIBOM4B | Cost Iron | 328 | 680 | 2xM32 | 241 279 | 180 | 407 (145 | 121 | 48 | 10 | 515 | 14 | 6310 ZZ | 6310 ZZ | 50*80*10 | 50*80*10 | 350 | 250 | 300 | - | 185
2200 2 Q3HSGIBOM2B | Cast Iron | 328 | 680 | 2xM32 | 241 279 | 180 | 407 [145 | 121 | 48 | 1O | 515 | 14 | 6310 ZZ | 6310 ZZ | 50*80*10 | 50*80*10 | 350 | 250 | 300 | - | 185
2200 4 Q3HGIBOL4B | Costlron | 356 | 759 | 2xM40 | 279 | 279 | 180 | 441 145 | 121 | 48 | 10 | 515 | 14 | 6310 ZZ | 6310 ZZ | 50*80*10 | 50*80*10 | 350 | 250 | 300 | - | 185
3000 2 Q3HG200L2C | Cost Iron | 356 | 763 | 2xM50 | 305 | 318 | 200 | 458 | 185 133 | 55 | 10 | 59 | 16 | 6312 ZZ | 6310 ZZ | 60*90*10 | 50*80*10 | 400 | 300 350 - | 185
3000 4 Q3HG200L4D | Cast Iron | 356 | 816 | 2xM50| 305 | 318 | 200 | 458 | 185 | 133 | 55 | 10 | 59 | 16 | 6312 ZZ | 6310 ZZ | 60*90*10 | 50*80*10 | 400 | 300 | 350 | - | 185
3700 2 Q3HG200L2D | Cast lron | 356 | 763 | 2xM50 | 305 | 318 | 200 | 458 185|133 | 55 | 10 | 59 | 16 | 6312 ZZ | 6310 ZZ A 60*90*10 | 50*80*10 | 400 | 300 | 350 | - | 185
3700 | 4 Q3HG225S4B | Cast Iron | 440 | 818 | 2xM50| 286 | 356 | 225 | 524 | 185 | 149 | 60 | 140 | 64 | 18 | 6313 ZZ | 6313 ZZ |65*100*13 |65*100*13 | 450 | 350 | 400 | - | 185
4500 2 Q3HG225M2B | Cast Iron | 440 | 789 | 2xM50 il 356 | 225 524 185|149 | 55 | 10 | 59 | 16 | 6313 ZZ | 6313 ZZ | 65*100*I13 | 65*100*13 | 450 | 350 | 400 | - | 185
4500 4 Q3HG225M4C | Cast Iron | 440 | 883 | 2xM50 3l 356 | 225 | 524 185|149 | 60 | 140 | 64 | 18 | 6313 ZZ | 6313 ZZ | 65*100*I3 | 65*100*13 | 450 | 350 | 400 | - | 185
5500 2 Q3HG250M2B | Cast Iron | 440 | 818 | 2xM50 | 349 | 406 | 250 | 549 | 24 | 168 | 60 | 140 | 64 | 18 | 6315 ZZ | 6313 ZZ | 75*112*12 | 75*12*12 | 550 | 450 | 500 | - | 185
5500 4 Q3HG250M4B | Cost Iron | 440 | 883 | 2xM50 | 349 | 406 | 250 | 549 | 24 | 168 | 65 | 140 | 69 | 18 | 6315 ZZ | 6313 ZZ |65*100*13 |65*100*13 | 550 | 450 | 500 | - | 185
7500 2 Q3EP280M2C | Cost lron | 489 | 1025 | 2xMS0 | 419 | 457 | 280 | 647 | 24 | 190 65 140 | 69 | 18 6316 6316 | 80*100*10 | 80*100*10 | 550 | 450 | 500 | - | 185
7500 4 Q3EP280M4C | Cost Iron | 489 | 1025 | 2xMS0 | 419 | 457 | 280 | 647 | 24 | 190 | 75 | 140 |795|20 | 6316 6316 | 80*100*10 | 80*100*10 | 550 | 450 | 500 | - | 185
9000, 2 Q3EP280M2D | Cost Iron | 489 | 1025 | 2xMS0 | 419 | 457 | 280 | 647 | 24 190 | 65 140 | 69 | 18 6316 6316 | 80*100*10 | 80*100*10 | 550 | 450 | 500 | - 185
9000 4 Q3EP280M4D | Cost Iron | 489 | 1025 | 2xMS0 | 419 | 457 | 280 | 647 | 24 | 190 | 75 | 140 |795| 20 | 6316 6316 | 80*100*10 | 80*100*10 | 550 | 450 | 500 | - | 185
nooo | 2 Q3HG315S2D | Cost Iron | 638 | 1070 | 2xM63 | 406 | 508 | 315 | 771 | 28 | 216 | 65 | 140 | 69 | 18 6316 6316 | 72*94*10 | 72*94*10 | 660 | 550 600 | - | 24
1000 | 4 Q3HG315S4D | Cost Iron | 638 | 1100 | 2xM63 | 406 | 508 315 | 771 | 28 | 216 | 80 | 170 | 85 |22 | 6319 6319 | 85*107*10 | 85*107*10 | 660 | 550 | 600 | - | 24

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885
(3) Tolerance DIN EN 50347 “j6”

B3 | WAT [IM en 221



DIMENSION - BS, B35

Main Dimensions Foot Mounted Motors Bearing Flange [FA BS, B35)
Motor Type ol Non drive Non drive

Type Drive Side ! Drive Side )

Side side
13200 2 Q3HG3I15M2B | Cast Iron | 638 | 1070 | 2xM63 | 406 | 508 | 315 | 771 | 28 | 216 | 65 | 140 | 69 | 18 6316 6316 72*94*10 | 72*94*10 | 660 | 550 600 | - | 24
13200 4 Q3HG3I15M4B | Cast Iron | 638 | 100 | 2xM63 | 406 | 508 | 315 | 771 | 28 | 216 | 80 | 170 | 85 | 22 | 6319 6319 85*107*10 | 85*107*10 | 660 | 550 600 | - | 24
16000 2 Q3HG3I15L2A | Cost Iron | 638 | 1070 | 2xM63 | 406 | 508 | 315 | 771 | 28 | 216 | 65 | 140 | 69 | 18 6316 6316 72*94*10 | 72*94*10 | 660 | 550 600 | - | 24
16000 4 Q3HG3I5L4A | Cost Iron | 638 | 00 | 2xM63 | 406 | 508 | 315 | 771 | 28 | 216 | 80 170 | 85 | 22 | 6319 6319 85*107*10 | 85*107*10 | 660 | 550 600 - | 24
20000 2 Q3HG3I5L2C | Cast Iron | 638 | 1070 | 2xM63 | 406 | 508 | 315 | 771 | 28 | 216 | 65 | 140 | 69 | 18 6316 6316 72*94*10 | 72*94*10 | 660 | 550 600 | - | 24
20000 4 Q3HG3I5L4B | Cast Iron | 638 | 100 | 2xM63 | 406 | 508 | 315 | 771 | 28 | 216 | 80 170 | 85 22 6319 6319 85*107*10 | 85*107*10 | 660 | 550 600 | - | 24
25000 2 Q3EP355M2C | Cast Iron | 762 | 1512 | 4xM63 | 560 | 610 | 355 | 997 | 28 | 254 | 75 | 140 | 80 | 20 6317 6317 | 85*105*55 | 85*105*55 | 800 | 680 | 740 | - | 24
25000 4 Q3EP355M4C | Cast Iron | 762 | 1542 | 4xM63 | 560 | 610 | 355 | 997 | 28 | 254 | 95 | 170 | 100 | 25 6322 6322 | 110*130*55 | 110*130*5,5 | 800 | 680 | 740 | - | 24
31500 2 Q3EP355L2B | Cast Iron | 762 | 1512 | 4xM63 | 630 | 610 | 355 | 997 | 28 | 254 | 75 | 140 | 80 |20 | 6317 6317 | 85*105*55 | 85*105*55 | 800 | 680 | 740 | - | 24
31500 4 Q3EP355L4B | Cast Iron | 762 | 1542 | 4xM63 | 630 | 610 | 355 | 997 | 28 | 254 | 95 | 170 | 100 | 25 6322 6322 | 110*130*55 | 110*130*5,5 | 800 | 680 | 740 | - | 24
35500 2 Q3EP355L2C | Cast Iron | 762 | 1512 | 4xM63 | 630 | 610 | 355 (997 | 28 | 254 | 75 | 140 | 80 |20 | 6317 6317 | 85*105*55 | 85*105*55 | 800 | 680 | 740 | - | 24
35500 4 Q3EP355L4C | Cast lron | 762 | 1542 | 4xM63 | 630 | 610 | 355 | 997 | 28 | 254 | 95 | 170 | 100 | 25 6322 6322 | 110*130*55 | 110*130*5,5 | 800 | 680 | 740 | - | 24

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885
(3) Tolerance DIN EN 50347 “j6”

B4 | WAT | IM en 22



DIMENSION - Blab, B34b

e

-

i

,,,
T

~

Q

IE3 THREE PHASE CAST IRON MOTORS W

Number

Main Dimensic

Type
055 4 Q3HG8OM4C | Cast Iron | 175 | 282 | 2xM25| 100 125180 | 225 10 | 50 | 19 | 40 | 215| 6 | 6204 ZZ | 6204 ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6
075 2 Q3HG8OM2C | Cast Iron | 175 | 282 | 2xM25| 100 125 | 80 | 225 |10 | 50 | 19 | 40 |215| 6 | 6204 ZZ | 6204 ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6
075 4 Q3HG8OM4D | Cast Iron | 175 | 282 | 2xM25| 100 125180 | 225 |10 | 50 | 19 | 40 | 215| 6 | 6204 ZZ | 6204 ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6
110 2 Q3HG8OM2D | Cast Iron | 175 | 317 |2xM25| 100 125 | 80 | 225 |10 | 50 | 19 | 40 |215| 6 | 6204 ZZ | 6204 ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 M6
110 4 Q3HGIOL4C | Cast Iron | 185 | 369 | 2xM25| 125 140 | 90 | 232 |10 | 56 | 24 | 50 | 27 | 8 | 8305 ZZ | 6205 ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 M8
150 2 Q38HGI0L2C | Cast Iron | 185 | 339 | 2xM25| 125 140 | 90 | 232 |10 | 56 | 24 | 50 | 27 | 8 | 6305 ZZ | 8205 ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 1S M8
150 4 Q3HGI0L4D | Cast Iron | 185 | 369 | 2xM25| 125 140 | 90 | 232 |10 | 56 | 24 | 50 | 27 | 8 | 8305 ZZ | 6205 ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 M8
220 2 Q3HGI0L2D | Cast Iron | 185 | 369 |2xM25| 125 140 | 90 | 232 |10 | 56 | 24 | 50 | 27 | 8 | 6305 ZZ | 6205 ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 1S M8
220 4 Q3HGI00L4C | Cast ron | 203 | 416 | 2xM25| 140 160 | 100 | 266 |12 | 63 | 28 | 60 | 31 | 8 | 6306 ZZ | 6306 ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 M8
300 2 Q3HGIOOL2D | Cast Iron | 203 | 416 |2xM25| 140 160 | 100 [ 266 | 12 | 63 | 28 | 60 | 31 | 8 | B306 ZZ | 6306 ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 M8
300 4 Q3HGI00L4D | Cost ron | 203 | 445 | 2xM25 | 140 160 | 100 | 266 |12 | 83 | 28 | 80 | 31 | 8 | 6306 ZZ | 6306 ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 M8
400 2 Q3HGI2M2C | Caost Iron | 222 | 434 | 2xM25 | 140 190 | 12 [290 |12 | 70 | 28 | B0 | 31 | 8 | B306 ZZ | 6306 ZZ | 30*47*7 | 30*47*7 | 160 | 10 |130 M8
400 2 Q3HSGN2M2C | Cast Iron | 205 | 416 | 2xM25| 140 190 | 12 | 283 |12 | 70 | 28 | 680 | 31 | 8 | 6306 ZZ | 6306 ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 M8
400 4 Q3HGI2M4D | Cost Iron | 222 | 459 | 2xM25 | 140 190 | 12 [290 |12 | 70 | 28 | B0 | 31 | 8 | B306 ZZ | 6306 ZZ | 30*47*7 | 30*47*7 | 160 | 10 | 130 M8
550 2 Q3HSGI32S2C | Cast Iron | 222 | 471 | 2xM25| 140 216|132 | 31 |12 |89 | 38|80 | 41 |10 | 6308 ZZ | 6306 ZZ | 40*62*10 |40*62*10| 300 | 130 | 165 MIO
550 4 Q3HGI32S4B | Cast Iron | 273 | 533 | 2xM32| 178 216 | 132 | 337 | 12| 89 | 38 | 80 | 41 |10 | 6308 ZZ | 6308 ZZ | 40*62*10 | 40*62*10| 300 | 130 | 165 MIO
750 2 Q3HSGI32S2D | Cast Iron | 222 | 491 | 2xM25| 140 216 | 132 | 30 | 12|89 | 38|80 | 4 |10 | 6308 ZZ | 6306 ZZ | 40*62*10 |40*62*10| 300 | 130 | 165 MIO
750 4 Q3HGI32M4D | Cast Iron | 273 | 533 | 2xM32 | 178 216 | 132 | 337 | 12| 89 | 38| 80 | 41 |10 | 6308 ZZ | 6308 ZZ | 40*62*10 | 40*62*10| 300 | 130 | 165 MIO
1.00 2 Q3HGIBOM2C | Cast Iron | 328 | 626 | 2xM32| 210 | 254 | 160 | 387 145108 | 42 | 10 | 45 | 12 | 6309 ZZ | 6309 ZZ | 45*72*10 | 45*72*10| 250 | 180 | 215 MIO
100 2 Q3HSGIBOM2D | Cast Iron | 273 | 563 | 2xM32| 210 | 254 | 160 | 366 (145|108 | 42 | N0 | 45 | 12 | 6309 ZZ | 6309 ZZ | 45*72*10 |45*72*10| 250 | 180 | 215 MIO
1.00 4 Q3HGIBOM4C | Cast Iron | 328 | 626 | 2xM32| 210 | 254 | 160 | 387 145108 | 42 | 10 | 45 | 12 | 6309 ZZ | 6309 ZZ | 45*72*10 | 45*72*10| 250 | 180 | 215 MIO
100 4 Q3HSGIBOMA4C | Cast Iron | 273 | 605 | 2xM32| 210 | 254 | 160 | 366 (145|108 | 42 | N0 | 45 | 12 | 6309 ZZ | 6309 ZZ | 45*72*10 |45*72*10| 250 | 180 | 215 MIO
1500 2 Q3HGIBOM2D | Cast Iron | 328 | 626 | 2xM32| 210 | 254 | 160 | 387 145108 | 42 | 10 | 45 | 12 | 6309 ZZ | 6309 ZZ | 45*72*10 | 45*72*10| 250 | 180 | 215 MIO
1500 2 |Q3HSGIBOM2DE| Cast Iron | 273|605 [2xM32| 210 | 254 | 160 | 366 [145(108 | 42 | 10 | 45 | 12 | 6309 ZZ | 6309 ZZ | 45*72*10 | 45*72*10 | 250 | 180 | 215 MIO
1500 4 Q3HGIBOL4B | Cast lron | 328|626 | 2xM32| 210 | 254 | 160 | 387 145108 | 42 | 10 | 45 | 12 | 6309 ZZ | 6309 ZZ | 45*72*10 | 45*72*10| 250 | 180 | 215 MIO
1850 2 Q3HGIBOL2C | Cost Iron | 328|626 |2xM32| 210 | 254 | 160 | 387 [145|108 | 42 | 110 | 45 | 12 | 8309 ZZ | 6309 ZZ | 45*72*10 | 45*72*10| 250 | 180 | 215 MIO

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm

(2) According to DIN 6885

(3) Tolerance DIN EN 50347 “j6”

B5 | WAT [IM en 221






OMOKE
EX TRACTION
MOTORS

. X "-\.-l‘
[
™
“-u )
= - 1
. 1 L
" T .
gm EE i ¥ y
. Ll | %4
_ . 1 1 3 i, b
S " 1 '}
- P
. ] o o= .
¥ - i L
& i o F L]
@ L ] - T 2
[ ] o . -
':I - - o L
. ey 5 @ - -
L
. 5 & .
- [
. L
L. "
™
= ]
- ]
]
[
"
™ m
# & ]
" -
L ]
- [ ]
™ L ]
[
® -
. -




' 4
& 1E3 SMOKE EXTRACTION MOTORS

ELECTRICAL CHARACTERISTICS AT 50 H:z

400/690V

*%

*%

RTING VALU

S3H8OM2C Aluminium | 075 100 2903 3l 25 83 = 819 = 43 08l 795 | 758 | 08l 000140 | S7
S3H8OM2D Aluminium | 110 150 2908 43 36 90 - 40 - 43 083 802 | 764 | 083 000170 13 57
S3H90L2C Aluminium | 150 200 2926 5S4 49 95 = 3l = 46 84.2 862 | 842 | 087 000249 17 62
S3H90L2D Aluminium | 220 | 300 2931 85 72 81 - 26 - 4] 859 850 | 830 | 08I 000283 18 62
S3HI00L2D Aluminium | 300 | 4.00 2934 100 98 94 = 34 = 40 871 853 | 851 | 080 | 000536 26 63
S3HII2M2C Aluminium | 400 | 550 2917 75 131 - 94 - 32 4] 881 880 | 858 | 092 | 000604 30 67
S3HI3252C Aluminium | 550 750 2927 Al 180 = 84 = 32 43 892 890 | 885 | 088 002792 50 69
S3HI3252D Aluminium | 750 | 1000 2934 14.5 243 - 94 - 33 48 901 890 | 885 | 086 0.03091 54 69
S3HIBOM2C Aluminium | 1100 | 1500 2971 208 354 = 11 = 33 Sl 912 899 | 876 | 086 003517 8l 70
S3HIBOM2D Aluminium | 1500 | 2000 | 2967 276 483 - 109 - 34 49 919 904 | 879 | 087 004322 87 70
S3HIBOL2C Aluminium | 1850 | 2500 | 2972 374 593 = 10 = 35 5S4 924 907 | 880 | 080 | 004809 94 70
S3HIBOM2A Aluminium | 2200 | 3000 | 2969 403 71 - 97 - 30 41 92.7 928 | 919 | 090 | 009460 115 77
S3H200L2C Aluminium | 3000 | 4000 | 2970 533 973 = 102 = 30 70 933 928 | 916 | 090 010277 151 78
S3H200L2D Aluminium | 3700 | 5000 | 2969 628 1186 - 98 - 29 40 937 937 | 931 | 093 01383 166 78
S3H225M2B Aluminium | 4500 | 8000 | 2976 777 1444 = 104 = 35 56 940 944 | 935 | 089 | 023500 213 80
S3EP250M2B Cast Iron | 5500 | 7500 | 2983 963 1759 - 85 - 24 44 943 936 | 921 | 092 048700 475 8l
S3H280M2C Cast Iron | 7500 | 10000 | 2976 122.7 2397 = 77 = 28 36 947 942 | 93] | 083 | 054000 585 82
S3EP280M2D Cast Iron | 9000 | 12500 | 2980 147.7 2883 - 90 - 26 69 950 951 | 947 | 093 | 064500 596 82

S3HBOM4C Aluminium | 055 | 075 1455 25 36 50 = 2.7 = 36 808 782 | 771 071 000180 I 53
S3H8OM4D Aluminium | 0.75 100 1458 33 49 74 - 32 - 40 825 804 | 771 071 0.0026!1 12 52
S3H90L4C Aluminium | 110 150 1448 43 73 75 = 34 = 39 841 810 | 773 | 077 | 000464 18 53
S3H90L4D Aluminium | 150 200 1452 61 99 80 - 38 - 43 85.3 849 | 820 | 074 | 000526 20 53
S3HIO0L4C Aluminium | 220 | 300 1458 92 144 75 = 35 = 43 86.7 854 | 835 | 080 000871 26 56
S3HI00L4D Aluminium | 300 | 4,00 1457 13 197 86 - 33 - 40 877 861 | 844 | 078 001059 30 58
S3HI2M4D Aluminium | 400 | 550 1765 93 262 = 88 = 37 46 886 873 | 864 | 078 001383 35 54
S3HIZ2S4B Aluminium | 550 | 7.50 1473 12 355 - 87 - 29 39 896 873 | 850 | 08l 003560 52 60
S3HI32M4D Aluminium | 750 | 1000 1474 152 485 = 80 = 23 36 904 900 | 887 | 08I 0.04030 64 63
S3HIBOL4A Aluminium | 11,00 | 15,00 1475 220 713 - 73 - 27 31 914 916 | 907 | 079 | 005940 90 63
S3HIB0L4B Aluminium | 1500 | 2000 | 1480 317 969 = 79 = 30 36 921 914 | 896 | 074 | 009005 100 62
S3HIBOM4B Aluminium | 1850 | 2500 | 1485 350 1189 - 92 - 30 36 926 918 | 903 | 084 018660 142 68
S3HIBOL4B Aluminium | 2200 | 3000 | 1487 424 1411 = 95 = 3l 38 930 926 | 915 | 082 018660 157 68
S3H200L4D Aluminium | 30.00 | 4000 | 1484 572 1942 - 75 - 21 33 936 938 | 936 | 083 022166 176 68
S3H225548 Aluminium | 3700 | 50,00 1481 598 2386 = 88 = 21 37 938 941 | 934 | 091 036400 190 71
S3H225M4C Aluminium | 45.00 | 6000 | 1485 851 2919 - 74 - 26 38 942 938 | 931 | 083 | 043500 236 71
S3EP250M4E Cast Iron | 5500 | 7500 | 1492 1047 3531 = 82 = 30 35 946 938 | 915 08l 090800 494 72
S3EP280M4D Cast Iron | 7500 | 10000 | 1492 136.3 4803 - 77 - 22 37 950 943 | 934 | 083 106100 658 73

According to IEC 80034-2-1
The sound pressure measurements are taken Im away from the motor
Tolerance +3 dBA

B8 | WAT | IM en 221



Q
IE3 SMOKE EXTRACTION MOTORS W

F300 SERIES DIMENSIONS

KESIT A-A

WCEK 25

=

Main D

Non driv

6204 27 6204 27 20*30*7 =

055 4 S3HBOM4C Aluminum | 173 | 263 | M20 100 125 | 80 |22 | 10 | SO | 19 40 215 6
075 2 S3H8OM2C Aluminum | 173 | 263 | M20 100 125 | 80 | 212 | 10 | 50 | 19 40 215 6 6204 27 6204 77 20*30*7 -
075 4 S3HBOM4D Aluminum | 158 | 263 | M20 100 125 | 80 | 26 | 10 | SO | 19 40 215 6 6204 27 6204 27 20*30*7 =
110 2 S3H8OM2D Aluminum | 173 | 263 | M20 100 125 | 80 | 212 | 10 | 50 | 19 40 215 6 6204 27 6204 77 20*30*7 -
110 4 S3H90L4C Aluminum | 188 | 308 | M25 100 140 | 90 | 238 | 10 | 56 | 24 | S0 27 8 6305 ZZ 6205 ZZ 25%40*7 =
150 2 S3H90L2C Aluminum | 188 | 308 | M25 100 140 | 90 | 238 | 10 | 56 | 24 | S0 27 8 6305 27 6205 27 25*40*7 -
150 4 S3HI90L4D Aluminum | 188 | 346 | M25 100 140 | 90 | 238 | 10 | 56 | 24 | S0 27 8 6305 27 6205 ZZ 25*40*7 =
220 2 S3H90L2D Aluminum | 188 | 308 | M25 100 140 | 90 | 238 | 10 | 56 | 24 | S0 27 8 6305 27 6205 27 25*40*7 -
220 4 S3HI00L4C Aluminum | 196 | 348 | M25 140 160 | 100 | 257 | 12 | 63 | 28 | 60 3l 8 6205 27 6306 ZZ 30*47*7 =
300 2 S3HI00L2D Aluminum | 196 | 348 | M25 140 160 | 100 | 257 | 12 | 63 | 28 | 60 3l 8 6306 27 6205 27 30%47*7 -
300 4 S3HI00L4D Aluminum | 196 | 348 | M25 140 160 | 100 | 257 | 12 | 83 | 28 | 60 3l 8 6205 27 6306 ZZ 30*47*7 =
4,00 2 S3HN2M2C Aluminum | 225 | 355 | M25 140 190 | 2 (277 12 | 70 | 28 | 60 3l 8 6306 27 6206 27 30%47%7 -
400 4 S3HII2M4D Aluminum | 225 | 381 M25 140 190 | 2 (277 | 12 | 70 | 28 | 60 3l 8 6206 ZZ 6306 ZZ 30%47*7 =
550 2 S3HI3252C Aluminum | 260 | 430 | M32 140 216|182 323 12 | 89 | 38 | 80 41 10 | 6208 ZZ 6208 ZZ | 40*62*10 -
550 4 S3HI3254B Aluminum | 260 | 430 | M32 140 218 | 182 |323 | 12 | 89 | 38 | 80 41 10 | 6208 ZZ 6208 ZZ | 40%62*10 =
750 2 S3HI3252D Aluminum | 260 | 430 | M32 140 216|182 323 12 | 89 | 38 | 80 41 10 | 6208 ZZ 6208 ZZ | 40*62*10 -
750 4 S3HIZ2M4D | Aluminum | 260 | 490 | M32 178 218 | 182 | 82 | 12 | 89 | 38 | 80 41 10 | 6208 ZZ 6208 ZZ | 40%62*10 =
1.00 2 S3HIBOM2C | Aluminum | 314 | 539 | M32 210 254 | 160 | 374 | 145 | 108 | 42 | 10 45 12 | 630977 6209 77 | 45*72*10 -
1.00 4 S3HIBOL4A Aluminum | 314 | 539 | M32 210 254 | 180 | 374 | 145 | 108 | 42 | 10 45 12 | 630977 6208 ZZ | 45"72*10 =
1500 2 S3HIBOM2D Aluminum | 314 | 539 | M32 210 254 | 160 | 374 | 145 | 108 | 42 | 10 45 12 | 630977 6209 ZZ | 45*72*10 -
1500 4 S3HIBOL4B Aluminum | 314 | 539 | M32 210 254 | 180 | 374 | 145 | 108 | 42 | 10 45 12 | 630977 6209 ZZ | 45"72*10 =
18.50 2 S3HIBOL2C Aluminum | 314 | 539 | M32 210 254 | 160 | 374 | 145 | 108 | 42 | 10 45 12 | 630977 6209 ZZ | 45*72*10 -
1850 4 S3HIBOM4B | Aluminum | 346 | 632 | M40 241 279 | 180 | 430 | 145 | 121 | 48 | 1O SIS | 14 6310 ZZ 6310 ZZ 50*80*10 =
2200 2 S3HIBOM2A | Aluminum | 346 | 632 | M40 241 279 | 180 | 430 | 145 | 121 | 48 | 10 SIS | 14 6310 27 6310 27 50*80*10 -
22,00 4 S3HIBOL4B Aluminum | 346 | 682 | M40 241 279 | 180 | 430 | 145 | 121 | 48 | 1O SIS | 14 6310 ZZ 6310 ZZ 50*80*10 =
3000 2 S3H200L2C | Aluminum | 388 | 692 | M40 267 318 | 200 | 450 | 185 | 133 | 55 | 1O 59 16 6310 Z7Z 6312 77 50*80*10 -
3000 4 S3H200L4D | Aluminum | 388 | 692 | M40 267 318 | 200 | 450 | 185 | 133 | &5 | 1O 59 16 6310 ZZ 6312 ZZ 50*80*10 =
3700 2 S3H200L2D | Aluminum | 388 | 692 | M40 267 318 | 200 | 450 | 185 | 133 | 55 | 1O 59 16 6310 27 6312 27 50*80*10 -
3700 4 S3H22584B | Aluminum | 442 | 6895 | M40 286 356 | 225 | 500 | 185 | 149 | 60 | 140 64 18 6313 ZZ 6313 ZZ | 65*100*13 =
4500 2 S3H225M2B | Aluminum | 442 | 665 | M40 286 356 | 225 | 500 | 185 | 149 | 55 | 10 59 16 6313 77 6313 ZZ | 65*100*13 -
4500 4 S3H225M4C | Aluminum | 442 | 695 | M40 286 356 | 225 | 500 | I1BS | 149 | 60 | 140 64 18 6313 ZZ 6313 ZZ | 65*100*13 =
5500 2 S3EP250M2B | Cost lon | 522 | 795 | MSO el 406 | 250 | 578 | 24 | 168 | 60 | 140 64 18 6316 Z 6316 Z 80*100*10 -
5500 4 S3EP250M4E | Cast on | 522 | 795 | MSO 3l 406 | 250 | 578 | 24 | 188 | 65 | 140 69 18 6316 Z 6316 Z 80*100*10 =
7500 2 S3H280M2C | Castlron | 550 | 929 | MSO 368 457 | 280 | 612 | 24 | 190 | 65 | 140 69 18 6316 Z 6316 Z 80*100*10 -
7500 4 S3EP280M4D | Cast lron | 550 | 929 | MSO 368 457 | 280 | B2 | 24 | 190 | 75 | 140 795 | 20 6316 Z 6316 Z 80*100*10 =
9000 2 S3EP280M2D | Cast lron | 550 | 929 | MSO 368 457 | 280 | 612 | 24 | 190 | 65 | 140 69 18 6316 Z 6316 Z 80*100*10 -

B9 | WAT [ IM en 221



' 4
& 1E2 SMOKE EXTRACTION MOTORS

ELECTRICAL CHARACTERISTICS AT 50 H:z

RTING VALU

S2H80M2B Aluminium | 075 100 2873 30 25 6.7 = 83 = 85 774 765 | 743 | 084 000205 885 54
S2H8OM2C Aluminium | 110 150 2885 43 36 75 - 36 - 38 796 788 | 760 | 081 | 000205 | 103 54
S2H90S2B Aluminium | 150 200 2923 57 49 89 - 29 - €ic 813 793 | 783 | 084 0.00176 122 62
a S2H90L2C Aluminium | 220 | 300 2913 78 73 88 - 29 - 39 832 826 | 846 | 086 | 00023l 168 62
S2H100L2C Aluminium | 3,00 400 2920 103 99 101 - 37 - 45 846 851 | 833 | 089 000266 232 66
S2HSI2M2B Aluminium | 400 | 550 | 2927 77 130 - 102 - 35 4] 858 859 | 843 | 089 | 000487 | 260 68
S2HS13252B Aluminium | 550 7.50 2930 10 180 - 1S - 4] 53 870 861 | 832 | 085 000703 337 69
S2HSI3252C Aluminium | 750 | 1000 | 2918 149 248 - 107 - 39 46 88l 859 | 834 | 085 | 000772 | 365 69
S2HI60M2B Aluminium | 1.00 1500 2964 208 &5 - 96 - 29 42 894 866 | 850 | 087 0.03952 788 70
S2HIBOM2C Aluminium | 1500 | 2000 | 2967 284 483 - 107 - 35 50 903 881 | 850 | 085 | 004015 | 828 70
3 S2HI60L2B Aluminium | 1850 | 2500 | 2964 338 594 - 103 - 32 45 909 894 | 874 | 088 004613 880 70
i S2HI8OM2A Aluminium | 2200 | 3000 | 2971 400 707 - 90 - 25 40 a3 905 | 906 | 080 010913 1180 67
é S2H200M2A Aluminium | 3000 | 40,00 2970 546 96.5 - 90 - 26 42 920 905 | 879 | 088 008643 136.2 78
S2H200L2C Aluminium | 3700 | 5000 | 2971 689 190 - 95 - 29 44 925 923 | 901 | 085 | 010277 | 1780 78
S2H225M2A Aluminium | 4500 | 6000 | 2980 853 1442 - n2 - 37 Sl 929 908 | 878 | 083 023500 2010 8l
S2EP250M2B Cast lron | 5500 | 7500 | 2987 1034 1754 - 12 - 35 54 932 925 | 916 | 086 | 048700 | 4860 82
S2EP280M2C Cast Iron | 7500 | 10000 | 2980 1290 2406 - 89 - 24 32 938 921 | 90l 090 054000 | 5760 84
S2EP280M2D Cast lron | 9000 | 12500 | 2985 1570 2868 - 87 - 26 32 945 935 | 926 | 089 | 064500 | 6100 84
S2H80M4B Aluminium | 055 075 1443 33 50 61 - 27 - 34 796 788 | 740 | 072 0.00216 108 49
S2H80M4C Aluminium | 0.75 100 1450 24 36 55 - 22 - 30 771 766 | 723 | 072 000216 9l 54
S2H90S4B Aluminium | 110 150 1452 46 72 71 - 3l - 38 8l4 808 | 768 | 074 000205 157 54
S2HI90L4C Aluminium | 150 200 1443 62 99 77 - 36 - 42 828 816 | 804 | 073 000328 175 54
S2H100L4B Aluminium | 220 300 1455 82 144 83 - 32 - 39 843 842 | 795 | 079 000694 245 55
S2HI00L4C Aluminium | 300 400 1455 16 198 82 - 34 - 40 855 844 | 804 | 077 000694 260 55
S2HSI2M4C Aluminium | 4.00 5.50 1453 86 261 - 75 - 3l 36 86.6 861 | 844 | 078 0.01085 305 58
S2HIZ2S4A Aluminium | 550 | 750 1470 1l 357 - 79 - 24 35 877 861 | 852 | 084 001414 486 59
S2H132M4C Aluminium | 7.50 1000 1468 152 488 - 77 - 22 35 887 885 | 870 | 082 003560 548 62
S2HIBOM4B Aluminium | 1100 15.00 1474 223 74 - 63 - 23 27 898 884 | 867 08l 005468 756 63
S2HIBOL4A Aluminium | 15,00 | 20,00 1470 295 981 - 55 - 20 23 906 891 | 899 | 083 0.09940 86.2 63
S2HIBOM4A Aluminium | 1850 | 2500 1485 376 ngl - 83 - 26 36 912 908 | 890 | 079 010913 8.0 67
S2HI80L4B Aluminium | 2200 | 30.00 1484 424 1416 - 74 - 24 3l 916 915 | 90l 083 011398 127.0 67
S2H200L4C Aluminium | 30,00 | 4000 1480 569 1954 - 6.7 - 20 27 9923 919 9l 085 018660 1585 70
S2H225S4A Aluminium | 3700 | 5000 1485 731 2385 - 77 - 27 42 927 924 | 910 080 036420 | 2030 71
S2H225M4B Aluminium | 4500 | 6000 1485 855 2900 - 74 - 25 40 931 932 | 925 | 083 043500 | 2238 71
S2EP250M4D Cast Iron | 5500 | 7500 1489 1048 3521 - 6.5 - 22 29 eiS) 940 | 933 08l 036400 | 4650 72
S2EP280M4B Cast Iron | 7500 | 100,00 1490 1379 4809 - 77 - 22 37 950 943 | 934 | 083 106100 6580 73
* According to IEC 60034-2-1
* The sound pressure measurements are taken Im away from the mator
* Tolerance +3 dBA
* According to EN 12101-3

70 | WAT | M en 221



Q
IE2 SMOKE EXTRACTION MOTORS W

ELECTRICAL CHARACTERISTICS AT 50 H:z

o
=}
S5

*k

*k

EFFICIENCY*
HOUSING

OWER SPEED
TYPE POWER PEED

rpm A v / ‘ kgm?2

080 107 2848 19 27 46 - 20 - 24 745 - - 083 56
S2H80M2-4A Aluminium 000205 9
020 027 1437 05 13 - 46 - 17 25 714 - - 082 46
110 147 2865 23 37 50 - 20 - 23 796 - - 087 54
S2H80M2-48B Aluminium 000205 1
025 033 1483 12 16 - 75 - S4 79 685 - - 044 54
150 200 2860 33 50 57 - 23 - 27 750 - - 088 54
S2H90S2-4B Aluminium 000267 16
037 049 1480 15 24 - 94 - 58 85 715 - - 049 57
220 | 293 2835 45 74 51 - 18 - 22 765 - - 092 55
S2H90L2-4C Aluminium 000205 19
050 067 1475 18 32 - 95 - 57 75 750 - - 054 58
250 | 333 2910 52 82 84 - 31 - 37 838 - - 088 70
S2HI00L2-4B Aluminium 000521 26
065 087 1452 14 43 - 94 - 24 3l 780 - - 086 58
310 413 2913 63 102 82 - 28 - 33 825 - - 090 60
S2HI00L2-4D Aluminium 000694 30
080 107 1448 17 53 - 6.4 - 21 29 790 - - 087 57
440 | 587 2925 9l 143 90 - 32 - 39 86.2 - - 085 71
S2HN2M2-4D Aluminium 001383 37
110 147 1455 22 72 - 74 - 23 33 814 - - 085 60
600 | 800 2963 154 193 85 - 33 - 49 855 - - 070 73
S2HI3252-4B Aluminium 003560 62
150 200 1482 3l 97 - 99 - 27 46 820 - - 080 63
800 | 1087 | 2927 163 261 67 - 21 - 3l 878 - - 086 73
S2HI32M2-4D | Aluminium 003842 63
200 267 1468 42 131 - 6.0 - 20 28 815 - - 088 63
1200 | 1600 | 2974 269 386 97 - 35 - 51 897 - - 075 6l
S2HIBOM2-4B | Aluminium 003517 100
300 400 1485 6.3 193 - 88 - 32 43 855 - - 078 56
1600 | 2133 | 2963 301 518 79 - 24 - 35 889 - - 087 62
S2HIB0L2-4B Aluminium 005940 108
400 | 533 1479 77 256 - 66 - 22 29 855 - - 084 58
2500 | 3333 | 2975 450 803 n - 22 - 55 914 - - 088 70
S2HI80L2-4B Aluminium 011398 142
630 | 840 1485 120 405 - 94 - 24 47 885 - - 085 73
2000 | 2667 | 2957 328 646 72 - 20 - 32 914 - - 096 70
S2HI80L2-4C Aluminium 014659 131
500 | 667 1479 90 323 - 60 - 14 28 883 - - 091 73
3300 | 4400 | 2973 663 106.0 97 - 21 - 53 914 - - 080 70
S2H200L2-4B | Aluminium 018598 149
850 | N33 1484 156 547 - 89 - 22 43 916 - - 086 73
3700 | 4933 | 2979 896 194 86 - 29 - 38 930 - - 070 71
S2H225M2-4C | Aluminium 036420 234
900 | 1200 1489 77 580 - 98 - 30 50 904 - - 086 57
4600 | 6133 | 2973 914 1470 82 - 23 - 54 93l - - 088 69
S2H225M2-4D | Aluminium 043500 250
1200 | 1600 1485 224 779 - 75 - 22 37 901 - - 089 57
5500 | 7333 | 2978 920 1764 95 - 20 - 40 933 - - 091 72
S2EP250M2-4C | Cast Iron 036400 506
1500 | 2000 | 1488 260 96.3 - 90 - 24 40 90 - - 091 75
7500 | 10000 | 2983 1398 2403 79 - 24 - 33 938 - - 089 76
S2EP280M2-4B | Cast Iron 114800 609
2000 | 2667 | 1492 391 1292 - 69 - 20 23 909 - - 087 68

According to IEC 60034-2-1
The sound pressure measurements are taken Im away from the motor
Tolerance +3 dBA

71 | WAT | IM en 221



' 4

& 1E2 SMOKE EXTRACTION MOTORS

ELECTRICAL CHARACTERISTICS AT 50 H:z

*%

*%

*%

EFFICIENCY™

pm

060 | 080 1463 21 8ig) 49 - 24 - 67 707 - - 059 54
S2H80M4-8C Aluminium 000205 9
015 020 728 10 20 - 26 - 22 6.0 484 - - 048 58
080 107 1432 18 53 64 - 25 - 33 782 - - 083 54
S2H80M4-8D Aluminium 000216 10
020 027 703 11 27 - 33 - 23 29 494 - - 062 58
120 160 1430 27 80 56 - 2l - 27 855 - - 082 55
S2H90S4-8B Aluminium 000205 17
030 040 705 12 40 - 27 - 15 20 506 - - 059 58
160 213 1427 35 107 55 - 20 - 25 828 - - 085 54
S2H90L4-8C Aluminium 000267 20
040 053 693 14 55 - 28 - 15 20 572 - - 065 57
200 | 267 1465 53 131 75 - 32 - 42 836 - - 070 46
S2H100L4-8B Aluminium 000521 26
050 067 723 25 6.6 - 30 - 24 30 617 - - 050 54
280 | 373 1438 56 186 62 - 20 - 26 843 - - 087 46
S2HI00L4-8C Aluminium 000694 29
070 093 707 21 94 - 32 - 15 20 700 - - 067 54
380 | 507 1458 78 249 75 - 23 - 32 845 - - 082 60
S2HII2M4-8B Aluminium 001085 33
100 133 718 31 133 - 39 - 15 23 708 - - 061 55
500 | 667 1476 102 325 82 - 21 - 36 859 - - 083 59
S2HI3254-8B Aluminium 014136 60
130 173 739 4] 168 - 42 - 15 26 752 - - 058 62
720 | 960 1479 147 464 92 - 21 - 42 887 - - 08l 63
S2HI32M4-8C | Aluminium 003560 66
180 240 737 57 232 - 50 - 16 32 740 - - 055 58
100 | 1467 1476 225 712 6.4 - 23 - 29 898 - - 080 64
S2HI60M4-8B Aluminium 003517 77
300 400 732 9l 393 - 33 - 17 20 800 - - 058 52
1400 | 1867 1475 281 907 54 - 18 - 23 905 - - 08l 63
S2HIB0L4-8A Aluminium 009940 84
350 | 467 734 104 456 - 36 - 18 21 800 - - 058 66
1700 | 2267 | 1484 332 1095 78 - 19 - 32 90 - - 083 70
S2HIBOM4-8B | Aluminium 018660 121
430 | 573 739 122 554 - 44 - 15 23 819 - - 060 66
2000 | 2667 | 1484 390 1289 67 - 20 - 27 914 - - 083 70
S2HI80L4-8A Aluminium 018598 128
500 | 667 731 133 656 - 31 - 14 18 8l4 - - 065 67
2800 | 3733 | 1487 571 1812 87 - 27 - 40 23 - - 080 70
S2H200L4-8B | Aluminium 018660 192
6.50 867 737 174 841 - 44 - 16 23 853 - - 062 73
3000 | 4000 | 1489 710 1931 92 - 3l - 43 23 - - 075 70
S2H200L4-8D | Aluminium 036420 18l
800 | 1067 738 218 1036 - 40 - 15 21 853 - - 062 73
3700 | 4933 | 1483 726 2366 7] - 22 - 32 902 - - 08l 71
S2H22584-8A Aluminium 0.36421 201
920 | 1227 739 232 19.4 - 49 - 18 26 861 - - 067 74
4400 | 5867 | 1483 858 2824 74 - 22 - 33 931 - - 08l l
S2H225M4-8B Cast Iron 0.36421 219
100 | 1467 740 272 1430 - 46 - 20 23 869 - - 066 74
5500 | 7333 | 1488 25 3529 102 - 33 - 45 936 - - 092 72
S2EP250L4-8D | Cast Iron 043500 278
1470 | 1960 740 319 1935 - 72 - 26 30 906 - - 075 75

According to IEC 80034-2-1
The sound pressure measurements are taken Im away from the motor

Tolerance +3 dBA
According to EN 12101-3

72 | WAT | M en 221



Q
IE2 SMOKE EXTRACTION MOTORS W

F300 SERIES DIMENSIONS

£t \ —_ —=T%_
. F’—_‘IE—L£1 . f
L | Lﬁ_
etlll— 2 | ]
T e 5 } °
% x
H- | | L
= “i“_;_“i""i:' LA 1
I L i L - i

Non driv

6204 27 6204 27 20*30*7 =

075 2 S2H8OM2B | Aluminium | 173 | 238 | M20 100 125 | 80 | 23 | 10 | SO | 19 40 215 6
110 2 S2H80M2C | Aluminium | 173 | 263 | M20 100 125 | 80 | 23 | 10 | 50 | 19 40 215 6 6204 27 6204 77 20*30*7 -
150 2 S2H90S28 Aluminium | 189 | 308 | M25 100 140 | 90 | 238 | 10 | 56 | 24 | S0 27 8 6305 ZZ 6205 ZZ 25%40*7 =
220 2 S2H90L2C Aluminium | 189 | 308 | M25 100 140 | 90 | 238 | 10 | 56 | 24 | S0 27 8 6305 27 6205 27 25*40*7 -
300 2 S2HI00L2C | Aluminium | 206 | 348 | M25 140 160 | 100 | 257 | 12 | 83 | 28 | 60 3l 8 6306 ZZ 6205 ZZ 30%47*7 =
4,00 2 S2HSI2M2B | Aluminium | 222 | 348 | M25 140 190 | 12 | 269 | 12 | 56 | 28 | 60 3l 8 6306 27 6205 27 30%47*7 -
550 2 S2HSI132S2B | Aluminium | 245 | 382 | M25 140 218 | 182 | 297 | 12 | 89 | 38 | 80 41 10 | 6208 ZZ 6206 ZZ | 40%62*10 =
750 2 S2HS13282C | Aluminium | 245 | 382 | M25 140 26| 182 | 297 | 12 | 89 | 38 | 80 41 10 | 6208 ZZ 6206 ZZ | 40*62*10 -
1.00 2 S2HIBOM2B | Aluminium | 345 | 538 | M32 210 254 | 160 | 374 | 145 | 108 | 42 | 10 45 12 | 630977 6209 ZZ | 45*72*10 =
15,00 2 S2HIBOM2C | Aluminium | 345 | 538 | M32 210 254 | 160 | 374 | 145 | 108 | 42 | 10 45 12 | 630977 6209 77 | 45*72*10 -
18.50 2 S2HIB0L2B Aluminium | 345 | 568 | M32 210 254 | 160 | 374 | 145 | 108 | 42 | 10 45 12 | 6309 77 6209 ZZ | 45*72*10 =
2200 2 S2HIBOM2A | Aluminium | 346 | 632 | M40 241 279 | 180 | 430 | 15 | 1215 | 48 | 10 SIS | 14 6310 27 6310 ZZ 50*80*10 -
3000 2 S2H200M2A | Aluminium | 346 | 692 | M40 267 318 | 200 | 450 | 185 | 133 | 55 | 1O 59 16 6312 ZZ 6310 ZZ 60*90*10 =
3700 2 S2H200L2C | Aluminium | 346 | 692 | M40 267 318 | 200 | 450 | 185 | 133 | 55 | 1O 59 16 6312 77 6310 ZZ 60*90*10 -
4500 2 S2H225M2A | Aluminium | 442 | 695 | M40 286 356 | 225 | 500 | 185 | 149 | 60 | 140 64 18 6313 ZZ 6313 ZZ | 65*100*13 =
5500 2 S2EP250M2B | Cost on | 522 | 795 | MSO £l 406 | 250 | 578 | 24 | 168 | 65 | 140 69 18 6316 6316 90*130*10 -
7500 2 S2EP280M2C | Costlron | 550 | 929 | M5S0 368 457 | 280 | 612 | 24 | 190 | 75 | 140 795 | 20 6316 6316 90*130*10 =
9000 2 S2EP280M2D | Cost lron | 550 | 929 | MSO 368 457 | 280 | 612 | 24 | 190 | 75 | 140 795 | 20 6316 6316 90*130*10 -
0.55 4 S2H8OM4B | Aluminium | 178 | 263 | M20 100 125 | 80 | 23 | 10 | SO | 19 40 215 6 6204 27 6204 27 20*30*7 =
075 4 S2H8OMA4C | Aluminium | 173 | 263 | M20 100 125 | 80 | 23| 10 | 50 | 19 40 215 6 6204 27 6204 77 20*30*7 -
110 4 S2H90S4B Aluminium | 189 | 308 | M25 100 140 | 90 | 238 | 10 | 56 | 24 | S0 27 8 6305 ZZ 6205 ZZ 25%40*7 =
150 4 S2H90L4C Aluminium | 189 | 308 | M25 100 140 | 90 | 238 | 10 | 56 | 24 | S0 27 8 6305 27 6205 27 25*40*7 -
220 4 S2HI00L4B | Aluminium | 206 | 348 | M25 140 160 | 100 | 257 | 12 | 63 | 28 | 60 3l 8 6306 ZZ 6205 ZZ 30*47*7 =
300 4 S2HI00L4C | Aluminium | 206 | 348 | M25 140 160 | 100 | 257 | 12 | 63 | 28 | 60 3l 8 6306 27 6205 27 30%47*7 -
400 4 S2HSTI2MAC | Aluminium | 222 | 348 | M25 140 190 | 2 | 269 | 12 | 56 | 28 | 60 3l 8 6306 ZZ 6205 ZZ 30%47*7 =
550 4 S2HI32S4A | Aluminium | 291 | 490 | M32 140 2160|182 323 12 | 89 | 38 | 80 41 10 | 6208 ZZ 6208 77 | 40*62*10 -
750 4 S2HIZ2M4C | Aluminium | 291 | 490 | M32 140 2B | 182 323 | 12 | 89 | 38 | 80 41 10 | 6208 ZZ 6208 ZZ | 40*62*10 =
1.00 4 S2HIBOM4B | Aluminium | 345 | 538 | M32 210 254 | 160 | 374 | 145 | 108 | 42 | 10 45 12 | 630977 6209 77 | 45*72*10 -
15.00 4 S2HIBOL4A | Aluminium | 345 | 568 | M32 210 254 | 160 | 374 | 145 | 108 | 42 | 10 45 12 | 630977 6209 ZZ | 45*72*10 =
18.50 4 S2HIBOM4A | Aluminium | 346 | 632 | M40 241 279 | 180 | 430 | 15 | 1215 | 48 | 10 SIS | 14 6310 ZZ 6310 ZZ 50*80*10 -
2200 4 S2HI8OL4B | Aluminium | 346 | 632 | M40 241 279 | 180 | 430 | IS | 1215 | 48 | 10 SIS | 14 6310 ZZ 6310 ZZ 50*80*10 =
3000 4 S2H200L4C | Aluminium | 346 | 692 | M40 267 318 | 200 | 450 | 185 | 133 | 55 | 1O 59 16 6312 77 6310 ZZ 60*90*10 -
3700 4 S2H22554A | Aluminium | 442 | 695 | M40 286 356 | 225 | 500 | 185 | 149 | 60 | 140 64 18 6313 ZZ 6313 ZZ | 65*100*13 =
4500 4 S2H225M4B | Aluminium | 442 | 695 | M40 286 356 | 225 | 500 | 185 | 149 | 60 | 140 64 18 6313 77 6313 ZZ | 65*100*13 -
5500 4 S2EP250M4D | Cast lron | 522 | 795 | MS0 3l 406 | 250 | 578 | 24 | 188 | 65 | 140 69 18 6316 6316 90*130*10 =
7500 4 S2EP280M4B | Cost lon | 550 | 929 | MSO 368 457 | 280 | 612 | 24 | 190 | 75 | 140 795 | 20 6316 6316 90*130*10 -

73 | WAT | M en 22]



' 4
& 1E2 SMOKE EXTRACTION MOTORS

Main Dimensions Foot Mounted s Bearing

Number Housing |
of Poles v Type 0 3 ) K C ) v " S Non drive

0.20-080 2-4 | S2HBOM2-4A | Aluminum | 173 | 238 | M20 100 125 | 80 | 283 | 10 | SO | 19 40 215 6204 27 6204 27 20*30*7 =
0.25-110 2-4 | S2HBOM2-4B | Aluminium | 173 | 263 | M20 100 125 | 80 | 23 | 10 | 50 | 19 40 215 6204 27 6204 77 20*30*7 -
0.37-150 2-4 | S2H90S2-4B | Aluminum | 189 | 308 | M25 100 140 | 90 | 238 | 10 | 56 | 24 | S0 27 6305 27 6205 27 25%40*7 =

6
6
8
050-220 2-4 S2H90L2-4C | Aluminium | 189 | 308 | M25 100 140 | 90 | 238 | 10 | 56 | 24 | S0 27 8 6305 27 6205 27 25*40*7 -
8
8
8

065-2.50 2-4 | S2HI00L2-4B | Aluminum | 206 | 348 | M25 140 160 | 100 | 257 | 12 | 63 | 28 | 60 3l 6306 ZZ 6205 27 30%47*7 =
0.80-310 2-4 | S2HI00L2-4D | Aluminum | 206 | 348 | M25 140 160 | 100 | 257 | 12 | 63 | 28 | 60 3l 6306 27 6205 27 30%47*7 -
110-4.40 2-4 | S2HI2M2-4D | Aluminum | 228 | 380 | M25 140 190 | 2 (277 | 12 | 70 | 28 | 60 3l 6306 27 6205 27 30*47*7 =
150-6.00 2-4 | S2HI3282-4B | Aluminum | 291 | 490 | M32 140 260182 323 12 | 89 | 38 | 80 41 10 | 6208 ZZ 6208 ZZ | 40*62*10 -
200-8.00 2-4 | S2HI32M2-4D | Aluminum | 291 | 490 | M32 140 216 | 182 323 | 12 | 89 | 388 | 80 41 10 | 6208 27 6208 ZZ | 40%62*10 =
300-200 | 2-4 | S2HIBOM2-4B | Aluminium | 345 | 538 | M32 210 254 | 160 | 374 | 145 | 108 | 42 | 10 45 12 | 630977 6209 77 | 45*72*10 -
400-1600 | 2-4 | S2HIBOL2-4B | Aluminium | 345 | 568 | M32 210 254 | 160 | 374 | 145 | 108 | 42 | 10 45 12 | 630977 6209 ZZ | 45"72*10 =
500-2000 | 2-4 | S2HIBOL2-4C | Aluminum | 346 | 683 | M40 241 279 | 180 | 430 | 15 | 1215 ] 48 | 1O SIS | 14 6310 ZZ 6310 ZZ 50*80*10 -
630-2500 | 2-4 | S2HIBOL2-4B | Aluminium | 346 | 683 | M40 241 279 | 180 | 430 | IS |1215| 48 | 1O 515 | 14 6310 ZZ 6310 ZZ 50*80*10 =
850-3300 | 2-4 | S2H200L2-4B | Aluminium | 346 | 692 | M40 267 318 | 200 | 450 | 185 | 133 | 55 | 1O 59 16 6312 77 6310 ZZ 60*90*10 -
900-3700 | 2-4 | S2H225M2-4C | Aluminium | 442 | 695 | M40 286 356 | 225 | 500 | 185 | 149 | 60 | 140 64 18 6313 ZZ 6313 ZZ | 65*100*13 =
1200-4600 | 2-4 | S2H225M2-4D | Aluminium | 442 | 695 | M40 286 356 | 225 | 500 | 185 | 149 | 60 | 140 64 18 6313 ZZ 6313 ZZ | 65*100*13 -
1500-5500 | 2-4 |S2EP250M2-4C| Costlron | 522 | 795 | MSO 3l 406 | 250 | 578 | 24 | 168 | 65 | 140 69 18 6316 6316 90*130*10 =
2000-7500| 2-4 |S2EP280M2-4B| Costlron | 550 | 929 | MSO 368 457 | 280 | 612 | 24 | 190 | 75 | 140 795 | 20 6316 6316 90*130*10 -
015-060 4-8 | S2H80M4-8C | Aluminium | 173 | 263 | M20 100 125 | 80 | 23 | 10 | SO | 19 40 215 6 6204 27 6204 27 20*30*7 =
020-080 4-8 | S2H8OM4-8D | Aluminium | 173 | 263 | M20 100 125 | 80 | 23 | 10 | 50 | 19 40 215 6 6204 77 6204 727 20*30*7 -
030-120 4-8 | S2H90S4-8B | Aluminum | 189 | 308 | M25 100 140 | 90 | 238 | 10 | 56 | 24 | S0 27 8 6305 77 6205 27 25%40%7 =
040-160 4-8 S2HI90L4-8C | Aluminium | 189 | 346 | M25 100 140 | 90 | 238 | 10 | 56 | 24 | S0 27 8 6305 ZZ 6205 77 25*40*7 -

8

8

8

0.50-2.00 4-8 | S2HI00L4-8B | Aluminium | 206 | 348 | M25 140 160 | 100 | 257 | 12 | 63 | 28 | 60 3l 6306 27 6205 27 30*47%7 =
070-2.80 4-8 | S2HI00L4-8C | Aluminium | 206 | 348 | M25 140 160 | 100 | 257 | 12 | 63 | 28 | 60 3l 6306 ZZ 6205 77 30%47*7 -
100-3.80 4-8 S2HI2M4-8B | Aluminium | 228 | 380 | M25 140 190 | W2 | 277 | 12 70 | 28 | 60 3l 6306 27 6205 27 30*47*7 =
130-500 4-8 | S2HI32S4-8B | Aluminum | 291 | 490 | M32 140 216 | 182 323 | 12 | 89 | 388 | 80 41 10 | 6208 ZZ 6208 ZZ | 40%62*10 -
180-7.20 4-8 | S2HIZ2M4-8C | Aluminium | 291 | 490 | M32 140 216 | 182 323 | 12 | 89 | 388 | 80 41 10 | 6208 ZZ 6208 ZZ | 40%62*10 =
350-1400 | 4-8 | S2HIBOL4-8A | Aluminum | 345 | 536 | M32 210 254 | 160 | 374 | 145 | 108 | 42 1[0} 45 12 | 6309727 6209 ZZ | 45*72*10 -
3.00-1.00 4-8 | S2HIBOM4-8B | Aluminium | 345 | 538 | M32 210 254 | 160 | 374 | 145 | 108 | 42 10 45 12 | 630977 6209 ZZ | 45"72*10 =
4.30-1700 4-8 | S2HIBOM4-8B | Aluminium | 346 | 632 | M40 241 279 | 180 | 430 | IS | 1215 | 48 1[0} 515 14 6310 ZZ 6310 ZZ 50*80*10 -
500-2000 | 4-8 | S2HIBOL4-8A | Aluminium | 346 | 632 | M40 241 279 | 180 | 430 | IS | 1215 | 48 10 515 14 6310 27 6310 27 50*80*10 =
650-2800 | 4-8 | S2H200L4-8B | Aluminium | 346 | 692 | M40 267 318 | 200 | 450 | 185 | 133 | 55 | 1O 59 16 6312 ZZ 6310 ZZ 60*90*10 -
800-3000 | 4-8 | S2H200L4-8D | Aluminum | 346 | 692 | M40 267 318 | 200 | 450 | 18S | 183 | &5 10 59 16 6312 77 6310 27 60*90*10 =
920-3700 | 4-8 | S2H225S54-8A | Aluminum | 442 | 695 | M40 286 356 | 225 | 500 | 185 | 149 | 60 | 140 64 18 6313 ZZ 6313 ZZ 65*100*13 -
100-4400 | 4-8 | S2H225M4-8B | Aluminium | 442 | 695 | M40 286 356 | 225 | 500 | 185 | 149 | 60 | 140 64 18 6313 27 6313 77 65*100*13 =
1470-5500 | 4-8 | S2EP250L4-8D| Castlron | 522 | 795 | MSO 3l 406 | 250 | 578 | 24 | 168 | 65 | 140 69 18 6316 6316 90*130*10 -

74 | WAT | M en 22]



Q
IE2 SMOKE EXTRACTION MOTORS W

F300 PAD MOUNT SERIES DIMENSIONS

075 2 S2HPMBOM2B | Aluminium | 154 | 238 210 xM20 85 [ 105 | 95 189 19 40 215 6 6204 77 6204 77 20*30*7 =
110 2 S2HPMBOM2C | Aluminium | 154 | 263 210 1xM20 85 | 105 | 95 189 19 40 215 6 6204 77 6204 77 20*30*7 -
150 2 S2HPM90S2B | Aluminium | 171 | 308 | 234 IXM25 100 | 1S | 100 199 24 | 50 27 8 6305 77 6205 77 25*40%7 =
220 2 S2HPMOOL2C | Aluminium | 171 | 308 | 234 xXM25 100 | NS | 100 199 24 | 50 27 8 6305 77 6205 77 25*40%7 -
300 2 S2HPMIOOL2C | Aluminium | 193 | 348 | 252 IxM25 100 | 25 | 1 221 28 | 60 3l 8 6306 ZZ 6205 ZZ 30%47*7 =
055 4 S2HPM8OM4B | Aluminium | 154 | 263 210 1xM20 85 | 105 | 95 189 19 40 215 6 6204 77 6204 77 20*30*7 -
075 4 S2HPMBOM4C | Aluminium | 154 | 238 210 xM20 85 | 105 | 95 191 19 40 215 6 6204 77 6204 77 20*30*7 =
110 4 S2HPM90S4B | Aluminium | 171 | 308 | 234 XM25 100 | 115 | 100 199 24 | 50 27 8 6305 77 6205 77 25%40*7 -
150 4 S2HPMIOL4AC | Aluminium | 171 | 308 | 234 xM25 100 | IS | 100 199 24 | 50 27 8 6305 27 6205 ZZ 25%40*7 =
220 4 S2HPMIOOL4B | Aluminium | 193 | 348 | 252 XM25 100 | 125 | 1 221 28 | 60 3l 8 6306 77 6205 77 30%47*7 -
300 4 S2HPMIOOL4C | Aluminium | 193 | 348 | 252 XM25 100 | 125 | 1 221 28 | 60 3l 8 6306 ZZ 6205 27 30%47%7 =
020-080| 2-4 | S2HPM8OM2-4A | Aluminum | 154 | 238 210 xM20 85 | 105 | 95 189 19 40 215 6 6204 77 6204 77 20*30*7 -
025-110 | 2-4 | S2HPMBOM2-4B | Aluminium | 154 | 263 210 xM20 85 | 105 | 95 189 19 40 215 6 6204 77 6204 77 20*30*7 =
037-150 | 2-4 | S2HPMS0S2-4B | Aluminium | 172 | 308 | 234 xXM25 100 | 115 | 100 199 24 | 50 27 8 6305 77 6205 77 25%40*7 -
050-220| 2-4 | S2HPMOOL2-4C | Aluminium | 172 | 308 | 234 xM25 100 | 15 | 100 199 24 | 50 27 8 6305 77 6205 27 25%40*7 =
065-250| 2-4 | S2HPMIOOL2-4B | Aluminum | 193 | 348 | 252 XM25 100 | 125 | 1 221 28 | 60 3l 8 6306 77 6205 77 30%47*7 -
080-310| 2-4 | S2HPMIOOL2-4D | Aluminium | 193 | 348 | 252 xM25 100 | 125 | 1 22 28 | 60 3l 8 6306 ZZ 6205 77 30%47*7 =
015-060 | 4-8 |S2HPM80OM4-8C | Aluminium | 154 | 263 210 xM20 85 | 105 | 95 189 19 40 215 6 6204 77 6204 77 20*30*7 -
020-080| 4-8 | S2HPMB8OM4-8D | Aluminium | 154 | 263 210 xM20 85 [ 105 | 95 189 19 40 215 6 6204 727 6204 ZZ 20*30*7 =
030-120 | 4-8 | S2HPM9O0S4-8B | Aluminium | 172 | 308 | 234 xM25 100 | N5 | 100 199 24 | 50 27 8 6305 77 6205 77 25*40%7 -
040-160 | 4-8 | S2HPMI0L4-8C | Aluminium | 172 | 346 | 234 xXM25 100 | 1S | 100 199 24 | 50 27 8 6305 77 6205 77 25*40%7 =
055-220| 4-8 | S2HPMIOOL4-8B | Aluminium | 193 | 348 | 252 XM25 100 | 125 | 221 28 | 60 3l 8 6306 27 6205 77 30*47*7 -
070-280| 4-8 | S2HPMIOOL4-8C | Aluminium | 193 | 348 | 252 XM25 100 | 25 | 1 221 28 | 60 3l 8 6306 ZZ 6205 77 30%47*7 =

75 | WAT | M en 22]






BRAKE
MOTORS

¥
o

E
- = &
+
i a
I
» -
.
]
Il-. .-l L]
LA LA
*
ww T*
a2 e
& W o
#
# s
+++++
- B
- ¥
. ¥, g
LS
L
s
w *,
|l
.
 *
3
]
*
# Ta
&
v
]
* .
N
.
+-.
#
#
.-l &
LY .
5
s
a —.—.
ll -
5
* "
-
¥ 4
n
o
aw
B



TECHNICAL DOCUMENTATION

Mechanical and electrical properties are same as stan-
dard type motors. Non-drive endshields are made of
cast-iron

Brake Specifications

DC electromagnetic brakes with a safety-design are used
in brake motors. Different brake voltages are available
upon request.

Working Principle

When the supply fails, the springs make the armature
plate press the brake disk and then motor automatically
starts braking. When the brake being supplied, electro-
magnet pulls the armature plate then both the brake disk
and motor shaft are set to free.

Brake Disk

Asbestos-free brake material is used with long-life
friction rings.

Distance between Adjusting-ring and Electromagnet; “A” (in mm)
NN N R R B IS T
- - - - ol | 32 | 54 | 76 | 98

- - - - - 18 52 88 24
RETl 35 | 70 | 45 | 140 | 75 | 210 | 245 280 315
(Pl - o o 8o 250 0 a0 460 530 [
Max.

Torque

Breaking Torque Value (Kgm) [Reaue
gm

Braking Torque

Braking torque can be adjusted by
ring. In the table shown below, you
will find the distance “A” in order to
obtain the braking torque requested.
The variation in the wear of friction
material which is subject to change in
braking torque is given below.

Switching Times
Normal switching times are given in the table below.

These values are subject to change according to load
characteristics.

Normal switch-off | Normal switch-on | Fast switch-off
time ms time ms time ms

Q3H80

Q3HS0

Q3H100

Q3Hn2

Special Constructions

The following special construction class features
are possible upon request;

e Special shaft end

* Special flanges

* Different type bearings

e Fixed bearings

e |IP55 protection class

* Different voltages an frequencies

* AC type brake

Air Gap

Ideal air-gap values are given in the table below.
The maximum acceptable air-gap value is 0,7 mm.
If this value is exceeded, the brake’s performance
will change and air gap must be adjusted again.

120

100

- 80

60

40

Wear Friction Material (%)

20

0 10 20 30 40 50 60 70 80 90 100 1o
Braking Torque (%)

Q3H100 | Q3HM2

Rectifier Bridge

Normal Type (AS) half-wave rectifier is used as
standard in motors. By using fast type (ASR) rectifier,
it is possible to get fast switch on times which is
shown on the table.

78 | WAT | M en 221



ELECTRICAL CHARACTERISTICS AT 50 H:z

ED VALUES TARTING VALUES
Breakdown | EFFICIENCY ** Brake Sound

HOUSING CURRENT TORQUE Torque Max Pressure
POWER | SPEED | CURRENT | TORQUE Ratio Torque Level
A Aol Al .

Mk/ Mn

2 pole 3000 rpm

Q3H8OM2A70 | Aluminium | 0.75 1 2890 16 25 83 | - | 37 - 42 80.7 0.85 12 0.0014 13 57
= Q3H80M2B70 | Aluminium | 11 15 | 2890 23 36 91 - | 39 - 43 82.7 085 12 0.0017 13 57
=)

g Q3H90S2A70 | Aluminium | 15 2 2930 30 49 1.3 - | 38 - 50 84.2 0.85 16 0.0023 7 62
o™
B 03H90L2A70 | Auminum | 2.2 3 2917 43 72 92 | - 31 - 49 859 087 16 0.0028 19 62

Q3HIO0L2A70 | Aluminium | 3 4 2925 55 98 n - | 39 - 47 871 090 35 0.0052 19 66
>
3
g Q3HI2M2A70 | Aluminium | 4 55 | 2918 73 131 37 | m 11 34 45 88l 0.89 60 0.0056 32 68
=)

S

4 pole 1500 rpm

Q3HBOM4A70 | Aluminium | 055 | 3/4 | 1435 13 36 64 | - | 23 - 32 771 076 12 0.00175 10 49
Q3H80M4B70 | Aluminium | 0.75 1 1445 17 50 67 | - | 28 - 34 825 077 12 0.00261 13 52

=
[ Q3H90S4A70 | Aluminium | 11 15 1445 25 73 72 - | 32 = 40 841 078 16 0.0043 19 54

=
§ Q3H90L4A70 | Aluminium | 15 2 1449 35 99 8l - | 36 - 4.2 853 076 16 0.00526 20 54
Q3HI00L4A70 | Aluminium | 2.2 3 1445 4.5 14.4 89 | - | 35 = 43 86.7 083 35 0.0081 26 S5
Q3HI00L4B70 | Aluminium | 3 4 1446 62 199 84 | - | 33 - 38 877 038l 35 0.01059 3l 56

>

5
Q3HI2M4B70 | Aluminium | 4 55 | 1452 82 265 91 (30| 1 33 41 886 0.80 60 0.01383 3l 56

o

<

6 pole 1000 rpm

Q3HBOMBA70 | Aluminium | 037 | 1/2 953 12 37 44 | - 21 - 28 676 085 12 0.00261 10 52
Q3H8OM6BB70 | Aluminium | 055 | 3/4 | 942 16 56 4] - 18 - 23 731 070 12 0.00328 2 52
% Q3H90S6A70 | Aluminium | 0.75 1 950 21 76 49 | - | 25 = 30 789 067 16 0.00460 18 53
‘?3 Q3H90L6B70 | Aluminium | 11 15 950 30 1A} 45 | - | 26 - 29 81.0 067 16 0.00528 20 53
Q3HIOOLBA70 | Aluminium | 15 2 960 41 14.8 48 | - | 26 = 30 825 085 35 0.01058 26 55
Q3HI2MBA70 | Aluminium | 2.2 3 957 52 220 49 | - | 27 - 30 84.3 071 60 0.01383 32 57

78 | WAT | IM en 221



DIMENSION B3

—Ilﬁl’li, -

3
i
N A | v

Main Dimen Shaft Bearing

Number - Housing
of Poles 0
100

6 Q3H8OMBA70 | Aluminium | 158 | 340 | 1xM20 125 | 80 S50 | 19 40 215 6 6204-27 6204-27 20*30*7 | 20*30*7

4 Q3H8OM4A70 | Aluminium | 158 | 340 | 1xM20 100 125 | 80 50 | 19 40 215 6 6204-727 6204-27 20*30*7 | 20*30*7

6 Q3H80MBB70 | Aluminium | 158 | 365 | xM20 100 125 | 80 |26 | 10 | SO | 19 40 215 6 6204-27 6204-27 20*30*7 | 20*30*7

2 Q3H8OM2A70 | Aluminium | 158 | 340 | 1xM20 100 125 | 80 |26 | 10 | 50 | 19 40 215 6 6204-27 6204-27 20*30*7 | 20*30*7

4 Q3H80M4B70 | Aluminium | 158 | 340 | xM20 100 125 | 80 |26 | 10 | SO | 19 40 215 6 6204-27 6204-27 20*30*7 | 20*30*7

6 Q3H90S6A70 | Aluminium | 176 | 420 | IXM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 27 8 6305-77 6205-77 25%40*7 | 25*40*7

11 2 Q3H80M2B70 | Aluminium | 158 | 340 | xM20 100 125 | 80 |26 | 10 | SO | 19 40 215 6 6204-27 6204-77 20*30*7 | 20*30*7

11 4 Q3H90S4A70 | Aluminium | 176 | 460 | IxM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 27 8 6305-77 6205-77 25%40*7 | 25*40*7

11 6 Q3H90LBB70 | Aluminium | 176 | 420 | xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 27 8 6305-77 6205-27 25%40*7 | 25%40*7

15 2 Q3H90S2A70 | Aluminium | 176 | 420 | IxM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 27 8 6305-22 6205-77 25%40*7 | 25*40*7
15 4 Q3H90L4A70 | Aluminium | 176 | 460 | xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 27 8 6305-27 6205-27 25%40*7 | 25%40*7
15 6 Q3HIOOLBA70 | Aluminium | 196 | 482 | 1xM25 140 160 | 100 | 243 | 12 | 63 | 28 | 60 3l 8 6306-22 6205-77 30*47*7 | 25*40*7
22 2 Q3H90L2A70 | Aluminium | 176 | 420 | xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 27 8 6305-727 6205-27 25%40%7 | 25%40*7
22 4 Q3HIOOL4A70 | Aluminium | 196 | 482 | 1xM25 140 160 | 100 | 243 | 12 | 63 | 28 | 60 3l 8 6306-22 6205-77 30*47*7 | 25*40*7
22 6 Q3HI2MBA70 | Aluminium | 219 | 497 | xM25 140 190 | 12 | 265 | 12 | 70 | 28 | 60 3l 8 6306-72 6206-27 30*47*7 | 30*47*7
3 2 Q3HIOOL2A70 | Aluminium | 196 | 482 | 1xM25 140 160 | 100 | 243 | 12 | 63 | 28 | 60 3l 8 6306-22 6205-77 30*47*7 | 25*40*7

3 4 Q3HI00L4B70 | Aluminium | 196 | 482 | 1xM25 140 160 | 100 | 243 | 12 | 63 | 28 | 60 3l 8 6306-22 6205-27 30*47*7 | 25*40*7

4 2 Q3HI2M2A70 | Aluminium | 219 | 497 | IxM25 140 190 | 2 | 265 | 12 | 70 | 28 | 60 3l 8 6306-2Z 6206-27Z 30*47*7 | 30*47*7

4 4 Q3HI2M4B70 | Aluminium | 219 | 497 | IxM25 140 190 | 12 | 265 | 12 | 70 | 28 | 60 3l 8 6306-77 6206-27 30*47*7 | 30*47*7

Dimensions are in mm.

(1) Tolerance DIN EN 50347 “j6” up to f28mm.,”k6” above f28mm.
(2) According to DIN 6885

(3) Tolerance DIN EN 50347 “j6”

(4) Lifting bolt is mounted from frame size 112 on

80 | WAT [IM en 221



DIMENSION BS - B35

Housing 2| Drive Side Non drive Drive Side Non drive

Motor Tupe Type Side Side

037 6 |Q3H8OMBA70 | Aluminium | 158 | 340 | IxM20 100 12580 | 216 10| 50 | 19 40 215 | 6 | 6204-ZZ | 6204-7ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 | - | 12
0.55 4 |Q3H8OM4A70 | Aluminium | 158 | 340 | IxM20 100 12580 216 10| 50 | 19 40 215 6 | 6204-ZZ  6204-ZZ | 20*30*7 |20*30*7 | 200 | 130 | 165 | - 12
055 6 | Q3H8OM6EB70 | Aluminium | 158 | 365 | IxM20 100 12580 | 216 |10 | 50 19|40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7| 200 | 130 | 165 | - | 13
075 2 | Q3H8OM2A70 | Aluminium | 158 | 340 | IxM20 100 12580 216 10| 50 | 19 40 215 6 | 6204-ZZ  6204-ZZ | 20*30*7 |20*30*7 | 200 | 130 | 165 | - | 12
075 4 | Q3HBOM4B70 | Aluminium | 158 | 340 | IxM20 100 12580 | 216 |10 | 50 19|40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7| 200 | 130 | 165 | - | 13
075 6 | Q3H90S6A70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 |10 | 56 |24 50 | 27 | 8 | 6305-ZZ  6205-ZZ | 25*40*7 | 25*40*7 200 | 130 | 165 | - 14
11 2 | (Q3HBOM2B70 | Aluminium | 158 | 340 | 1xM20 100 12580 | 216 10| 50 | 19 40 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 200 | 130 | 165 | - | 12
11 4 | QB8HY0S4A70 | Aluminium | 176 | 460 | 1xM25 | 100-125 | 140 | 90 | 223 |10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - | 14
11 6 | Q3H90L6B70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 |10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - | 1S
15 2 | Q3H90S2A70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 |10 | 56 | 24 50 | 27 | 8 | 6305-ZZ 6205-ZZ | 25*40*7 | 25*40*7 200 | 130 | 165 | - 12
15 4 | Q3H90L4A70 | Aluminium | 176 | 460 | 1xM25 | 100-125 | 140 | 90 | 223 |10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - | 15
15 6 |Q3HIOOL6A70 | Aluminium | 196 | 482 | 1xM25 140 160 | 100 | 243 12| 63 |28 60 | 31 | 8 | 6306-ZZ 6205-ZZ | 30%47*7 | 25*40*7 | 250 | 180 | 215 | - 145
22 2 | Q3H90L2A70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 200 | 130 | 165 | - | 12
22 4 | Q3HIOOL4A70 | Aluminium | 196 | 482 | 1xM25 140 160 | 100 | 243 12| 63 |28 60 | 31 | 8 | 6306-ZZ 6205-ZZ | 30*47*7 | 25*40*7 | 250 | 180 | 215 | - 145
22 6 | Q3HN2MBA70 | Aluminium | 219 | 497 | 1xM25 140 190 | m2 | 265 12| 70 |28 60 | 31 | 8 | 6306-ZZ  6206-ZZ | 30*47*7 |30*47*7 | 250 | 180 | 2IS | - | 155
3 2 |Q3HIO0L2A70 | Aluminium | 196 | 482 | 1xM25 140 160 | 100 | 243 |12 | 63 |28 60 | 31 | 8 | 6306-ZZ  6205-ZZ | 30*47*7 | 25*40*7 | 250 | 180 | 215 | - 145
3 4 |Q3HIO0L4B70 | Aluminium | 196 | 482 | 1xM25 140 160 | 100 | 243 |12 | 63 |28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 250 | 180 | 215 | - | 155
4 2 | Q3HNI2M2A70 | Aluminium | 219 | 497 | 1xM25 140 190 | T2 | 265 |12 | 70 (28|60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - | 155
4 4 | Q3HI2M4B70 | Aluminium | 219 | 497 | 1xM25 140 190 | m2 | 265 12| 70 |28 | 60 | 31 | 8 | 6306-ZZ  6206-ZZ | 30*47*7 | 30*47*7 | 250 | 180 | 215 | - | 165

Dimensions are in mm.

(1) Tolerance DIN EN 50347 “j6” up to f28mm.,”k6” above f28mm.
(2) According to DIN 6885

(3) Tolerance DIN EN 50347 “j6”

(4) Lifting bolt is mounted from frame size 112 on

81| WAT | IM en 221



DIMENSION Bl4a - 34a

Main Dimensions Foot Mounted rs Shaft Bearing Flange (FA] [BS)

Motor Type | 1OUSIg L Al H|H|K]|C £ | oA | F@ | Drive Side | O 9Me | pie gige | NOD drve CRIY S
Type Side Side
340 12580 | 216 | 10| 50 |19 40 120 | 80 100 | - Me

Q3HII2M2A70 | Aluminium | 219 | 497 | 1xM25 140 190 | 12 | 265 |12 | 70 |28 | 60 | 3I
Q3HI2M4B70 | Aluminium | 219 | 497 | IxM25 140 190 | m2 | 265 |12 | 70 |28 | 60 | 3I

6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7| 160 | 10 | 130 | - | M8
6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7| 160 | 10 | 130 | - | M8

037 6 |Q3H8OMBA70 | Aluminium | 158 1xM20 100 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7
055 4 |Q3H8OM4A70 | Aluminium | 158 | 340 | 1xM20 100 12580 | 216 10 50 | 19| 40 215 6  6204-ZZ  6204-ZZ | 20*30*7 ' 20*30*7 | 120 | 80 | 100 | - M6
0.55 6 | Q3HBOM6B70 | Aluminium | 158 | 365 | 1xM20 100 12580 | 216 10 50 | 19|40 215 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 | - | M6
075 2 | Q3H80M2A70| Aluminium | 158 | 340 | IxM20 100 125 80 | 216 |10 | 50 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 120 | 80 | 100 - | M6
075 4 | Q3HBOM4B70| Aluminium | 158 | 340 | 1xM20 100 12580 | 216 10 50 | 19|40 215 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7| 120 | 80 | 100 | - | M6
075 6 | Q3H90S6A70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 |24 | 50 27 | 8 | 6305-ZZ  6205-ZZ | 25*40*7 | 25*40*7 140 | 95 | 15 - M8
11 2 | Q3H8OM2B70| Aluminium | 158 | 340 | 1xM20 100 12580 | 216 10 50 | 19| 40 | 215 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7| 120 | 80 | 100 | - | M6
11 4 | Q3H90S4A70 | Aluminium | 176 | 460 | 1xM25 | 100-125 | 140 | 90 | 223 |10 | 56 | 24 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 1S | - | M8
11 6 | Q3H90L6B70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 |24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7| 140 | 95 | 15 | - | M8
15 2 | Q3H90S2A70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 |24 | 50 | 27 | 8 | 6305-ZZ  6205-ZZ | 25*40*7 | 25*40*7 140 | 95 | 15 | - M8
15 4 | Q3H90L4A70 | Aluminium | 176 | 460 | IxM25 | 100-125 | 140 | 90 | 223 | 10 | 56 |24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 | - M8
15 6 | Q3HIOOLBA70| Aluminium | 196 | 482 | IxM25 140 160 | 100 | 243 | 12 | 63 | 28| 60 31 | 8 |6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | 7TO | 130 | - | M8
22 2 | Q3H90L2A70 | Aluminium | 176 | 420 | IxM25 | 100-125 | 140 | 90 | 223 | 10 | 56 |24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 140 | 95 | 15 | - M8
22 4 1Q3HIO0L4A70| Aluminium | 196 | 482 | IxM25 140 160 | 100 243 12| 63 28 60 31 | 8 | 6306-ZZ  6205-ZZ | 30*47*7 | 25*40*7| 160 | 10 | 130 | - M8
22 6 | Q3HI2MBA70 | Aluminium | 219 | 497 | 1xM25 140 190 | M2 | 265 12| 70 (28| 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7| 160 | 10 | 130 | - | M8
2 | Q3HIOOL2A70 | Aluminium | 196 | 482 | 1xM25 140 160 | 100 243 12| 63 |28 60 31 | 8 | 6306-ZZ  6205-ZZ | 30*47*7 | 25*40*7| 160 | 10 | 130 | - M8
4 | Q3HIOOL4B70 | Aluminium | 196 | 482 | 1xM25 140 160 | 100 | 243 | 12 | 63 | 28| 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 160 | MO | 130 | - | M8
2 8
4 8

82 | WAT | IM en 221



DIMENSION Bi4b - 34b

Main Dimensions Foot Mounte Shaft Bearing Seal Flange (FA] (BS)
v [T L e
037 6 |Q3H8OMBA70 | Aluminium 1xM20 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 |20*30*7| 160 | N0 | 130 | - | M8
0.55 4 |Q3H80M4A70 | Aluminium | 158 | 340 | IxM20 100 125 80 | 216 |10 | 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 710 | 130 M8
0.55 6 |Q3HBOMBB70 | Aluminium | 158 | 365 | IxM20 100 125 /80 | 216 |10 | 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8
0.75 2 | Q3H80OM2A70 | Aluminium | 158 | 340 | 1xM20 100 125 80 | 216 |10 | 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 710 | 130 M8
075 4 |Q3HBOM4B70 | Aluminium | 158 | 340 | IxM20 100 12580 | 216 |10 | 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 10 | 130 M8
075 6 |Q3H90SBA70 | Aluminium | 176 | 420 | IxM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8
11 2 |Q3HBOM2B70 | Aluminium | 158 | 340 | 1xM20 100 12580 | 216 |10 | 50 | 19 | 40 | 215 | 6 | 6204-ZZ | 6204-ZZ | 20*30*7 | 20*30*7 | 160 | 710 | 130 M8
11 4 | Q3H90S4A70 | Aluminium | 176 | 460 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8
11 6 Q3H90L6B70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 |24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7| 160 | N0 | 130 M8
15 2 | Q3H90S2A70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8
15 4 | Q3H90L4A70 | Aluminium | 176 | 460 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8
15 6 |Q3HIOOLBA70| Aluminium | 196 | 482 | 1xM25 140 160 | 100 | 243 12| 63 | 28 60 | 31 | 8 | B6306-ZZ  6205-ZZ  30*47*7 | 25*40*7 | 200 | 130 | 165 Mio
22 2 | Q3H90L2A70 | Aluminium | 176 | 420 | 1xM25 | 100-125 | 140 | 90 | 223 | 10 | 56 | 24 | 50 | 27 | 8 | 6305-ZZ | 6205-ZZ | 25*40*7 | 25*40*7 | 160 | 10 | 130 M8
22 4 |Q3HIO0L4A70 | Aluminium | 196 | 482 | 1xM25 140 160 | 100 | 243 |12 | 63 |28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 MIiO
22 6 |Q3HN2MBA70 | Aluminium | 219 | 497 | 1xM25 140 190 | 12 | 265 |12 | 70 | 28 | 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 M0
3 2 |Q3HIO0L2A70 | Aluminium | 196 | 482 | 1xM25 140 160 | 100 | 243 |12 | 63 |28 | 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 MIi0
3 4 |Q3HI00L4B70 | Aluminium | 196 | 482 | 1xM25 140 160 | 100 | 243 |12 | 63 | 28| 60 | 31 | 8 | 6306-ZZ | 6205-ZZ | 30*47*7 | 25*40*7 | 200 | 130 | 165 MI0
4 2 | Q3HN2M2A70 | Aluminium | 219 | 497 | 1xM25 140 190 | 12 | 265 |12 | 70 | 28 | 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 Mio
4 4 | Q3HN2M4B70 | Aluminium | 219 | 497 | 1xM25 140 190 | 12 | 265 |12 | 70 | 28 | 60 | 31 | 8 | 6306-ZZ | 6206-ZZ | 30*47*7 | 30*47*7 | 200 | 130 | 165 Mio

83 | WAT | IM en 221



1.4
& BRAKE MOTORS

BRAKE KIT

Brake Kit

Flexibility - Our IEC standard motors
can easily be converted into a brake
motor within minutes using our modular
brake kit

84 | WAT | IM en 221



BRAKE KIT NOMENCLATURE

Default (2 digit) | Frame (2 digit) NDE End-Shield Type Brand, rectifier (2 Connection Diameter Brake Gear (1 Brake Voltage (3 digit) | Other (1 digit) Fan Cover Color
(2 digit) digit) (3 digit) {1 digit)
FK H80 08 | Normal, without NO | Without Brake 00 | 72 072 | Small S | Without 000 Without dust X Without Paint
friction plate Brake seal. Without
hand-release

H90 09 | Deep, without LO | EMF, half AA | 90 090 | Normal N | 24V DC 024 With dust A RAL 601 W

friction plate wave seal, without
hand-release

HS90 08 | Normal, without NI | EMF full wave AB | 112 12 Large L | 100V DC 100 Without dust B RAL 7015 H
friction plate, fixed seal, With
NDE hand-release

HI00 10 | Deep. without LI | EMF half AC | 132 132 180V DC 180 With dust C RAL 7030 L
friction plate, fixed wave, seal, With
NDE microswitch hand-release

HSI00 09 | Normal, with friction N2 | EMF, full wave, AD | 145 145 220V AC 220 RAL 7031 0
plate microswitch

Hii2 n Deep, with friction L2 | Temporiti, 1 BA | 170 170 230V AC 230
plate

HSI2 10 Normal, with friction N3 | Temporiti, 2 BB | 196 196 380V AC 380
plate, fixed NDE

HI32 13 Deep. with friction L3 | Temporiti, 3 BC 400V AC 400
plate, fixed NDE

HSI132 I Temporiti, 4 BD

HI60 6 Intorg CA

HS160 13 Precima DA

HI80 18 Dereli EA

H200 20

Brake Connection | Gear Gear Hub

Diameter Size Dimension

090 N 20x20 090N 20x20
n2 S 15x20 28 15x20
n2 N 20x20 2N 20x20
132 S 20x20 1328 20x20
132 N 25x25 132N 25x25
145 S 20x20 1458 20x20
145 N 25x25 145N 25x25
170 S 25x25 1708 25x25
170 N 35x30 170N 35x30
196 N 35x30 196N 35x30

885 | WAT | IM en 221



Common SKU

Q3H80OM2C
Q3H80OM2D
Q3H80M4D
Q3H80M2DE
Q3H80M4DE
Q2H80M2B
Q2H80M2C
Q2H80M4B
Q2H8oM4C
Q2H80M2D
(Q2H80M2DE
Q2H80M4D
(Q2H80M4DE
Q3H8OM4C
Q3H80MBA
Q3H80M6EB
Q3H90L2C
Q3H90L2D
Q3H90L4C
Q3H90L4D
Q3H90L6C
Q3H90L6D
Q3H90L2E
Q3H90L4DE
(2H90S6B
Q2H90L6C
Q2H90L2D
Q2H90L4D
Q2H90L4DE
(Q2H90L2DE
Q3HS90S2C
Q3HS90S4C
(2HS90S2B
Q2HS90L2C
Q2HS90S4B
Q2HS90L4C
Q3H100L4C
Q3H100L4D
Q3Hi00L6eD
Q3HI00L2DE
Q3HI00L4E
Q3H100L2D
Q3HIOOL2E
Q2Hi100L6C
Q2H100L4D
Q2H100L2DE
Q2HI00L2E
Q3HsiooL2C
Q3Hsio00L4C
Q2HS100L2B
Q2Hs100L4B
Q2HS100L4C
Q2HS100L2C
Q3HI2M4D
Q3Hn2MeD
Q3Hn2m2c
Q3H12M2D

O O O WO ;WO O O WO WO ;W ;W O 0O 0 O N O 0O 0O O ;O ;o ;o ;O O O wmw ;o wmw

»w o0 vnnononoooonooonod

1)
@ o

w v
o O

O »WO »W »wWw O ;O »mO »wu ;o n

Mator
torque
(Nm)

248
363
496
493
725
2.51
367
366
497
498
732
735
10,04
361
376
559
497
72
762
989
754
.06
991
14,46
76
12
992
14,62
199
1311
492
726
498
732

1004
14.49
1981
1492
1301
26,44
973
1791

26,53
18.05
24,74
991
1456
992
1462
199
181
26.31
2195
13.04
1799

Motor voltage

230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
400/690V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
400/690V
400/690V
230/400V
400/690V
230/400V
400/690V
400/690V
400/690V
230/400V
230/400V
230/400V
230/400V
230/400V
400/690V
400/690V
230/400V
400/690V

400/690V

Lig
Brake kit code Brake kit code Brake kit code

FKOBNOOOOSONOOOX
FKO8NOOOOSONOOOX
FKOSNOOOOSONOOOX
FK0O8LOO0O090NOOOX
FKO8LOOO0SONOOOX
FKO8NOOOOSONOOOX
FKOSNOOOOSONOOOX
FKO8NOOOOSONOOOX
FKOSNOOOOSONOOOX
FKO8NOOOOSONOOOX
FKO8LOOO0SONOOOX
FKO8NOOOOSONOOOX
FKO8LO0O0O0SONOOOX
FKO8NOOOOSONOOOX
FKO8LOOO0SONOOOX
FK0O8LO0O0090NOOOX
FKO9NOOOOSONOOOX
FKO9NOOOO9ONOOOX
FKO9NOOOOSONOOOX
FKO9NOOOOSONOOOX
FKO9NOOOOSONOOOX
FKO9NOOOOSONOOOX
FKO9NOOOOSONOOOX
FKO9LOOO0I2NO00X
FKO9NOOOOSONOOOX
FKO9NOOOOSONOOOX
FKO9NOOOOSONOOOX
FKOSNOOOI2NO0OX
FKO9LO00M2NO00X
FKO9LOOOI2NO00X
FKO8LOOOOSONOOOX
FKO8LOOOOYONOOOX
FKO8NOOOOSONOOOX
FKO8LOO0O0Y0ONOOOX
FKOSNOOOOSONOOOX
FKO8LOOO090NOOOX
FKIONOOOI32NO00X
FKIONOOOI32NO00X
FK1ONO00132N000X
FKIONOOO12NOOOX
FK10LO00132N000X
FKIONOOO12NOOOX
FK10LO00132N000X
FKIONOOO132N000X
FK10NOO0132N000X
FKIONOOO12NO0OX
FK10L000132NO00X
FKO9NOOOO9ONOOOX
FKOSLOOON2NO0OX
FKO9NOOOO9ONOOOX
FKO9NOOON2NOOOX
FK0O9L000I132N000X
FKOSLOOON2NO0OX
FKTINOOO132NO00X
FKTINO00132NO00X
FKTINODO0132NO00X
FKTINOO0132NO00X

Heavy b

FKOBNOOOOSONOOOX
FKOBNO0OOOS0ONOOOX
FKOBNOOOOSONOOOX
FK0O8LOOO0S0NOOOX
FKO8LOOON2NO00X
FKOBNO0OOOS0ONOOOX
FKOBNOOOOSONOOOX
FKOBNOOOOSONOOOX
FKOBNOOOOSONOOOX
FKOBNOOOOSONOOOX
FKO8LO0OT2NO00X
FKO8NOOO112NO0OX
FKO8LO0OT2NO00X
FKOBNOOOOSONOOOX
FKO8LOOO0SONOOOX
FKOBLOOON2NOOOX
FKOSNOOOOSONOOOX
FKO9NOOO112NO0OX
FKO9NOOOT2NO00X
FKO9NOOOI12NO0O0X
FKO9SNOOOT2NO0OX
FKO9NOOOI12NO0OX
FKO9NOOOT2NO0OX
FK09L000132S000X
FKO9NOOOT2NO0O0X
FKO9NOOOI12NO0OX
FKO9NOOOT2NO0OX
FKO9N000132S000X
FK09L000132S000X
FK09L000132S000X
FKO8LO0OT2NO00X
FKO8LOOOI2NO00X
FKO8SNOOO12NO0O0X
FKO8LOOOI2NO00X
FKO8SNOOO12NO0O0X
FKOBLOOON2NOOOX
FKIONOOO132N000X
FKIONOOO145NO0OX
FK10NOOO132N000X
FKIONO00132S000X
FK10L000145N000X
FKIONO00132S000X
FK10L000145N000X
FKIONOO0132N000X
FKIONOOO145N000X
FKIONO00132S000X
FK10L000145N000X
FKO9NOOOI2NO0O0X
FK0SL0O00132S000X
FKO9NOOOI2NO0O0X
FKOSNO00132S000X
FK09L000132N000X
FK0SL0O00132S000X
FKTINOOO145N000X
FK1INOOO145N0O00X
FKTINOOOI32NO0OX
FK1INOOO145N0O00X

Lig

FKOBNOAAOSONIOOX
FKOBNOAAO9ONIOOX
FKOBNOAAOSONIOOX
FKO8LOAAO9ONIOOX
FKO8LOAAOQONIOOX
FKOBNOAAO9ONIOOX
FKOBNOAAOSONIOOX
FKOBNOAAO9ONIOOX
FKOBNOAAOSONIOOX
FKOBNOAAO9ONIOOX
FKO8LOAAOSONIOOX
FKOBNOAAO9ONIOOX
FKO8LOAAOSONIOOX
FKOBNOAAO9ONIOOX
FKO8LOAAOSONIOOX
FKO8LOAAOSONIOOX
FKOSNOAAOSONIOOX
FKO9NOAAO9ONIOOX
FKOSNOAAOSONIOOX
FKO9NOAAO9ONIOOX
FKOSNOAAOSONIOOX
FKO9NOAAO9ONIOOX
FKOSNOAAOSONIOOX
FKO9LOAAN2NIOOX
FKOSNOAAOSONIOOX
FKO9NOAAO9ONIOOX
FKO9NOAAOSONIOOX
FKO9NOAAN2NIOOX
FKO9LOAANI2NIOOX
FKO9SLOAAN2NIBOX
FKO8LOAAOSONIOOX
FKO8LOAAO9ONIOOX
FKOBNOAAOQONIOOX
FKO8LOAAO9ONIOOX
FKOBNOAAOQONIOOX
FKO8LOAAO9ONIOOX
FKIONOAAT32NI00X
FKIONOAAI32NI00X
FKIONOAAT32NI00X
FKIONOAATI2NIBOX
FKIOLOAAI32NIBOX
FKIONOAATI2NI0OX
FKIOLOAAI32NIBOX
FKIONOAAI32NI00X
FKIONOAAI32NIBOX
FKIONOAATI2NIBOX
FK10LOAAT32NI80X
FKO9NOAAOSONIOOX
FKO9LOAATI2NIOOX
FKO9NOAAO9ONIOOX
FKOSNOAATI2NIOOX
FKOSLOAAI32NI00X
FKOSLOAAT2NIBOX
FKTINOAAT32NIBOX
FKTINOAAI32NI00X
FKTINOAAT32NIBOX
FKTINOAAT32NI80X

86 | WAT | IM en 221

braking

Safety coefficient

323 - 484
22-33l
161 - 242
162 - 243

11-166

319 - 478
218 - 327
219 - 328
161 - 241
181 - 241
109 - 164
109 - 163

08-12

222 -332
213 - 319
143 - 215
161 - 241
11 -167
105 - 157
081 -121
106 - 159
072 - 108
081-121

1n-18

105 - 158
071-107
081-121
109 - 178
08 -131
122 - 198
163 - 244

11-165
161 - 241
109 - 164
109 - 163

08-12
179 - 331
131 - 242
174 - 322

123 -2

098 - 182
184 - 267
145 - 268
173 - 32
098 - 181
089 - 144
105 - 194
081 -121

11-179
081 -121
109 - 178
131 - 241
122 - 198

099 - 182
118 - 219
199 - 368
145 - 267

y braking

Brake kit code

FKOBNOAAOSONIOOX
FKOBNOAAO9ONIOOX
FKOBNOAAOQONIOOX
FKOBLOAAO9ONIOOX
FKO8LOAAN2NIO0X
FKOBNOAAOSONIOOX
FKOBNOAAOSONIOOX
FKOBNOAAOSONIOOX
FKOBNOAAOSONIOOX
FKOBNOAAOSONIOOX
FKOBLOAAN2NI00X
FKOBNOAATI2NIOOX
FKO8LOAAT2NI00X
FKOBNOAAOSONIOOX
FKOBLOAAOQONIOOX
FKO8LOAAN2NIOOX
FKO9NOAAOQONIOOX
FKO9NOAAINI2NIOOX
FKO9NOAAII2NIOOX
FKO9NOAAII2NIOOX
FKO9NOAAII2NIOOX
FKO9NOAAINI2NIOOX
FKO9NOAAII2NIOOX
FKO9LOAAI32S100X
FKO9NOAAII2NIOOX
FKO9NOAATI2NIOOX
FKO9NOAAII2NIOOX
FKO9NOAAI32S100X
FKOSLOAAI32S100X
FKO9LOAAIZ2S180X
FKOSLOAAN2NI00X
FKO8LOAAN2NIOOX
FKOBNOAATI2NIOOX
FKO8LOAAN2NIOOX
FKOBNOAATI2NIOOX
FKO8LOAAN2NIOOX
FKIONOAAI32NIOOX
FKIONOAAI45NI00X
FKIONOAAI32NI00X
FKIONOAA132S180X
FK10LOAAT45NIBOX
FKIONOAAI32S100X
FK10LOAAT4SNIBOX
FKIONOAAI32NI00X
FKIONOAAI4SNIBOX
FKIONOAA132S180X
FK10LOAAT4SNIBOX
FKOSNOAATI2NI00X
FKOSLOAAI32S100X
FKOSNOAATI2NI00X
FKOSNOAAI32S100X
FKOSLOAAI32NI00X
FKO9LOAAI32S180X
FKTINOAAT45NIBOX
FKIINOAAI4SNIOOX
FKTINOAAI32NIBOX
FKTINOAAT4SNIBOX

Safety coefficient

323 - 484
22-33l
161 - 242
162 - 243
221 - 359
319 - 478
218 - 327
219 - 328
161 - 241
181 - 241
219 - 355
218 - 354
159 - 259

222 - 332
213 - 319

286 - 465
161 - 241
222 - 361
21-341
162 - 263
212 - 345
145 - 235
161 - 262
18 -332
211 - 342
143 - 232
161 - 262
178 - 328
131 - 241
198 - 366
325-528
22-358
321-522
219 - 355
218 - 354
159 - 259
179 - 331
227 - 404
174 - 322
2-3869
17 - 303

267 - 493
251 - 447
173 - 32
17 - 302
144 - 266
182 - 323
181 - 262
179 - 33
181 - 262
178 - 328
131 - 241
198 - 366
171 - 304

205 - 364
199 - 368
25 - 445



Common SKU

Q3HN2M2DE
Q3HN2M4E
Q2Hn2MeC
Q2H12M4D
Q3HS112M2C
Q2HS112M2B
Q2HSTI2M4C
Q2HS112M2C
Q2HSTI2M2D
Q4H13282D
Q4H132S2DE
Q4H13284C
Q4HI32M4DE
Q3H13254B
Q3H132M4D
Q3HI32S6A
Q3HI32MBA
Q3H132M6B
Q3H13252C
Q3H13252D
Q3HI32M2A
Q3HI32M2B
Q3HI32M4E
Q2H132M4C
Q2H132S6A
Q2HI132MBA
Q2H132M6B
Q2HI32M2A
Q2H132M2B
Q2H132M2C
Q2H132M4D
Q2HI132M4E
Q3HS13252C
Q3HS132S2D
Q2HS13252B
Q2HS132S2C
Q2HS132S4A
Q3HiooLeC
Q4H100L2D
Q4HI00L4E
Q4HNM2M4E
Q3HI32S2DE
Q4HI32M2AE
Q4H80M2D
Q4H80OM4E
Q3H90L4E
Q4H90L2D
Q4H90L2E
Q4H90L4E
Q4Ho0L4D
Q3HS132S4B
Q4H80M4D
Q4HIO0OLBA
Q4H80M2DE
Q4H100L4C
Q4H100L4D
Q4HNM2M4D
Q4HN2M2D

(e

W ;W ;W ;WL ;L ;LD DL LU ;DL DO DO ;LOmOmoOoOOm ;MmO ;mmOnNDoO ;oo OO O ;LM ;MmO oOO0OoO!mMOmML O O;Oml O ;OO NN oo ;m ;O mo oo

Mator
torque
(Nm)

24,55
364
223

36.35
1301
1317

2653
18.05

2474
17.84

2439

3563

4889
358

4882

2929
3918

54,09
1799

2428
3591
4881
7146

49,06

2969

3938
5471

3594
4914
603
7156
9798

24,55
18.02
247
36.35
.06
971
200
2671
2909
3573
243
508
102
486
71
1031
745
36,99
374
112
357
1016
148
2032
1291

Motor voltage

400/690V
400/690V
230/400V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
230/400V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
230/400V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
400/690V
230/400V
230/400V
230/400V
400/690V
400/690V
400/690V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
230/400V
400/690V

Lig
Brake kit code Brake kit code Brake kit code

FKTILOOO0I32NO00X
FKTILO00I32NO00X
FKTINOOO132NO00X
FKTINODO0132NO00X
FKIONOOO12NOOOX
FKIONOOO112NO0OX
FKIONOOOI32NO00X
FKIONOOO112NO0OX
FKIONOOOI32NO00X
FKI3NO00I132N000X
FKI3NO00132N000X
FKI3NO0O0145N00OX
FKI3NOOOI45NO0OX
FKI3NO0O0145N000X
FKI3NOOOI45NO0OX
FKI3NO00132N000X
FKI3NOOOI45NO0OX
FKI3NO00170N0O0OX
FKI3NO00132N000X
FKI3NO00132N000X
FKI3NOOOI45NO0OX
FK13LO00145N000X
FK13L000170NO0OX
FKI3NO0O0145N00OX
FKI3NO00132N000X
FKI3NO0O0145NO00X
FKI3NOOOI45NO0OX
FKI3NO0O0145SNO0OX
FKI3NOOOI45NO0OX
FK13L000170NO00OX
FK13L000170NO0OX
FK13L000170NO00OX
FKTINOOO132NO00X
FKTILOOO0I32NO00X
FKTINOOO132NO00X
FKTINODO0132NO00X
FKTINOO0132NO00X
FKIONOOO112NO0OX
FK10NOOO112NO0OX
FK10LO00132N000X
FK1ILO00I32N000X
FKI3N0O00I132N000X
FK13LOO0145NO00OX
FKOBNOOOOSONOOOX
FK08LO0O0O090ONOOOX
FKO9NOOOO9ONOOOX
FKOSNOOOOSONOOOX
FKO9NOOOO9ONOOOX
FKOSNOOOOSONOOOX
FKO9NOOOO9ONOOOX
FKTLO00145N000X
FKOBNO0OOOSONOOOX
FK10NOOO112NO0OX
FKO8LO0O00S0NOOOX
FK1ONOO0132N000X
FKIONOOOI32NO00X
FK1ILO00I32N000X
FKTINOOON2NOOOX

Heavy b

FKTILOO0145N000X
FKTILOO0145N000X
FKTINOOO145N000X
FKTINOOOI45NO00X
FKIONO00132S000X
FKIONO00132S000X
FKIONOOO145NO00X
FKIONO00132S000X
FKIONOOO145NO0OX
FKI3NO0O145N000X
FKI3NOOQ145N000X
FK13N000170S000X
FK13N000170S000X
FK13N000170S000X
FK13N000170S000X
FKI3NO0O145N000X
FK13N000170S000X
FKI3NO00I170NO0OX
FKI3NOOO145N000X
FKI3NO0O145N000X
FK13N000170S000X
FK13L000170S000X
FK13LO00196N000X
FK13N000170S000X
FKI3NOOO145N000X
FK13N000170S000X
FK13N000170S000X
FK13N000170S000X
FK13N000170S000X
FK13LO00I9BNO00X
FK13LO00196N000X
FK13LO00I9BNO00X
FKTINOOO145N000X
FKTILOOO0145NO0OX
FKTINOOO145N000X
FKTINOOO145N000X
FKTINOOO145N000X
FKIONOOO12NOOOX
FK10N000132S000X
FK10LO00145N000X
FKNLOOO0145N000X
FKI3NO0O145N000X
FK13L000170S000X
FKO8NOOOOSONOOOX
FK08LOOOO9ONOOOX
FKO9NOOOI2NO0O0X
FKO9NOOOO9ONOOOX
FKO9NOOOI2NO0OX
FKOSNOOON2NOOOX
FKO9SNOOOI2NO0OX
FKNILO0O0145N000X
FKOBNO0OOOS0ONOOOX
FK10NOOO112NO0OX
FKO8LOOO0S0NOOOX
FK10NOOO132N0O00X
FKIONOOO132N000X
FK1ILO00145N000X
FK1INO00132S000X

Lig

FKTILOAAI32NIBOX
FKTILOAAI32NIBOX
FKTINOAAI32NI00X
FKTINOAAI32NIBOX
FKIONOAATI2NIBOX
FKIONOAATI2NIBOX
FKIONOAAI32NIB0X
FKIONOAATI2NIBOX
FKIONOAAI32NIB0X
FKI3NOAAI32NI80X
FKI3NOAAI32NI80X
FKI3NOAAI145NIB0X
FKI3NOAAI45NIB0X
FKI3NOAAI145NIBOX
FKI3NOAA145NIB0X
FKIBNOAAI32NIO0X
FKIBNOAAI45NIB0X
FKI3NOAAI70NI80X
FKI3NOAAI32NI80X
FKI3NOAAI32NIBOX
FKIBNOAA145NIB0X
FKI3LOAAI45NIBOX
FKI3LOAAT70NIBOX
FKI3NOAAI145NIB0X
FKIBNOAAI32NI00X
FKI3NOAAI145NIB0X
FKI3NOAAI45NIB0X
FKI3NOAAI145NIB0X
FKI3NOAAI45NIB0X
FKI3LOAAT70NIBOX
FKI3LOAAT70NIBOX
FKI3LOAAT70NIBOX
FKTINOAAT32NIBOX
FKTILOAAI32NIBOX
FKTINOAAT32NIBOX
FKTINOAAI32NIBOX
FKTINOAAT32NIBOX
FKIONOAATI2NI0OX
FKIONOAATI2NI0OX
FKIOLOAAI32NI00X
FKTLOAAI32NIBOX
FKI3NOAAI32NI80X
FK13LOAAI45NIBOX
FKOBNOAAO9ONIOOX
FKOBLOAAO9ONIOOX
FKO9NOAAOSONIOOX
FKO9NOAAOSONIOOX
FKO9NOAAO9ONIOOX
FKO9NOAAOSONIOOX
FKO9NOAAO9ONIOOX
FKNLOAAI4SNIOOX
FKOBNOAAO9ONIOOX
FKIONOAATI2NI0OX
FKO8LOAAOSONIOOX
FKIONOAAT32NI00X
FKIONOAAI32NI00X
FKTLOAAI32NI00X
FKTINOAATI2NIBOX

837 | WAT | M en 221

braking

Safety coefficient

106 - 196
071-132
117 - 215
072 -132
123 -2
121-197
098 - 18l
089 - 144
105 - 194
146 - 269
107 - 197
126 - 225
092 - 164
126 - 223
092 - 164
089 - 164
115 - 204
148 - 222
145 - 267
107 - 198
125 - 223
092 - 164
112 - 168
092 - 163
088 - 162
114 - 203
082 - 146
125 - 223
092 - 163
133 - 199
112 - 168
082 - 122
144 - 267
106 - 1.96
144 - 266
105 - 194
072-132
145 - 235
185 - 268
129 - 239
097 -18
089 - 165
126 - 224
329 - 494
157 - 2.36
078 - 118
165 - 247
113 - 169
078 - 116
107 - 161
122 - 216
214 - 321
144 - 234
224 - 336
256 - 472
176 - 324
128 - 2.36
124 - 201

y braking

Brake kit code

FKTILOAAI4SNIBOX
FKTILOAAI4SNIBOX
FKTINOAAI4SNIOOX
FKTINOAA145NIBOX
FKIONOAA132S180X
FKIONOAA132S180X
FKIONOAAI4SNIBOX
FKIONOAA132S180X
FKIONOAAI4SNIBOX
FKI3NOAAI45NIBOX
FKIBNOAAI45NIBOX
FKI3NOAAI70S180X
FKI3NOAAI70S180X
FKI3NOAAI70S180X
FKI3NOAAI70S180X
FKI3NOAAI4SNIOOX
FKI3NOAAI70S180X
FKI3NOAAT70NIBOX
FKIBNOAAI45NIBOX
FKI3NOAAI45NIBOX
FKI3NOAAI70S180X
FKI13LOAAI70S180X
FKI3LOAAI9BNIBOX
FKI3NOAAI70S180X
FKI3NOAA145N100X
FKI3NOAAI70S180X
FKI3NOAAI70S180X
FKI3NOAAI70S180X
FKI3NOAAI70S180X
FKI3LOAAI9BNIBOX
FKI3LOAAI9BNIBOX
FKI3LOAAI9BNIBOX
FKTINOAAT45NIBOX
FKTILOAAI4SNIBOX
FKTINOAAT45NIBOX
FKTINOAA145NIBOX
FKTINOAAT45NIBOX
FKIONOAATI2NI00X
FKIONOAAI32S100X
FKIOLOAAI4SNIOOX
FKNLOAAI4SNIBOX
FKI3NOAAI45NIBOX
FK13LOAAI70S180X
FKOBNOAAOSONIOOX
FKOBLOAAOSONIOOX
FKOSNOAATN2NI00X
FKOSNOAAO9ONIOOX
FKOSNOAAN2NI00X
FKO9INOAATI2NIOOX
FKOSNOAAN2NI00X
FKTLOAAT4SNIOOX
FKOBNOAAOSONIOOX
FKIONOAATI2NIOOX
FKOBLOAAO9ONIOOX
FKIONOAAI32NI00X
FKIONOAAI32NI00X
FKTLOAAT4SNIOOX
FKTINOAAI32S180X

Safety coefficient

183 - 326
124 -22
202 - 359
124 - 22
2-369
197 - 364
17 - 302
144 - 266
182 - 323
252 - 448
185 - 328
225 -337
164 - 245
223 -335
164 - 246
154 - 273
204 - 306
148 - 222
25 - 445
185 - 329
223 -334
164 - 246
182 - 336
183 - 245
152 - 269
203 - 305
146 - 219
223 -334
163 - 244
216 - 398
182 - 335
133 - 245
25 - 444
183 - 326
25 - 444
182 - 324
124 - 22
145 - 235
268 - 494
224 - 398
168 - 3
155 - 275
224 - 336
329 - 494
157 - 2.36
157 - 255
165 - 247
225 - 366
155 - 252
215 - 349
122 - 216
214 - 321
144 - 234
224 - 336
256 - 472
176 - 324
221-394
201-372



BRAKE KIT DIMENSIONS
(Based on EMF Brand Brake)

"Mn
[max)"

Brake kit SKU

di3 dis die Ll L3 Li5 Lt Air gap

FKOBLOAAO9ONIOOX 12 20 20 1405 1496 M5 90 3xMS 105 20 155,5 4xM4 99 45 20 159 025 2kg
FKOBLOAATI2NIOOX 26 20 20 1405 1496 M5 n2 3xM6 130 20 1555 4xM4 104 50 20 159 025 | 36kg
FKOBNOAAOSONIOOX 12 20 20 1405 1496 M5 90 3xMS 105 20 155,5 4xM4 | 737 287 45 20 130 025 2kg
FKOSNOAATI2NI00X 26 20 20 1405 1496 M5 12 3xM6 130 20 1555 4xM4 | 787 287 50 20 130 025 | 36kg
FKOSLOAAI2NIOOX 26 20 20 149.5 1586 M5 n2 3xM6 130 20 174 4xMS 1o 60 50 20 176.5 025 | 36kg
FKOSLOAAN2NIBOX 26 20 20 1495 1586 M5 n2 3xM6 130 20 74 4xMS 1o 60 50 20 176.5 025 | 36kg
FKOSLOAAIZ2NI00X 48 25 25 149.5 1586 M5 132 3xM6 150 25 174 4xMS 18 60 58 25 176.5 03 56 kg
FKO9LOAAI32S100X 48 20 20 1495 1586 M5 132 3xM6 150 20 74 4xMS 18 60 58 20 176.5 03 56 kg
FKO9LOAAI32S180X 48 20 20 1495 1586 M5 132 3xM6 150 20 174 4xMS 118 60 58 20 176.5 03 56 kg
FKOSNOAAO9ONIOOX 12 20 20 1495 1586 M5 90 3xM5 105 20 174 4xM5 | 675 225 45 20 1335 | 025 2kg
FKOSNOAATI2NIOOX 26 20 20 149.5 1586 M5 12 3xM6 130 20 174 4xM5 | 725 225 50 20 1335 | 025 | 36kg
FKO9NOAAI32S100X 48 20 20 1495 1586 M5 132 3xM6 150 20 174 4xM5 | 805 225 58 20 1335 03 56 kg
FKIOLOAAI32NI00X 48 25 25 166 178 M5 132 3xM6 150 25 192 4xM4 | 985 405 58 25 144 03 56 kg
FKIOLOAAT32NIB0X 48 25 25 166 178 MS 132 3xMé 150 25 192 4xM4 | 985 405 58 25 144 03 56 kg
FKIOLOAAI4SNIOOX 80 25 25 166 178 MS 145 3xM8 165 25 192 4xM4 | 1125 405 72 25 144 03 79 kg
FKIOLOAAT45NIBOX 80 25 25 166 178 MS 145 3xM8 165 25 192 4xM4 | 1125 405 72 25 144 03 79 kg
FKIONOAATI2NIOOX 26 20 20 166 178 MS 2 3xM6 130 20 192 4xM4 76 26 50 20 139 025 | 36kg
FKIONOAATI2NIBOX 26 20 20 166 178 MS 2 3xMé 130 20 192 4xM4 76 26 S0 20 139 025 | 36kg
FKIONOAAI32NIOOX 48 25 25 166 178 MS 132 3xM6 150 25 192 4xM4 84 26 58 25 139 03 56 kg
FKIONOAAI32NIB0X 48 25 25 166 178 M5 132 3xM6 150 25 192 4xM4 84 26 58 25 139 03 56 kg
FKIONOAAI32S100X 48 20 20 166 178 M5 132 3xM6 150 20 192 4xM4 84 26 58 20 139 03 56 kg
FKIONOAAI32S180X 48 20 20 166 178 M5 132 3xM6 150 20 192 4xM4 84 26 58 20 139 03 56 kg
FKIONOAAT4SNIOOX 80 25 25 166 178 M5 145 3xM8 165 25 192 4xM4 98 26 72 25 139 03 79 kg
FKIONOAAT45NIBOX 80 25 25 166 178 M5 145 3xM8 165 25 192 4xM4 98 26 72 25 139 03 79 kg
FKTLOAAI32NIOOX 48 25 25 182 193 M6 132 3xM6 150 25 216 4xM6 109 Sl 58 25 194 03 56 kg
FKTILOAAI32NIBOX 48 25 25 182 193 M6 132 3xM6 150 25 216 4xM6 109 Sl 58 25 194 03 56 kg
FKTILOAA14SNIOOX 80 25 25 182 193 M6 145 3xM8 165 25 216 4xM6 123 Sl 72 25 194 03 79 kg
FKTILOAAT45NIBOX 80 25 25 182 193 M6 145 3xM8 165 25 216 4xM6 123 Sl 72 25 194 03 79 kg
FKTINOAATI2NIBOX 26 20 20 182 193 M6 2 3xM6 130 20 216 4xM6 8l 275 50 20 165 025 | 36kg
FKTINOAAI32S180X 48 20 20 182 193 M6 2 3xMé 150 20 216 4xM6 | 855 275 58 20 165 03 56 kg
FKTINOAA132NIO0X 48 25 25 182 193 M6 132 3xM6 150 25 216 4xM6 | 855 275 58 25 165 03 56 kg
FKTINOAAI32NIBOX 48 25 25 182 193 M6 132 3xMé 150 25 216 4xM6 | 855 275 58 25 165 03 56 kg
FKIINOAAI4SNIOOX 80 25 25 182 193 M6 145 3xM8 165 25 216 4xM6 | 995 275 72 25 165 03 79 kg
FKTINOAAT45NIBOX 80 25 25 182 193 M6 145 3xM8 165 25 216 4xM6 | 995 275 72 25 165 03 79 kg
FKI3LOAA145NIBOX 80 25 25 225 241 M8 145 3xM8 165 25 253 4xMS 156 84 72 25 234 03 79 kg
FK13LOAAI70NI80X 120 35 35 225 241 M8 170 3xM8 190 35 253 4xM5 162 84 78 30 234 03 1.8 kg
FKI3LOAAI70S180X 120 25 25 225 241 M8 170 3xM8 190 25 253 4xMS 162 84 78 25 234 03 118 kg
FKI3LOAAI9BNIBOX 240 35 35 225 241 M8 196 6xM8 217 35 253 4xM5 169 84 85 30 234 04 184 kg
FK1I3NOAAI32NI00X 48 25 25 225 241 M8 132 3xM6 150 25 253 4xMS | 855 275 58 25 143 03 56 kg
FKI3NOAAI32NI80X 48 25 25 225 241 M8 132 3xM6 150 25 253 4xMS5 | 855 275 58 25 143 03 56 kg
FKI3NOAAI45NI00X 80 25 25 225 241 M8 145 3xM8 165 25 253 4xMS | 995 275 72 25 143 03 79 kg
FKIBNOAAT45NIB0X 80 25 25 225 241 M8 145 3xM8 165 25 253 4xMS | 995 275 72 25 143 03 79 kg
FKI3NOAAI70NI80X 120 35 35 225 241 M8 170 3xM8 190 35 253 4xMS | 1055 275 78 30 143 03 1.8 kg
FKI3NOAAI70S180X 120 25 25 225 241 M8 170 3xM8 190 25 253 4xMS | 1055 275 78 25 143 03 1.8 kg

88 | WAT | IM en 221



0
BRAKE MOTORS W




L
LN W




INVERTER
INTEGRATED
MOTORS

o O O

N N N MY
N N D e %

© i,

e
i
n 5
.-
. ‘_|-.'¢
oy
'
.
. .
. ) -
§ . . W .
. . ¥
" - . " B Jn
M -
: '
L g o - .
i - - " - - . -
. . & “
[ N : " i
* . e oa w . 3 -
. @ .
. L " e L I = ¥ -
. " ¥ - * - E
' e ow ow, e, 1' . % & .
. & 4 # * . g
" Eoa Ta¥ e G0 L0 . * B -
g e " a" e * L ™
5 * " L] = ", a [ ]
o e o oF S ~ ¥
L] > * L]
. & a & «T -
. * & ] * . " » ™
5 " L L] L - N - -
. . - * . - i
# 5 -



TECHNICAL DOCUMENTATION

Our inverter integrated motors are between 0,55-22,0 kW, and they are available from 80 to 200 frames. One of the
main advantage of this type is that the motor parameters for inverter are setted and by ourself and there is no effect
of cable between inverter and motor that can reduce motors’ insulation life.

Motor Power (kW] 055 ‘ 075 ‘ 11 ‘ 15 ‘ 22 ‘ 3 ‘ 4 ‘ 55 ‘ 75 ‘ I ‘ 15 ‘ 185 ‘ 22
Supply voltage (V] 37400 V [-15%).. 480 V [+10%). 50/60 Hz
Effective nominal current (A) (at 400 V/8 kHz) 17 ‘ 23 ‘ 31 ‘ 4 ‘ 56 ‘ 75 ‘ 95 ‘ 13 ‘ 178 ‘ 280 ‘ 340 ‘ 400 ‘ 480

Maximum effective current with time (%) 150% for 60 Seconds

Switching frequency (kHz) 4, 8,16 (factory setting: 8 kHz)

Rotating field frequency (kHz) 0.. 400

Ambient temperature for power rating (°C) -10 to +40

Process control PID controller, freely configurable

Protective functions Undervoltage, overvoltage, 12t limitation, short circuits, mator temperature, inverter temperature, stall protection

TECHNICAL SPECIFICATIONS

e Perfect combination with IE3 motors

¢ Energy saving function, catch-on-fly function, PID on board

e Standard independence from motor fan

e User friendly MMI (M12 interface on board)

* 24V/100mA (160 mA) switching power supply integrated

e Very high durability through innovative DC bus

¢ Performance optimized flux reduction

* No power losses in the capacitor

¢ No aging of the capacitors, thus long-term storage without maintenance possible
¢ Almost unlimited ripple current persistency

e Less distortion in the power grid (less losses in the EMC filter and rectifier)

¢ Small construction volume

* Reduced weight

* Very good vibration resistance

¢ Very low leakage currents (<3.5 mA), thus application on 30m A FI (RCD Type B) possible

PAINTING

Our inverter entegrated motors are painted with a black protect ive paint according to RAL 9005 (black).

92 | WAT | IM en 221



DIMENSION - B3

LE LD

HE

Main Dimensions Foot Mounted Motors Shaft Beurmg Seol

Power | Number i Housing ) Non drive Non drive
(0w) o poes e ---ﬂll-lﬂl-

2 Q3HD8OM2C | Aluminium 215 6204-27 | 6204-2Z | 20*30*7 | 20*30*7
o7 4 Q3HD8OM4D | Aluminium | 189 268 365 100 | 125 | 80 | 290 | 10 | 19 | 40 | 215 | 6 | 6204-2Z | 6204-2Z | 20*30*7 | 20*30*7
2 Q3HD8OM2D | Aluminium | 189 268 365 100 | 125 | 80 | 290 | 10 | 19 | 40 | 215 | 6 | 6204-27 | 6204-2Z | 20*30*7 | 20*30*7
! 4 Q3HSDY0S4C | Aluminium | 189 303 317 100 | 140 | 90 3l 10 | 24 | 50 | 27 8 | 6305-2Z | 6204-2Z | 25*40*7 | 25*30*7
2 Q3HSDY0S2C | Aluminium | 189 303 317 100 | 140 | 90 3l 10 | 24 | 50 | 27 8 | 6305-2Z | 6204-2Z | 25*40*7 | 25*30*7
' 4 Q3HD9OL4D | Aluminium | 189 344 317 100 | 140 | 90 31 10 | 24 | 50 | 27 8 | 6305-2Z | 6205-2Z | 25*40*7 | 25*40*7
2 Q3HD9OL2D | Aluminium | 189 344 317 100 | 140 | 90 31 10 | 24 |50 | 27 8 | 6305-2Z | 6205-2Z | 25*40*7 | 25*40*7
2 4 Q3HSDI0OLAC | Aluminium | 189 384 370 140 | 160 | 100 | 33 2 |28 |60 3 8 | 6306-2Z | 6205-2Z | 30*47*7 | 25%40*7
2 Q3HSDI00L2C | Aluminium | 189 349 370 140 | 160 | 100 | 33 2 28 |60 3 8 | 6306-2Z | 6205-2Z | 30*47*7 | 25%40*7
: 4 Q3HDIOOL4D | Aluminium | 189 400 370 140 | 160 | 100 | 33 2 |28 |60 3 8 | 6306-2Z | 6205-2Z | 30*47*7 | 25*40*7
2 Q3HSDN2M2C | Aluminium | 189 399 396 140 | 180 | M2 | 333 | 12 | 28 | 60 | 3 8 | 6306-2Z | 6205-2Z | 30*47*7 | 25*40*7
‘ 4 Q3HDN2M4D | Aluminium | 189 396 396 140 | 180 | T2 | 333 | 12 | 28 | 60 | 3l 8 | 6306-2Z | 6206-2Z | 30*47*7 | 30*47*7
2 Q3HSDI132S2C | Aluminium | 223 | 422 476 |140-178 | 216 | 132 | 34 12 |38 |80 4 10 | 6208-2Z | 6208-2Z | 40*62*10 | 30*47*7
> 4 Q3HDI32S4B | Aluminium | 223 48l 476 |140-178 | 216 | 132 | 3l4 12 |38 |80 | 4l 10 | 6208-2Z | 6208-2Z | 40*62*10 | 40*62*10
2 Q3HSDI32S2D | Aluminium | 223 | 447 476 |140-178 | 216 | 132 | 3l4 12 |3 |80 4 10 | 6208-2Z | 6206-2Z | 40*62*10 | 30*47*7
e 4 Q3HDI132M4D | Aluminium | 223 48l 476 |140-178 | 216 | 132 | 3l4 12 |3 |80 | 4l 10 | 6208-2Z | 6208-2Z | 40*62*10 | 40*62*10

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885
Please contact with us for motors above 7,5kW.

93 | WAT | IM en 221



DIMENSION - BS, B35

LE

'
125180 | 290 |10

Number Housing

of Motor Type Tupe

Poles

2 Q3HD8OM2C | Aluminium
075

4 Q3HD8OM4D | Aluminium | 189 | 268

2 Q3HD8OM2D | Aluminium | 189 | 268
! 4 Q3HSD90S4C | Aluminium | 189 | 303

2 Q3HSD90S2C | Aluminium | 189 | 303
B4 oamow0  Aumnm 88| 34

2 Q3HDYOL2D | Aluminium | 189 | 344
221 4| QaHsoioolac | Auminum | 189 | 384

2 Q3HSDIOOL2C | Aluminium | 189 | 349
: 4 Q3HDIOOL4D | Aluminium | 189 | 400

2 Q3HSDM2M2C | Aluminium | 189 | 399
¢ 4 Q3HDN2M4D | Aluminium | 189 | 396

2 Q3HSD132S2C | Aluminium | 223 | 422
4 eS| Aumnim | 228 48l

2 Q3HSDI32S2D | Aluminium | 223 | 447
" coomoman | Aumnum | 28| 48l

189 | 268 | 365

365
365
317
317
317
317
370
370
370
396
396
476
476
476
476

100
100 125 | 80
100 125 | 80
100 140 | 90
100 140 | 90
100 140 | 90
100 140 | 90
140 160 | 100
140 160 | 100
140 160 | 100
140 190 | 12
140 190 | 12
140-178 | 216 | 132
140-178 | 216 | 132
140-178 | 216 | 132
140-178 | 216 | 132

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm

(2) According to DIN 6885
(3) Tolerance DIN EN 50347 “j6”
Please contact with us for motors above 7,5kW.

290
290
3l
3l
3l
3l
331
331
331
333
333
314
314
314
314

ol
19 | 40 | 215 | 6 | 6204-2Z
19 | 40 | 215 | 6 | 6204-2Z
19 | 40 | 215| 6 | 6204-2Z
24 | 50| 27 | 8 | 6305-2Z
24 | 50| 27 | 8 | 6305-2Z
24 | 50| 27 | 8 | 6305-2Z
24 | 50| 27 | 8 | 6305-2Z
28 |60 | 31 | 8  6306-2Z
28 | 60| 31 | 8  6306-2Z
28 |60 | 31 | 8  6306-2Z
28 |60 | 31 | 8  6306-2Z
28 |60 | 31 | 8  6306-2Z
38 | 80| 41 |10  6208-2Z
38 |80 41 |10 | 6208-2Z
38 |80 | 41 |10 | 6208-2Z
38 |80 | 41 |10  6208-2Z

94 | WAT | IM en 22

Non drive
Side

6204-27
6204-27
6204-27
6204-2Z
6204-27
6205-2Z
6205-2Z
6205-2Z
6205-2Z
6205-2Z
6205-2Z
6206-2Z
6208-27Z
6208-2Z
6206-2Z
6208-2Z

Drive Side

20*30*7
20*30*7
20*30*7
25*40%7
25*40%7
25%40*7
25%40*7
30*47*7
30*47*7
30*47*7
30*47*7
30*47*7
40*62*10
40*62*10
40*62*10
40*62*10

Non drive
Side

20*30*7
20*30*7
20*30*7
25*30*7
25*30*7
25*40%7
25*40%7
25*40%7
25*40%7
25*40%7
25*40%7
30*47*7
30*47*7
40*62*10
30*47*7
40*62*10

Flange (FA) (BS)

200
200
200
200
200
200
200
250
250
250
250
250
300
300
300
300

130
130
130
130
130
130
130
180
180
180
180
180
230
230
230
230

145
145
145
145



DIMENSION - Bl4a, B34a

@p
@N

Mum Dimensions Foot Mounted Motors Shoft Flunge (FC) (B14a)

Power Number Housing Drive Non drive Non drive
r ive Si (3)
(kW) PE?lLS Motor Type Type GA Side Side Diive Side Side N

2 Q3HD8OM2C | Aluminium 6204-27 | 6204-2Z | 20*30*7 | 20*30*7 | 120 | 80 0 M6

075 4 Q3HD8OM4D | Aluminium | 189 | 268 | 365 | 100 | 125 |80 | 290 |10 | 19 | 40 215 | 6 | 6204-2Z | 6204-2Z | 20*30*7 | 20*30*7 | 120 | 80 | 100 | O | M6
2 Q3HD8OM2D | Aluminium | 189 | 268 | 365 | 100 | 12580 | 290 |10 | 19 | 40 | 215 | 6 | 6204-2Z | 6204-2Z | 20*30*7 | 20*30*7 | 120 | 80 | 100 | O M6

! 4 Q3HSDY0S4C | Aluminium | 189 | 303 | 317 100 (140 | 90 | 30 |10 | 24 50| 27 | 8 |6305-2Z | 6204-2Z | 25*40*7 | 25*30*7 | 140 | 95 | 15 | O M8
2 Q3HSD90S2C | Aluminium | 189 | 303 | 317 100 (140 90 | 30 |10 |24 50|27 8 |6305-2Z | 6204-2Z | 25*40*7 | 25*30*7 | 140 | 95 | 15 | O M8

LS 4 Q3HD9OL4D | Aluminium | 189 | 344 | 317 100 | 140 90 310 |10 | 24 |50 27 | 8 |6305-2Z  6205-2Z @ 25*40*7 | 25*40*7 | 140 | 95 | N5 ' O M8
2 Q3HD9OL2D | Aluminium | 189 | 344 | 317 100 | 140 90 30 |10 | 24 |50 27 | 8 |6305-2Z  6205-2Z @ 25*40*7 | 25*40*7 | 140 | 95 | N5 | O M8

2 4 Q3HSDI00L4C | Aluminium | 189 | 384 | 370 140 | 160 (100 331 |12 | 28 |60 3 | 8 6306-2Z 6205-2Z  30*47*7 | 25*40*7 | 160 | 10 | 130 | O M8
2 Q3HSDIOOL2C | Aluminium | 189 | 349 | 370 140 | 160 (100 331 |12 | 28 |60 3 | 8 6306-2Z 6205-2Z  30*47*7 | 25*40*7 | 160 | 10 | 130 | O | M8

: 4 Q3HDIOOL4D | Aluminium | 189 | 400 | 370 140 | 160 (100 331 |12 | 28 |60 3 | 8 6306-2Z 6205-2Z  30*47*7 | 25*40*7 | 160 | 10 | 130 | O M8
2 Q3HSDM2M2C | Aluminium | 189 | 399 | 396 140 190 | 12 | 333 |12 | 28 60| 31 | 8 | 6306-2Z | 6205-2Z | 30*47*7 | 25*40*7 | 160 | 10 | 130 | 0 | M8

¢ 4 Q3HDN2M4D | Aluminium | 189 | 396 | 396 140 190 | m2 | 333 |12 | 28 |60 3l | 8 6306-2Z 6206-2Z  30*47*7 | 30*47*7 | 160 | 10 | 130 | O M8
2 Q3HSD132S2C | Aluminium | 223 | 422 | 476 |140-178 | 216 | 132 | 314 | 12 | 38 | 80 | 41 | 10 | 6208-27 | 6206-2Z | 40*62*10 | 30*47*7 | 200 | 130 | 165 | 0 | MIO

°° 4 Q3HDI32S4B | Aluminium | 223 | 481 | 476 |140-178 | 216 132 | 314 | 12 | 38 | 80 | 41 | 10 | 6208-2Z | 6206-2Z | 40*62*10 | 40*62*10 | 200 | 130 | 165 | O | MIO
2 Q3HSDI32S2D | Aluminium | 223 | 447 | 476 |140-178 | 216 (132 | 314 | 12 | 38 | 80 | 41 |10 | 6208-2Z | 6206-2Z K 40*62*10 | 30*47*7 | 200 | 130 | 165 | O | MIO

’ 4 Q3HDI32M4D | Aluminium | 223 | 481 | 476 | 140-178 | 216 132 | 314 | 12 | 38 | 80 | 41 |10 | 6208-2Z | 6206-2Z | 40*62*10 | 40*62*10 | 200 130 | 165 | O  MIO

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885

(3) Tolerance DIN EN 50347 “j6”

Please contact with us for motors above 7,5kW.

95 | WAT | IM en 221



DIMENSION - Blab, B34b

22

55

75

—

PP

PN

@D
._.‘

Motor Type

Q3HD8oM2C
Q3HD8OM4D
Q3HD8OM2D
Q3HSD90S4C
Q3HSD90S2C
Q3HD90L4D
Q3HD90L2D
Q3HSDI00L4C
Q3HSDIooL2C
Q3HD100L4D
Q3HSD1I2M2C
Q3HD1I2M4D

Q3HSD13252C

Q3HDI132S4B

Q3HSDI132S2D

Q3HDI132M4D

e

E
L
i
o

Housing

Type

Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium
Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

Aluminium

(1) Tolerance DIN EN 50347 “j6” up to 28mm, “k6” above 28mm
(2) According to DIN 6885
(3) Tolerance DIN EN 50347 “j6”

96 | WAT | IM en 221

LD

LT e
189 | 268 | 365 100 |25 80 290 10| 19 | 40 6204-27 | 6204-27 | 20*30*7 | 20*30*7
189 | 268 | 365 100 | 125 80 290 |10 | 19 40 | 215 6 | 6204-2Z  6204-2Z | 20*30*7 | 20*30*7
189 | 268 | 365 100 | 125 80 290 10 19 40 | 215 6  6204-2Z 6204-2Z | 20*30*7 | 20*30*7
189 303 37 100 |40 90 31 10 24 50| 27 8 6305-2Z 6204-2Z | 25*40%7 | 25*30*7
189 |303| 37 100 | 140 90 | 3N |10 | 24 50 27 | 8 |G6305-2Z | 6204-2Z | 25*40*7  25%30*7
189 |344| 37 100 | 140 90 | 3N |10 | 24 50 27 | 8 |G6305-2Z | 6205-2Z | 25*40*7  25*40*7
189 |344| 37 100 | 140 90 | 30 |10 | 24 50 27 | 8 |6305-2Z | 6205-2Z | 25*40*7  25%40*7
189 | 384|370 140 | 160 100 | 331 | 12| 28 60 3l | 8 |6306-2Z | 6205-2Z | 30*47*7 & 25*40*7
189 | 349|370 140 | 160 100 | 331 | 12| 28 |60 3l | 8 | 6306-2Z | 6205-2Z | 30%47*7  25*40*7
189 | 400 | 370 140 | 160 100 | 331 | 12| 28 60 3l | 8 |6306-2Z | 6205-2Z | 30*47*7 | 25*40*7
189 | 399|396 140 | 190 12 | 333 | 12| 28 60 3l | 8 |6306-2Z | 6205-2Z | 30*47*7  25*40%7
189 | 396|396 140 | 190 12 | 333 | 12| 28 60 31 | 8 |6306-2Z | 6206-2Z | 30*47*7 | 30%47*7
223 422 | 476 | 140-78 | 26 132 314 |12 | 38 |80 | 41 | 10 | 6208-2Z | 6206-27 | 40*62*10 | 30%47*7
223 | 481 | 476 | 140-78 | 206 132 314 12| 38 |80 | 41 |10 6208-2Z | 6206-27 | 40*62*I0 | 40*62*I0
223 | 447 | 476 | 140-78 | 216 132 314 |12 | 38 |80 | 41 | 10 | 6208-2Z | 6206-27 | 40*62*10 | 30*47*7
223 | 481 | 476 | 140-78 | 26 132 314 12| 38 |80 | 41 |10 6208-2Z | 6206-2Z | 40*62*I0 | 40*62*I0

160
160
160
160
160
160
160
200
200
200
200
200

250

250

250

250

1o

1o
1o
1o
o
1o
o
130
130
130
130
130

180

180

180

180

3 M

215

215

215

215

M8
M8
M8
M8
M8
M8
M8
MI0
MIo
Mio

Mio

Mio
M2
or 15

M2
or 15
M2
or 1S
Mi2
or 1S




Q3D INVERTER INTEGRATED MOTORS W

-
b )
At B e T I A e e - ® - " L * o
|.'-I| - ot ‘¢ o* q."" o ..1- -‘, & +-i" o '+ -- - @ 17 * _rl- ‘.'l' .t W - & - - ™
T T T et e s QT T WAT e 228 e . . :
" " L]
™ " i-+ l.. l. = " 5 - & . . . " l-l+l- _1- "l-l '*..,1- * & ™ - . &
+ » L] - - " &Y L] l 'Y L]

& & *
o - - = . L ) W 9w o+ ¥ ¥ & B oW aw ¥ £ ] w = L.



¥ -
L] - - "
iilIiLii - & - * - . * g
“ - = - s ¥ wgom
LT " - - ™
&




SINGLE
PHASE
MOTORS

[~
( )
( )
] ( )
( )
( )
-
( )

2
-

. P ET




TECHNICAL DOCUMENTATION

Motors are manufactured in IEC 63-100 frame size as single phase, fully closed, short-circuit rotor and fan cooling.

Motors have been designed according to 230V, 50Hz as standard. Motors with other voltage and 60Hz frequency
rating can be manufactured on demand.

QM type single phase motors are with run capacitors and QC type single phase motors are with start and run capacitors.

QM type motors with run capacitor:
400V run capacitor is used in the motors.

QC type motors with start and run capacitor:

Motors have electronic relay as well as 400V run capacitor and start capacitor. These type of motors with high startup
moment have the capability of 300 start/stop per hour. Frequent direction of rotation change, will affect this capa-
bility. If you have such an application, please contact with us to get more detailed information. Thanks to current
smoothing and rotor blocking protection properties of electronic relay, our single phase motors are guaranteed an
extended service life.

- |

5 @

£ 5 Mk

=

Mk
Ma,
Hiz Hiz

Torque-Speed curve of QM type motors with run capacitor Torque-Speed curve of QC type motors with start and run capacitor

Thanks to the electronic relay, the starting torque (MA) of QC type motors is 2.5-3 times the nominal torque.

100 | WAT | M en 221



ELECTRICAL CHARACTERISTICS AT 50 H:z

STARTING
VALUES

HOUSING
TYPE

MOTOR TYPE

uF

(400 V] kgm?

2 pole 3000 rpm

QM63M2B Aluminium 1/3 025 2780 195 0385 36 060 190 60 094 10 0.00021 6
aMe3M2C Aluminium 172 037 2780 2380 128 36 060 180 6l 094 15 0.00026 6
QMe3M2D Aluminium 3/4 055 2820 4,00 188 40 055 180 63 093 15 0.00030 7
QM7IM2A Aluminium 1/3 025 2780 200 085 38 080 220 63 093 125 0.00028 6
aM71M2B Aluminium 172 037 2780 285 125 38 070 220 66 092 18 0,00035 7
QamM71mM2C Aluminium 3/4 055 2800 4,00 189 38 060 210 67 0388 20 0.00040 8
% QM7IM2D Aluminium 10 075 2800 480 256 42 055 200 69 094 25 0,00051 9
§ QM80M2A Aluminium 3/4 055 2820 390 188 40 070 210 64 095 20 000092 10
© QM80M2B Aluminium 10 075 2820 5.00 256 40 070 210 68 094 25 0.00107 n
Qamsom2C Aluminium 15 110 2800 780 375 38 060 200 68 086 30 0.00126 2
QM90S2A Aluminium 15 110 2820 770 375 45 070 210 72 0388 30 0.0018 14
QM90L2A Aluminium 20 150 2840 990 512 45 065 210 74 094 40 000152 16
amaoL2C Aluminium 30 220 2790 1450 753 45 055 210 74 090 50 0.00172 18
aMiooL2B Aluminium 40 300 2750 1870 10,10 27 040 180 75 097 80 000213 22
4 pole 1500 rpm
QMB3M4B Aluminium /6 012 1400 110 112 35 070 200 Sl 091 125 0.00025 6
QM7IM4A Aluminium /4 018 1400 150 124 35 070 2,00 57 092 125 0,00071 6.5
QM71M4B Aluminium 1/3 025 1400 200 172 35 070 2,00 60 090 15 0.00095 75
QM71M4C Aluminium 172 037 1400 270 254 35 0.65 190 64 091 20 0.00107 80
Bl OM8OM4A Aluminium 1/2 037 1400 260 252 35 070 180 66 084 20 000167 95
E QM80M4B Aluminium 3/4 055 1390 380 378 22 070 180 68 095 25 0,00204 105
§ Qm8oM4C Aluminium 10 075 1380 5.00 523 35 065 175 69 095 30 0.00229 s
QM90S4A Aluminium 10 075 1400 550 515 45 060 180 68 0388 30 0.00237 14
QM90L4A Aluminium 15 110 1400 740 750 45 065 190 69 090 40 0.00309 16
QmaoL4c Aluminium 20 150 1400 10.20 1031 50 055 160 69 0.90 50 0.00351 18
QMmiooL4B Aluminium 30 220 1410 1350 1534 30 055 180 76 094 75 0.00471 24

101 | WAT | IM en 221



DIMENSION

AC
L
0
Lo 111 11
[am)
T
ol F—
E =
C A
B3-B6-B7-B8-V5-V6
L L
0
E"iéi’i’ibi’
= [o] [o]]
= >
E LR
Bl4-V18-V19 B5-VI-V3

‘ \on )

! y 2 | Drive ) | 3
ol | E A T | Ty NT M

BS | FA 10| 95 15
63M |Auminum 2.4 | 123 | 220 [*M20 80 100 63 |82 | 7 40| N | 23 125 4 6200 BOF oy v | B4 BB 120 80 100
B4 | FC | 90 60 75
BS | FA | 160 | 10 | 130
7IM | Auminum| 2.4 | 138 | 253 [*M20| 80 | W2 71 198 | 7 45 4 30 |60 5 6202 6202 jseour5 | jsv2rs | B4 FB 4O 95 | IS
B4 | FC 105 70 | 85

BS | FA 200 130 165
80M Auminum 2.4 158 284 *M20 100 125 | 80 |25 10 | 50 19 40 25 6 6204 620 20%30+7 20*30*7| B4 | FB | 16O | WO | 130

B4 | FC 120 80 100 O Ms

s 297 100 BS | FA 200 130 165 12
9 | Auminium| 2.4 | 193 T*M20 40 | 90 |24 10 | 56| 24 50 270 8 | 6305 €205 o5x407 25%40*7 | B4 | FB | 160 | 10 | 130 M8
L 317 125 B4 | FC 140 95| 1S M8

14,5
MIo
M8

BS | FA 250 180 25
100 L |Auminium| 2.4 | 217 | 352 |*M25| 140 160 100 | 241 | 12 63| 28 | 60 30 8 6308 €205 souu7+7 25%40*7 | B4 | FB 200 130 165
B4 | FC 160 1O | 130

O O O O O O 0O o o o o o o o o
=
[es}

Dimensions are in mm

(1) Tolerance DIN EN 50347 “j6”
(2) According to DIN 6885

(3) Tolerance DIN EN 50347 “j6”

102 | WAT | M en 221



~N
et
o
n
=
[}
™
N

230V 50Hz

ELECTRICAL CHARACTERISTICS AT 50 H:z

MOTOR TYPE

2 pole 3000 rpm

HOUSING
TYPE

pm

MA/ MN

Mk/ Mn

Weight
(B3]

QC80OM2A Aluminium 3/4 055 2800 380 188 49 270 210 64 098 20 124-149 | 0,00092 10
QC8oM2B Aluminium 10 075 2800 495 2,56 49 270 210 68 098 25 124-149 | 0,00107 I

Qcsom2C Aluminium 15 110 2800 770 375 Sl 260 2,00 68 086 30 145-175 | 0,00126 12
QC90S2A Aluminium 15 110 2800 760 375 50 295 210 72 088 30 | 189-227 | 0,008 15
QC90L2A Aluminium 20 150 2810 910 510 Sl 295 210 74 094 40 189-227 | 000152 17
acooL2c Aluminium 30 220 2780 1450 753 52 295 210 74 090 50 |280-333 | 000172 19
QciooL2B Aluminium 40 300 2860 17.80 1010 25 180 180 75 097 80 |189-227 | 000213 23
4 pole 1500 rpm

QC8OM4A Aluminium 1/2 037 1390 2380 254 45 250 180 66 084 20 130-156 | 0,00167 10
QC80M4B Aluminium 3/4 055 1390 370 380 45 255 180 69 098 25 130-156 | 0.00204 I

Qc8oM4C Aluminium 10 075 1370 5.00 520 46 265 175 69 095 30 130-156 | 0,00229 12
QC90S4A Aluminium 10 075 1400 580 515 48 285 180 68 093 30 145-175 | 0,00237 15
QC90L4A Aluminium 15 110 1400 7.40 750 49 295 190 69 090 40 145-175 | 0.00309 17
QcooL4C Aluminium 20 150 1400 10.70 10.31 583 285 160 69 090 50 145-175 | 0.00351 19
QciooL4B Aluminium 30 220 1415 14,20 1530 30 190 180 76 094 75 145-175 | 0,00471 24

103 | WAT | M en 221



DIMENSION

AC

[ K

B3-B6-B7-B8-V5-V6

Bl4-V18-VI9

A K | ¢ . e | Dl ; ,

D U} \ FH

BS | FA | 250 180 | 25
00L | Aumnum | 2.4 | 27 | 352 | *M25 140 160 | 100 | 241 | 12 | 63 | 28 | 60 310 8 63956205 130wz 25%0*7 B4 | FB | 200 130 | 165
B4 | FC | 160 TO | 130

145
Mio
M8

BS | FA | 200 130|165 0 I2
80M Auminium | 2.4 | 158 | 284 I'M20 100 125 80 |25 | 10 50 19 | 40 |25 6 6204 6204 120v30+7 2030*7 B4 | FB 6O 0 | 180 O | M8
Blu | FC | 120 80 100 O | M6
s 297 100 B | FA | 200 130 | 165 0 I2
90 | Auminum | 2.4 | 193 1*M20 0 90 24| 10 56 24| 50 270 8 8305 6205 Io5w40%7 25%40*7| B4 | FB 160 | N0 | 130| O | M8
L a7 125 Blu | FC | 140 95 U5 O M8
0
0
0

Dimensions are in mm

(1) Tolerance DIN EN 50347 “j6”
(2) According to DIN 6885

(3) Tolerance DIN EN 50347 “j6”

104 | WAT | M en 221



0
SINGLE PHASE MOTORS W

L
-i""

L

=
-
&
i-.n-/I
hmi
=

£
a®

-
Cam®

r'"






OPECIAL
MOTORS

AN N N N M
N N S S




1.4
& SPECIAL MOTORS

DOUBLE VOLTAGE MOTORS

9-lead motors with YY /Y connection and 12-lead motors with A/YY/Y connection. Generally designed for 230/460V

60Hz operating values, these motors address different mains voltage needs.

St Star / St Star / St
Iﬂ )\ Coar:nection I-:j *)\ C:r:nectiaorn L1 Coar:nectiaJn
L2 @ 2 | @@ ©
~ O I -~ O I L2 U1 UK} U2
L3 9 B QB W U -
O I O I L3 V1 V3 V2
@9 @ _®» @ W ~
W1 W3 w2
o0
-~}
[43%)

shaft

ﬁ [ N
¥ N\ L2 13

SEPARATE WINDING MOTORS

N
W N\ L1213

Star

Connection
U1 U3 u2
V1 V3 V2
w1 W3 w2

9-lead motors with YY /Y connection and 12-lead motors with A/YY/Y connection. Generally designed for 230/460V

60Hz operating values, these motors address different mains voltage needs.

Q1E112M2/12D 380V 50Hz 4.9/0.8kW 2900/385 d/d

Low speed connection

l

|
-$-zu -$-w —= o)

- 1u -Eb— ™ -Eb— w

High speed connection

108 | WAT | IM en 22]




bl
SPECIAL MOTORS W

ANTI-CONDENSATION HEATER

Humidity, particularly on motor windings operating in humid environment, reduces insulation resistance and causes
shorter motor life. In such applications, with the heaters placed on motor winding, the humidity of windings are re-
moved before starting the motor.

H INSULATION CLASS MOTORS

Our standard motors have Class F insulation. However, we also manufacture motors with Class H insulation.

Ambient Temperature Winding Temperature Rise Limit Tolerance

UL CERTIFIED MOTORS

We also manufacture UL certified motors upon request.

BUREU VERITAS CERTIFIED MOTORS

We also produce Bureu Veritas Certified marine motors upon request

SPECIAL VOLTAGE MOTORS

Different from standard voltages, we also manufacture motors in different voltage steps (290/500V, 330/570V etc)
upon request.

SPECIAL FREQUENCY MOTORS

Different from standard frequencies, we also manufacture motors in different frequencies (32Hz, 87Hz etc) upon
request.

SPECIAL BEARING MOTORS

We manufacture motors with bearings that suit to various temperature steps (150°C, 200°C etc) and axial-radial loads
for different applications.

OTHER SPECIAL APPLICATIONS

¢ Special axle or double axle motors

e Special flange motors

e Fixed bearing motors

e Drain hole to remove condensation

¢ Use of thermic or thermistor to prevent motor winding temperature from rising above limit values
e Inverter duty motors

109 | WAT | M en 221



& MOTOR PART LIST

'

SM8JJS 18A00 UD{

18A09 UD4

un4

(pu3 8ALIp-uoN] [08S

(pu3 BALIp-UON) Sma1ds plalyspul
[pug 8ALp-UON] plaIYspU3
Jaysom Buudg

(pu3 eALp-uoN] Busg |jog
1010y

fiay

yous

(pu3 8AlQ) Buusg |jog
(4pygs] dioug

(Plalyspu3) dijoag

(pu3 enuq) pieiyspul

[
62
8¢
‘Le
9
S¢
e
€
k44

0¢

6l
8l
Al
9l

(pu3 8ALIQ) SMBIIS piBIySpU]
(pu3 8AlQ) P8BS

SMaJ3s 1004

1004

Bnid pulg

punjf 8|qog

M819s Bulpunoig)

}ogen3

SMaIJs X0Q [ouluLIa]
810(d |puIwLIB]

184S06 18A09 X0q |pUIULIB]
184500 X0q [puIULIB]
JBA0D X0Q [DUIWLIBL

X0Q |ouluLIa]

J030)S PUNOM,

<l
7l
€l
<l

ol

‘60
‘80

L0

‘90
'S0
0
‘€0
'e0

110 | WAT I IM en 221



WAT Motor Sanayi ve Ticaret A.S. reserves the right
to alter any data given in this catalogue.

T | WAT | 1M en 221



g - -y

PR
0

o
!lE'- =T I18

E

WAT MOTOR SANAYi ve TICARET A.S.
KARAAGAG MAHALLES] 8. SOKAK NO: 4 A/2
KAPAKLI 59510 TEKIRDAG, TURKEY




